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A 42!
. HEE AN
ool 2 o R
T S(3H) - MRAY - BES Lo e DS
o GEed 900 1,200 A300
3 EZaS 900 1,200 A 300
2= 900 1,200 A300
OXNH We=AAUS Al 900
-3 R 300,000& 1 300
-2 200,000 1 200
-&d 100,000& «4H 400
Ogolus 29 1,980 1,980 0
LBtE A S 1,980 1,980 0
HALAHI 2 &3 1,980 1,980 0
OF4T A2
3,500 30 +3L 21t H+27| 1,260
OFAI JI1E8S 6,000 30«20t & +27| 720
SREUSE A4 e 25,000 27,500 A2,500
405 XtotE SHI 25,000 27,500 A2,500
01 MM =SFSHI 25,000 27,500 2,500
Os&E 003 250,000 =104 2,500
oZoE LES 7Y 1,500, 0003 »2CH 3,000
OZoa Z2UIH Jtillet WM 3,250,000 *6CH 19,500
AW TOI %M 77,360 72,600 4,760
COoA NS 76,360 72,600 3,760
st gy 64,840 61,200 3,640
At 2l 63,040 59,400 3,640
GRS =] 32,860
LI PN =T 18,000
~ Z A AL 14,860
NP & ME 12,000& *1,0005 12,000
WA H BEEES =72
110,000& *267| 2,860
o=2d+d 30,180
- COIANSNE ALY
310,000& 3E %267 24,180
- Hel =Y A0 6,000
33294 1,800 1,800 0
OAE &I =X 1,800
- LESFHHIAIE R 150,000& 1200 & 1,800
LetE =S 11,020 10,900 120
HAIAHI B &S 10,500 10,500 0
Ozl szl 10,500
-(1g) 3,500& *3,000 10,500
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SN XX AR
Hu: 222 4T OUH
ol pasl 2o (cel @
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
— A YoM E 3| 100,000& 12| 100
—-sZJ EIIZEA 150,000& 13| 150
—&J|&Hl HIIZEAM =2
1,200,000& * 13| 1,200
—SZNERE =S 1,940
NES 900,000& x23] 1,800
d RS Xt 140,000& *1CH 140
(@):K=3:] 110,000
-3, 224 / W)l
1,100& *125 4 *8A| 2+x100 110,000
OA&EEHIS X 59,089
-2 Y AZ&EHISXHl 3,445 +16,281m 56,089
-5&J RANE=s 250,000& = 12& 3,000
(OPF=Ful= =] 16,500
-SE2EE) 4,000,000& *2CH 8,000
- HA(45015) 8,500,000 = 1CH 8,500
OZBR2s a2z & 2ozl 4,000
—UEY A5AS 4,000
203 HRF&HI 11,700 13,000 A 1,300
03 AIBMFXAHRFEH| 11,700 13,000 21,300
Ou=s=2gagd 7,200
Ousikz ¥ FEF 4,500
A3 Aldate] 352,700 108,000 244,700
401 AlEHIZ 2 322,700 108,000 214,700
01 Al&H| 322,700 108,000 214,700
O2=HelAld HEBA 130,000
OXGte XA L ArZ 22| 15,000
OJIHE 2l WMSBA 30,000
OsJlHzd2 24 &3 A 65,000
OLNsE HUXI Z=EIJ| WXHIA 52,700
OZMAuEAIE &X 30,000
405 KHAHFSHI 30,000 0 30,000
01 THHHESHSHI 30,000 0 30,000
OdHF X2 0A AR &X 30,000
SAMA AL 29,893 29,680 213
101 14| 18,437 18,224 213
04 JIZtHIZ2E2NHEE S 18,437 18,224 213
OFEAMUE SBEH £ F=x=HA AR
39,8803 *425Y 16,949
O2tAalH| 3,500 x425H 1,488
206 M=l 11,456 11,456 0




A AR H=E
By 222 MEY YA
ool olaE 2 ECR-ED
S BB SR (B) - NEAY - BAS 0f & o Soe DB
01 M=Hl 11,456 11,456 0
Od=xXclAlE 4578 50,0002 *122] %20 2~ 1,200
Oottole EHl € Hlg & 74
48,0003 *85 93] 3,456
O3t Z2USR & SUR Z2XE FY 6,800
-—E2XE 8,000& 1002 E+62 4,800
-Z2L7R 20,0002 x100 F+123] 2,000
EAtzte| g2t 82,354 82,354 0
307 2120l A 82,354 82,354 0
05 2I2t2IE =S 82,354 82,354 0
OEMEALES 61,754
OEMEIAS 600,000& =10 6,000
OFEAEHIAE 5,000
O2=HelANd2I 800,000& 12 9,600
5= g sgoE &d 176,675 169,194 7,481
2 37,000
, &= 139,675
JHEAE s 24 176,675 169,194 7,481
= 37,000
= 139,675
sl n= 73,912 75,230 A1,318
201 B2 58,502 59,750 N1,248
01 AtS22ibl 58,250 59,750 A 1,500
Ogt=2H| 30,500
-gsJles usul 7 30,500,000 30,500
Oo=2g=+¢ 24,750
- ISzl AE 18,000
—E Nl =2 A0 75,0002 *90& 6,750
ogxs 3,000
-gXAs et 3,000
02 33234l 252 0 252
O Xldst 5 282 453 73«00 252
206 T2l 2,750 2,750 0
01 M=Hl 2,750 2,750 0
Ogsdsliz 5,000& 550 2,750
301 YerBAZ 12,660 12,730 ATO
10 SAHAHIEA S 11,760 11,760 0
OgsJlzussatl 10,360
—(1e2¢d) 3,500% 441490 6,860
-(1g) 3,500& «141%1,000& 3,500
O XAdstaatl 7,000& 200 1,400
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fAM AXH=H
Hu: 222 MTE 520 A
el ZHEU=E sl &y (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
12 JIEtE2 4= 900 970 AT0
OUSMUISZANLE 20,0003 »4504 900
=0 SIAHWS 28,763 33,964 A5,201
101 Q1 Z4H| 5,185 5,146 39
04 JIZtHIZ22HEsE+ 5,185 5,146 39
Ol AEEZLASET2HAUR 39,8802 130 5,185
201 Let2d| 13,650 18,890 A5,240
01 AtS 22/l 10,400 15,040 24,640
Oget=&H| 4,800
—SJIH WEFWM sl 8,000& 600 4,800
o=2d=+¢ 4,100
-SIAHARELA =Y 3,500
—EAHeI=HZAN Y] 75,0002 8% 600
o1u=y| 1,500
- S AW 2= 150,000& 10 1,500
02 =234l 3,250 3,850 A 600
OAN&EZEHIS X 3,250
-SJAEd &d |X 50,000 *65CH 3,250
206 M=l 5,500 5,500 0
01 Mz bl 5,500 5,500 0
OsJlIAEsNE 5,500
301 YptEaag 4,428 4,428 0
10 EALAHIEA S 4,428 4,428 0
OsJ1Hn=E sS4 3,19
—(1e2g) 3,500 187 x4 4] 2,618
-(1g) 3,500 «165H » 14! 578
O XN us=4H] 7,000& x176F 14! 1,232
sIH nesd 74,000 60,000 14,000
2 37,000
= 37,000
201 Let2g| 632 1,160 A528
=2 316
= 316
01 AFR 22| 632 1,160 A528
Ax= 632
—Jl A sAEE X AS RS LEES
632,000 *1CH*13] 632
= 316
& 316
202 O4Hl 1,000 1,000 0
= 500
= 500

|
~
|




SN XRG4
I 22 HTY S0 4y
SRl AWAYE =0l UY (e
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
01 2U0iHI 1,000 1,000 0
OIIASAS A 22T AEB2XE O] 1,000
= 500
= 500
206 T2 bl 660 800 A140
=2 330
= 330
01 T2l 660 800 A 140
OIHSASAL DS L ASRE
16,5002 *40% 660
= 330
= 330
301 LB AI 17,708 17,040 668
=2 8,854
= 8,854
10 BAAEI 24 S 17,708 17,040 668
OJIH S sAEE DEZ A 3,5002 #4024 «254! 3,500
= 1,750
= 1,750
OIS S SA XISt A
7,00021 %40 14! 280
= 140
= 140
OJIHEtY s AE DRY XIS 27
348,200 *40%S 13,928
=2 6,964
= 6,964
405 THAHE S 54,000 40,000 14,000
= 27,000
= 27,000
01 RMUSEH S| 54,000 40,000 14,000
OEag 28,000,00024*1CH 28,000
= 14,000
= 14,000
O=834D) 26,000, 00021 +1CH 26,000
= 13,000
= 13,000
HH S YA (NI 4+8) 2,749,341 2,525,729 223,612
ol 2| 2,638,967 2,399,059 239,908
ol 2| 2,638,967 2,399,059 239,908
101 o124l 2,531,807 2,204,179 237,628
01 24 2,422,942 2,182,139 240,803
o1z 1,644,043
—oigH 276,203
32 6,306, 00021 *12 +12% 75,672




fA: AXHSE
HE: HH2IHHI(KXH=S)
£rel: ol2i2 |
S HE - S(EH) - NRAY - BES 01l &k o e
4= 5,570,300& «3E »12& 200,531
— ey 864,693
- 5= 3,068, 180& x11E+12& 405,000
=) 2,518,000 x 12« 123 362,605
= 1,421,2603 x3F x12& 51,166
- 832 1,275,5903 x3H «12& 45,922
-JIsH 389,019
=1 2,707,580« 18 »12& 32,491
= 2,336,470 x5H 128 140,189
= 1,914,600& x8E 123 183,802
- 102 1,355,680 »2E 123 32,537
-d2g 114,128
6= 0]t 8,090, 000& *25%*23| 4,045
10 0) et 2,711,000& *45%*23| 2,440
10301 &f 107,643,000 *50%+*23] 107,643
OFSEL RS, 129,472
A= 35,520
- B A 40,0003 *x37E 123 17,760
A EHIS 20,0003 68 x12& 16,320
Jret= 30,0003 x4H+12& 1,440
- ANESHIEESE 9,718
S (1SX) 51,990 x5 »43] 1,040
DSsw(1=X,It) 433,880 x5 #435] 8,678
-2 Ets 50,760
- 2530l &f 130,000& *15H 123 23,400
<2001 &f~25 018 110,000 x8H 122 10,560
155 0l &~20= 0 8¢ 80,000 x9H «12& 8,640
100l &k~154 0] F 60,000 x3H «12& 2,160
540l &~10= 0] et 50,000& x10€ 122 6,000
-FE2R=E 2,400
=3 40,0003 x5EF «12& 2,400
-RHERAE 50,0002 x1H«12& 600
-HRSFE+Y 6,714
2 gHA 6,714
55 3,112,000 *4.8%* 122 1,793
6= 2,517,000 *4.8%* 128 1,450
= 2,434,000 *4. 8%+ 12& 1,402
= 3,592,000% *4.8%12& 2,069
-Jl=d2=+H 3,960
=) 50,0003 x2H+12& 1,200
C6TE 30,000 x7H+12& 2,520
- 8~92 20,0003 x1E*12& 240
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M MXHJ
M HHSAAY| (XX =)
ol e oy chol: &
CHB G (BH) - MBAY - BAS Aol e

-JEgRaY 2 1,560
- JIAb 30,000& x3H x12& 1,080
283 20,000& x2H x12& 480
—ozdRsog 600
PAg=Sh= 50,000& x 1 «12& 600
- RY 16,560
RAELMA 4 110,000& x4H =12 5,280
h= 60,000& x0H = 12& 6,480
6= 40,000 x 10 ~12& 4,800
—EXR2LG(MHEH) 240
62 0| of 20,000& x1¥ =128 240
&= 840
- 82 36,000& x1H*12& 432
- 92 34,000 x1H*12& 408
OxU=222E 128,395
—-AZ2te 22%% 128,395
OFAHZGAH| 130,000& 49 «12& 76,440
(@IME-—1=F ] 69,960
— Uty 46,200
- 453 140,000& x11H 128 18,480
6~72 130,000 *15H «12& 23,400
- 8~92 120,000& »3H «12& 4,320
-Jlsd 23,760
-7 130,000& x6H =12 9,360
- 8~10= 120,000& x10H = 12& 14,400
OYZE S| 1,253,712,000& / 12& x60%*23] 125,372

OIFA K& Hl
1,253,712,000% /128 *16. 7%+ 12& 209,370
OdIE At 39,890
-HEH 23,016,000& *66%/30L 10 5,064
-2 ZH 104,476,000& /30 10 34,826
02 JIEtA 2 108,865
HRAFGE 108,865
k== 1,528,000& x3H »12& 55,008
-82s4 1,528, 000& *3H *45%*23| 4,126
-JIEse 1,920
b 2 Xt 40,000 x2H x12& 960
MHEHIS 20,0003 x4H =12 960
- ZSsSA=E 30,000& x1H*12& 360
-2 1,920
20 0] AH-25 0] BF 110,000& = 1H = 12& 1,320
5 0] A-10E O] B 50,000& x 1 «12& 600
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2A: AXA=R
A HH2FGUI(KXA=)
ool QE 2| (9 E2
SA - EH . O(SH) - NBAY - BAS ok ol S =2
0 & o
—H Mg A 130,000& x3H «12& 4,680
- wWsSE2XH| 120,000 x3H « 12 4,320
- ZEFIH| 4,584,000 *60%*23| 5,501
- JHAIXI &bl 4,584,000 *16. 7%+ 12& 9,187
— D2 4| 4,584,0002 /30 x 10 1,528
s = 105,000& »3H «12& 3,780
- el e =yl 50,0003 +x3¥ +12& 1,800
—Ate 2R 8,562
o282y 6,173
204 MR AY| 107,160 104,880 2,280
02 Mg EXH| 107,160 104,880 2,280
(@)13=15S 84,540
-3= 500,000& x1H «12& 6,000
—-4= 400,000& +x3¥ +12& 14,400
-53 250,000 1B 123 33,000
-6= 155,000& 12 « 123 22,320
-7=2 140,000 3 12 5,040
-89= 105,000 3 12 3,780
OJls& 22,620
-6= 155,000 x1HE «12& 1,860
-7= 140,000& *5F x 123 8,400
-8~9= 105,000 *8H 123 10,080
-10= 95,0003 x2H +12& 2,280
=&l 110,374 126,670 A 16,296
Jl22Z | 110,374 126,670 A 16,296
201 LByl 23,834 38,385 A14,551
01 AtR22lH| 20,774 35,325 A 14,551
OJlEg+&Hl 8,930
OJ 2=l 11,844
02 23234l 3,060 3,060 0
O2322= & HMA 3,060
-—ZNE RES 1,500
- AAESE A2 80,0003 x12& 960
—FHEEI 50,000& x12& 600
202 044l 47,000 47,385 A 385
01 =LHA b 47,000 47,385 A 385
OJ120Hl 47,000
203 R F&d| 19,140 19,800 A 660
01 J|22ZHR= 5,940 6,600 A 660
O2E 5,940
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fA: AXHSE
B #HSAAL(UXIA+R)
&2l Jl=3Hl
SA BB CR(SH) - NRAY - A S 0fl b e
02 HANMMIRF=EHI 1,800 1,800
OZ & A& & 1,800
04 SN2ILRFAHI 11,400 11,400
O E X ut 350,000& x12& 4,200
QusaZdu 350,000& = 12& 4,200
O&olA1t 250,000& = 12& 3,000
204 MEAAY| 20,400 20,400
01 Mg PR AH| 20,400 20,400
o3& 650,000 *121x12& 7,800
OHE 350,000& 3~ 123 12,600
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SN S2l&d
o =ASAMEAL L
ol JsRYLETN (cel @l
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
=gJ|=& 21,570,731 22,170,962 A 600,231
=2 3,905,921
& 5,685,000
= 387,290
= 11,592,520
SHNUSAHZXXA 901,175 772,925 128,250
=R FANA 481,640 352,416 129,224
J=]HE2H 465,740 336,516 129,224
201 LetEIH| 298,340 276,716 21,624
01 AFR22lH| 16,980 21,600 A4,620
Ogt=ZH| 15,300
-t A-EH (HE XA D) 15,300
O=&Hl 1,680
- S8R 2| 1,680
02 =234l 281,360 255,116 26,244
O332= & HMA 259,160
-dslz ¥ 34 AEZ 4,644
sH= 115,000 »3CH+12& 4,140
dE3NHZ 42,0003 +12& 504
- ot 47,898
e = 2,500& x1,500m" x12& 45,000
S0ERE=S 1613 %1,500m * 123 2,898
-HI| R3 193,898
2= 5,340°& *800kw* 123 51,264
MEZ 142,634
GRS 81.2& %220, 000kw*2 & 35,728
32 58.3& *175,000kw*4 & 40,810
HE 64.8&*170,000kw+6 66,096
-ANEHEEE 2,590
SEX 350, 0002 *3CH 1,050
SEX 500, 000& +2CH 1,000
st= Xt 270,000 +2CH 540
- XS XAl 1,720
SEXt 200,000& 3 CH 600
SEH(UE) 550, 0002 *1CH 550
SEIHEE) 270,000 = 1CH 270
- st= Xt 150, 000& *2CH 300
- XEHAIE 360
ER=PN] 40,0002 12/ «3CH 120
SEX 40,0003 »13] *2CH 80
=X 40,000 23] *2CH 160
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L EEPIEL
Hu: sASAMENL S
el JlgRYRETNY 9@
S HE - S(EH) - NRAY - BES sk oy e 2
—SZNERE =S 2,168
A& 243 57,000 £ 1,368
N 80,000& »5CH*23] 800
—MIIotE X E 8l | 100,000& *1¢! 100
- 2322l XHE &l H| 100,000& *1¢! 100
—-33J|2est2e| A u=sdl 150,0002 12! 150
~SESOMRAXE S 10,0002 *20! 200
~HI(ED)VHELLLR
2,000, 000& =14 2,000
—AEAIE A O 2002 *10,657m x12] 2,132
-AHOI= TV AEZ 100,000& x12& 1,200
OXt& gl 22,200
-S8s8 3,400, 000& «2CH 6,800
-HEEsE 4,300,000% = 1CH 4,300
-tegsg 4,900,000& = 1CH 4,900
-S8sd 2,000,000 = 1CH 2,000
-3==5E 2,600,000 = 1CH 2,600
IR 1,600,000 *1CH 1,600
203 HRF4Hl 9,000 10,000 A 1,000
N ES el 9,000 10,000 A 1,000
OS=TSAH =3 9,000
204 R AH 49,800 49,800 0
SEHYFZHI 49,800 49,800 0
Ol sl (53 0lat) 50,000 83 12& 49,800
405 KHaHFESH| 108,600 0 108,600
ML ESHS 108,600 0 108,600
OHEXNH(ZE st2xH) UM 2
30,000,000 = 1CH 30,000
OMRXSE 25 8o #¢
52%1,500,000& 78,000
Oz d#x3&d 600
- 600, 0003 *1CH 600
AL Z FH| 15,900 15,900 0
jelal=] 6,700 6,700 0
JIZHH 22 NS Es 6,700 6,700 0
OHATEZHIHCIR 39,880F +x7H+12 3,350
Os%daEole 39,880 x7H+122 3,350
201 Yer2g| 4,200 4,200 0
23 2ZH| 4,200 4,200 0
OZ23es= ¢ 4,200
—HII=Xcel 700,000& =62l 4,200
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FH: =8lI=d
Hu: SQNSAMFINL
el J2AASF TN (et &
SN HB SR (BIH) - A - B S sk oy e 2
206 M=l 5,000
01 M=H| 5,000
OZd ==2clME2 5,000
S =)AI42e 419,535
A& 3K 2el 369,730
201 LetIH| 369,730
02 =234l 369,730
(@) K=3:] 152,890
-S54 duE) 96,808
22S(3R) 1,403 x 150 +253 £ 53,244
ARES(Z2R) 1,403& 150 +207 £ 43,564
-—2x=29d 11,049
22s(3R) 1,4033 x 1052 +75 4 11,049
-H22I(8R) 956 *105 *11 £ »12CH 13,251
-Y2HI(ER) 1,4033 202 %236 £ 6,623
-Ssolgl2 HE(ER)
1,4033*1012 %131 ¢4 18,564
~s0IsE 242U (YR)
1,403 x100L *47 4 6,595
OAl&EHI= Xl 216,840
-g2=IYEE(ASE 5) wA2L
1,263& %23,751m" 29,998
- T2, RHE S) FA2L
101&*197,810m’ 19,979
- NI SMAYEH FAE+
50,000& 1003 5,000
Eng4H mA2el 500,000& 55 2,500
—HAEHI(H gE 82 S) gxee
40,000 *508 2,000
—3AN BEXE |2l 100,000& 203 2,000
- HESAAH w2 300,000 «12& 3,600
- ADYRLE WA 500, 0003 8CH 4,000
— 2o A WX 1,000,000& *2CH 2,000
—d2es M 150, 000& *123] 1,800
—deE =xcelk 150,000& «102] 1,500
-S83 3AEY 1,500, 000& =23 3,000
-—sgolsla 222 M
700, 000& +2CH 1,400
-S4 Yo N2 4,650,000% «2CH 9,300
-=F3Ex 7L 2,000, 000& x24! 4,000
-Z2HEE RAES 400,000 +50H 2,000
- AU H=I1 L Hio 2el
100,000& «12& 1,200
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FA sg@II=2

B SUABAMEULY
ool selsRAL e (el @R
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
—EA etz S 18&%23,751m x 128 5,131
—EA 2EAs EY 403 *23,751m %53 4,751
—EA 2013Hl 24 283%23,751m 123 7,981
—-EA ==Xl EY 800,000& 12 9,600
—EA EA Y 3173 22,634 128 86,100
—d2E E 2HIIHME WX
4,000,000 *2CH 8,000
ANENE 49,805 60,805 A 11,000
401 Al EHIL 201 49,805 60,805 A 11,000
01 Al£HI 49,805 60,805 A 11,000
OFM A& HES 49,805
-5 XEIIJ| WHSA 39,805
- AgsAEl Wi 5,000, 000& *x24! 10,000
SeII=sHe 5,251,598 5,906,049 A654,451
= 354,314
& 1,884,000
= 25,000
= 2,988,284
AL X 2,192,085 3,431,775 A 1,239,690
= 5,000
= 1,554,000
< 633,085
Agazate|2d 36,665 48,285 A11,620
101 1A 8,345 8,345 0
04 JIZHMIZ2XsSE = 8,345 8,345 0
O M2z EX08 39,8803 x1H*195¢ 7,777
O=ploiz, 182y MNEEE 568
201 LEt=2 | 20,820 33,440 A 12,620
01 AtS 22/l 20,820 33,440 A 12,620
Oget=gHl 15,300
UYL B (AR AR 15,300
osg+g 4,000
- NESHTAY BAT +2
100, 000& 20 »23] 4,000
Oon=tl 1,520
|BAIRI S8 Tel= Helg
80,000& 19 1,520
203 ¥R =& 1,500 1,500 0
03 AZFXHRFAH| 1,500 1,500 0
OszAEANEA? 27 1,500
303 L&z 4,000 3,000 1,000
01 Z&3 4,000 3,000 1,000
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FA sg@II=2
M sYII=He

SRR O] (Sl a2
SN HB G (BH) - MRAY - BES 0l & B Hlm= 2
Oil &k o8
OSSN SAFATNY F& 11,216
& 11,216
301 et24a = 2,000 2,000 0
= 2,000
10 At HIEa =3 2,000 2,000 0
OSst&=g8d 23 24 2,000
= 2,000
307 212t01& 802,000 974,000 A 172,000
= 802,000
02 ItAASE X 802,000 974,000 A 172,000
OSEs&SHetAgAtAIY =& K& 589,000
= 589,000
OSSH=SHFZHL M A48 XA 213,000
= 213,000
402 212t X =01 147,000 200,000 53,000
= 147,000
01 QI GEEXR 147,000 200,000 53,000
OXN S =tAHHS IS ZLALE =& 147,000
= 147,000
Rotetadleh Zo (AR, NEF) 1,148,000 2,145,000 £997,000
= 574,000
& 574,000
401 Al&HIL 20| 750,000 2,100,000 1,350,000
& 375,000
& 375,000
01 Al&H| 736,208 2,061,300 21,325,092
OHMIDILA el2ea B A 19,784
= 9,892
= 9,892
OUFAFA AIFEZE DBt d 517,864
— AAIEH I 15,848
& 7,924
& 7,924
— Al & Hl 502,016
& 251,008
& 251,008
OUFd7a sJ/H &1 M 198,560
— & A& bl 8,160
& 4,080
& 4,080
— A& HI 190,400
& 95,200
= 95,200
02 Zeldl 8,798 30,600 A21,802
OUFAFA AMEZY JtEH 8,798




FA sg@II=2
M sYII=He

ol I RIf X (Etel: & e
_ _ _ N E
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K '@Egj Hlw &2

e 4,399
= 4,399

03 Al& =0t 4,994 8,100 ~3,106
OMIDILA 21228 Z Al 216
= 108
= 108
OUFEDA ABEE JIgtxy 3,338
= 1,669
= 1,669
OUFeRA SIIH B2 ME 1,440
= 720
= 720

405 HatE S| 398,000 45,000 353,000
= 199,000
= 199,000

01 RAUBEFHSH| 398,000 45,000 353,000
OMOILIA 2122 JY 2 30,000
~HEA3 800, 000! *1CH 800
= 400
= 400
—HIOQERNME 7,000,000 * 1CH 7,000
= 3,500
= 3,500
-z B 2,000,000 *1CH 2,000
= 1,000
= 1,000
-HPH(2EE) 4,000,000+ 1) 4,000
= 2,000
= 2,000
- 201012 1,200,000% * 1Ml E 1,200
= 600
= 600
-319/8 (20 8) 300, 000! *207H 6,000
= 3,000
= 3,000
-3log oX(128) 80,0002 +4024 3,200
= 1,600
= 1,600
s [GLEIE=)) 1,000,000 * 1) 1,000
= 500
= 500
—adE 300,000 *167H 4,800
= 2,400
= 2,400
OUE HE3t JIaHLS s MBI 7 368,000
= 4,500,000 *1CH 4,500
= 2,250
= 2,250
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2N sl
M seld|sle
Sl HRIPL R R

_ _ _ N E
SNBSS - MEAY - BES 0l &k 24 e
— =3 2HDI 41,000,000 *1CH 41,000
& 20,500
L= 20,500
— 22| 2,000,000 *1CH 2,000
= 1,000
= 1,000
-U=E28xt 16,000,000 *1CH 16,000
= 8,000
& 8,000
- SE0F0| 3,500,000 *2CH 7,000
= 3,500
& 3,500
- A= 1,500,000 *4CH 6,000
= 3,000
& 3,000
—-Z&s0l3 25,000,000 *1CH 25,000
& 12,500
& 12,500
=== 2,500,000 *2CH 5,000
= 2,500
& 2,500
-2 4,000,000 *1CH 4,000
& 2,000
& 2,000
-288 d=S 2,500,000& 2CH 5,000
& 2,500
L= 2,500
-Z2N= 2,000,000& *2CH 4,000
= 2,000
L= 2,000
—=MII 11,000, 000 *2CH 22,000
= 11,000
= 11,000
R e | 50,000,000 +1CH 50,000
= 25,000
& 25,000
— MXHA 20,000,000 +1CH 20,000
= 10,000
& 10,000
-4 JAE2D 4,000,000& = 1CH 4,000
= 2,000
& 2,000
- AN 2 E 6,000, 0002 *2CH 12,000
= 6,000
& 6,000
- 28,000,000& x2 M E 56,000
= 28,000
& 28,000
—AEAME Y& 2,500,000& 2CH 5,000
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FA sg@II=2
M sYII=He
el AE XA

SN EY O (BH) - MRAY - BLS 01l & o Bl
Of Ak R
= 2,500
== 2,500
—gZAH=XD| 6,000,000 *1CH 6,000
= 3,000
== 3,000
— Incubator 1,500, 000 *2CH 3,000
= 1,500
== 1,500
—Shaking incubator 4,500,000 =1CH 4,500
= 2,250
== 2,250
-3F=+ MZDI 8,000,000 *1CH 8,000
= 4,000
== 4,000
- =20 M| 2,000,0002 = 1CH 2,000
= 1,000
== 1,000
- =Me2 43 10,000,000& = 1CH 10,000
& 5,000
== 5,000
==L DN 4,000,000 = 1CH 4,000
= 2,000
== 2,000
-2Ccy &Y 4,500,000 *1CH 4,500
= 2,250
== 2,250
— Shaker 2,500,0002 = 1CH 2,500
= 1,250
== 1,250
—EC OIE DI 5,000,000 «1CH 5,000
= 2,500
== 2,500
—Hot plate 2,000,000 *2CH 4,000
= 2,000
== 2,000
—Hume hood 3,500, 000& =2CH 7,000
= 3,500
== 3,500
— lce maker 4,000,000 *1CH 4,000
= 2,000
== 2,000
—pH OIE D] 2,000, 0002 =2CH 4,000
& 2,000
== 2,000
—Rotary evaporator 8,000,000 = 1CH 8,000
& 4,000
== 4,000
—Water bath 1,500,000 »2CH 3,000
= 1,500
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FA sg@II=2
M sYII=He

ol IR (649l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K '@,‘;OH Hlw &2
| < 1,500
S AJIERS FHUH o7 2,850 2,850 0
201 Lereoy| 1,650 1,650 0
01 AFR22/H| 1,650 1,650 0
OLtgH| 1,100
—ADlE BN RIS 22 500
—ADlE HAAY EEUTS F3
200,0002 33l 600
oYx2 550
—ADlE EHo BXEA X AR
50,0002+ 12 *1CH 550
301 LprE A3 1,200 1,200 0
10 BAAEI 242 1,200 1,200 0
OB XA B4 B4 30,0002 %20 +1 600
O4ldlz S BLES BT SA
200,0002 33l 600
D2 SSU2 MADIS N 560,455 341,640 218,815
=2 13,374
= 547,081
JIss DEEM MANT 145,912 144,777 1,135
101 o121t 60,336 60,386 0
04 JIAR2ERNSES 60,386 60,386 0
OMSNSABE SN2
43,6809 %124 1842 8,038
OERSAE BXOST 30,8809 «4%«165L 26,321
OH MBS S5 2%
39,8801 +22 %1802 14,357
ODBE Jlsas MaJIslY 2x0L
39,8801 +12 %1902 7,578
O=0IiZ, N8LE ATHEEE 4,092
201 ety 51,376 50,241 1,135
02 222 51,376 50,241 1,135
OZZ22 2 HMA 250
-zleEE 250
O 2| 42,126
~HIOHEHS 24 1,50981%1452+70 £ x2S 30,633
~NBAZE FRIAIL
1,500 #1362 %28 £ *2CH 11,493
OAl & ZHIS X bl 9,000
- =01 |8 750,002 +6CH 4,500
- Ztel KX 1,500
—2a 2 A& SN 2,000
~HUAEIID 4| 1,000
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jl/\o_l

_ _ SIEN
SN B SRA(SIH) - MBAY - BAS Abod i
207 1IN Y| 33,650 33,650
03 A&7l 33,650 33,650
OB AgoR 130,0009! #8555 *25 22,100
ODBX JIsas MadlE o7
130,000 605 7,800
OH ABS SHAIE 150,0009 255 3,750
301 YerBAZ 500 500
12 JIEt2A S 500 500
ONEsIt B4 50,0008 *10a 500
BEZ OIH MM 01 91,917 91,917
101 o121l 54,917 54,917
04 JAH2ENSE 54,917 54,917
OUSAIE BxOIL 39,8801 +12*1502 5,982
OSBAE Bxols 39,8802 +3 %1602 19,143
ODNBX MAI|EHY BFL
39,8802 x2% * 1402 11,167
OFTAUIS MESUE MEAIE 2XOIS
39,8802 %12 +1102 4,387
OWZZoel BXQL 39,8802 12 +1602 6,381
O2 SZnH 2XUS 39,8308 *12+103Y 4,108
O=0I0iZ, N8 ATHEEE 3,749
201 Yereg| 5,500 5,500
02 BB 5,500 5,500
OA&ZHI R Y| 5,500
— 22 =) KX 1,500
MBIAIE S| 3,000
~ AI212| S| 1,000
207 1IN Y| 31,000 31,000
SIEEET 31,000 31,000
OUE U S8 ABHT W2 250,000 #5655 13,750
OSHANE L =2=E2 17 ABNE
100, 0002 *80% 8,000
OSZDH A2WE 10,0009 x20% 2,000
ONEZ]Y RE 150,00091 x255 3,750
OXNSA WE 35,0002+ 100 3,500
301 Yerte a3 500 500
12 JlEtR &2 500 500
ONB S 24 50,0008 *10a 500
Ssx2 aZMMIE =Y 94,208 94,208
101 Q1248 54,408 54,408
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SN
X XH .
S Tt

ok

sgll=d
Sl

S s
Iz = o
NSE sSet=

}\OH

>

o . ciol(s o o FSJE =
SA BB H(BH) - MBAY - B2 Ao il i~ o HRs2
04 JAM2RIISES 54,408 54,408 0
OSEXSAE 2% 39,8802 *32 #1752 20,937
ORESRVNY NASHSAE 2X2
39,8802 * 12 +1352 5,384
OUASHE HLAE BF00E
39,8802 x3% + 1452 17,348
OB HIOIQUUX XSAE X0l
39,8802 %1% +1772 7,089
0201z, IRPE ATHRE2 3,680
201 Yer2g| 0,500 10,500 0
02 =2l 10,500 10,500 0
OA&EH SXIHI 10,500
—AXI| L s REY 4,500
—AxI| Y 22| 3,000
~FHYU2 M) RN LMY 3,000
207 1IN Y| 28,800 28,800 0
03 Algiei | 28,800 28,800 0
OSEx2 NE 130,0002 +70% 9,100
OUASEHS o 15,0002 200kg*3% 9,000
O%x J|sH 2 150,0002*18% 2,700
ORE RS 250,0002 x30% 8,000
301 YR AS 500 500 0
12 JlEtR A2 500 500 0
OANESIH B4 50,0008 *10a 500
AT M 13,374 10,738 2,636
=2 13,374
101 Q1248 9,346 7,710 1,636
=2 9,346
VEENEE = 9,346 7,710 1,636
OAAS Mar 8,710
= 8,710
O=0I0i2, N8LE ALEE 636
= 636
202 01t 1,928 1,928 0
=2 1,928
NIETE 1,928 1,928 0
O/AAZ Mt 1,928
=2 1,908
207 1IN Y| 2,100 1,100 1,000
=2 2,100
EEET 2,100 1,100 1,000
OAAS Mt 2,100
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SN sl
M s)|EY
Selr DBE sSH3 MadlE N (e @
SN -FH . SA(BA) - HPAY - BES O &k 8 gggf; HDZ2
| =2 2,100
F 2838 Madls op 202,588 0 202,588
101 o124t 48,538 0 48,538
04 JIZH2RNSEH 48,538 0 48,538
OUZ AIEO? SAEX 39,8808 x4 *130Y 20,738
OsJ12 28 43,6802 * 1+ 150 6.552
OU= ANEZR 22 39,880 *3% *150Y 17,946
O=0oi2 NELE MEE 3.302
201 Lereg| 4,050 0 4,050
02 IZ=2EH| 4,050 0 4,050
OA&ZH St 4,050
- s RF 450,000 *9CH 4,050
207 o1yl 150,000 0 150,000
03 AlE o] 150,000 0 150,000
OANEZH 22| WE 3,000 *30, 500 91,500
oL 2= 5,0002 *4,500%F 22,500
OUEANE A & =Xt 200,0002 *180% 36,000
A8l NHSs Y235 o7 12,456 0 12,456
101 o124t 7,456 0 7,456
04 JIZH22NSEH 7.456 0 7,456
OAlZI AEEE 2| 98 7.456
201 Lo 1,500 0 1,500
01 AtR22lb| 1,500 0 1,500
Oggt+ZH| 1,500
- E080| 5 YA Hel #+2
50,0002 *33] 1,500
207 o1 Y| 3.500 0 3.500
03 Al o] 3,500 0 3,500
OAlgIl AIEeR T=E 200,000& *17.5% 3,500
sHIAYI D5 532,486 465,086 67,400
2 335,940
2 25,000
= 171,546
MU EAIRH 2g2e 52,546 52,546 0
101 o124t 7,146 7,146 0
04 JIZH22NSEH 7.146 7,146 0
OFstalge] 2XQIE 39,880 *1EH*167Y 6.660
O=00i2 NELE MSEE 486
201 Lered| 45,400 45,400 0
02 SZ=2%H| 45,400 45,400 0
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M sgII=H
F: sl
ool SAAEH D5 ]
SN HH G (EH) - MBAY - BYS Ak e 2
Oz332= & HAl 17,400
—QIHY SHR=s 1,450,000 x12& 17,400
OA&&EHl |Xdl 28,000
-HEKIAFH SAE=> 28,000
HEBH LS AFY 50,000 50,000 0
= 25,000
& 25,000
405 Kot S| 50,000 50,000 0
= 25,000
L= 25,000
01 TN ESHSHI 50,000 50,000 0
Oxate otE)|ls 2&t 50,000
= 25,000
& 25,000
SMELSE TANSH(ETY) 10,900 10,900 0
= 10,900
101 el ] 7,600 7,600 0
= 7,600
04 JIZHMIZ2XEE =+ 7,600 7,600 0
OsdELSE ZANEH BEX0R 7,040
= 7,040
O=0cz, 1228 MHEER 560
= 560
202 O4Hl 3,300 3,300 0
= 3,300
01 =Wl 3,300 3,300 0
OsdELE BREAN FA 3,300
= 3,300
sSHBLSE ZAMEN(XH) 35,640 35,640 0
= 35,640
308 AtXIEH XSOl 35,640 35,640 0
= 35,640
01 XM EXS 35,640 35,640 0
OsdEas ZAEA X3 35,640
= 35,640
leEsglleEad 323(2y) 30,000 27,000 3,000
= 15,000
& 15,000
101 Q14| 19,682 17,460 2,222
= 9,841
& 9,841
04 JI2HRIZ 2 Xt o= 19,682 17,460 2,222
Osellax BRS 0%
39,880 x2H 230 18,345
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SN
X XH .
S Tt

ok

sgll=d
sZl=he
SIS

_ _ _ Muo
SA - SR(E) - HRAY - BES Abou i HIRE

= 9,173
= 9,172
O=0I0iZ, D828 AEE 1,337
= 668
= 669

201 Y2 Y| 3,818 3,540 278
= 1,909
= 1,909

01 AL/t 3,818 3,540 278
OYptgH| 3,818

-2 I WEHEN A22 U S

29 3,818
= 1,909
= 1,909

202 01t 6,500 6,000 500
= 3,250
= 3,250

01 =Ujoit] 6,500 6,000 500
OslleEa ¥2a 6,500
=2 3,250
= 3,250

Nelsells2g 32 XY) 102,400 98,000 4,400
= 102,400

308 XHXIEHH SOl 102,400 98,000 4,400
= 102,400

01 MHXSHHBAHSES 102,400 98,000 4,400
OsJ=23 ¥ 102,400
= 102,400

SUAYI|E HBABH(NEY 134,000 100,000 34,000
= 67,000
= 67,000

101 Q121 5,000 5,000 0
= 2,500
= 2,500

04 JIAH2ZRSES 5,000 5,000 0
OZYIlE HBAUESAIL 4,660
= 2,330
= 2,330
OR0INZ, NRLH AL 340
= 170
= 170

201 Y2yl 66,550 69,550 A3,000
= 33,275
= 33,275

01 At 2l 66,550 69,550 A3,000
O g 41,500
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M =)=
o9l sHAYFL R L
FAH-FH-SASA) - NRAE - BE=Z A} OH MEE =
- o= T ° . (= S = &= 0:”/&,% ==
= 20,750
& 20,750
o2gd+¢ 15,000
-—sy83g g 1 2,300
= 1,150
= 1,150
— SR Y &L 2,200
= 1,100
& 1,100
—HIZUA A2 10,000
= 5,000
& 5,000
-Xs B2H 2y 500
= 250
& 250
O=gl 1,000
= 500
& 500
Otz 9,050
= 4,525
& 4,525
202 O4Hl 8,250 7,250 1,000
= 4,125
& 4,125
01 =LA b 8,250 7,250 1,000
OXAC, AOIH =0l 8,250
= 4,125
= 4,125
207 ALY 39,000 0 39,000
= 19,500
& 19,500
01 A= S| 39,000 0 39,000
O8] Altsh e 20,000
= 10,000
& 10,000
OEBdHE CIAtR g 19,000
= 9,500
& 9,500
301 LEtEAZ 15,200 18,200 A 3,000
= 7,600
L= 7,600
10 EALAHIBAS 15,200 18,200 A 3,000
OHE W=, AOIH A 15,200
= 7,600
& 7,600
SFYIIs HFAES(X 93,000 91,000 2,000
= 93,000
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FA sg@II=2
M sYII=He

el sEBLELS (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
308 XNXIHHSOIE 33,000 51,000 A 18,000
= 33,000
01 MXEHMIANELS 33,000 51,000 A 18,000
OZgJlzs SHAZSAY =& 33,000
= 33,000
403 XXM SA201H 60,000 40,000 20,000
= 60,000
01 MXISMAZ2E = 60,000 40,000 20,000
O3ZJ= EEEEFAZY F& 60,000
= 60,000
s 83 5 24,000 0 24,000
= 12,000
= 12,000
201 B3| 9,500 0 9,500
= 4,750
& 4,750
01 AtR 22/l 9,500 0 9,500
Ogt==2H| 7,500
= 3,750
= 3,750
o=2d+d 2,000
-dE3 U= 2,000
= 1,000
& 1,000
301 YptEazg 1,500 0 1,500
= 750
= 750
10 EAIAHIE A= 1,500 0 1,500
Ou=, dA F48X 24 24 1,500
= 750
= 750
307 QI2t0IA 13,000 0 13,000
= 6,500
& 6,500
04 QIHHALE X 13,000 0 13,000
O=sgel =23 ddthal X& 13,000
= 6,500
= 6,500
oIS ¥ MLD AR 1,107,599 965,464 142,135
= 141,500
L= 966,099
W4 Empel o3 226,081 226,683 802
101 el ] 58,797 58,797 0
04 JI2tHIZ2E2HEE S 58,797 58,797 0




FH: =8lI=d
NI =) IHe

el %O:II’—‘.’% ZdE M A+

_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
O HBAXM HLAE 2EOIL
39,8802 22 x2252 7,946
OM4 BE2 HY Mg BT
39,8802 321 1882 22,493
OMA 24 % 5122 2o
39,8802 22+ 1802 14,357
0202, 0828 MH2HE 4,001
201 LByl 122,234 123,036 £802
01 At 8,320 9,120 800
OsragY| 7,200
— U AL (R0 AT 7,200
o= 1,120
—NB ARS8 Xols Xels)
80,0002 * 14% 1,120
02 IT2YH| 113,914 113,916 A2
oeigtl 110,914
~FHA AIEEHRA  1,509% 1002 *47L+5TH 35,462
-3389% 1,502 %1002 *75L 11,318
~iHA REISA 1,500R%100 *64.5 2 +2CH 19,467
~ A BAROSA
1,5002 100 +74 § *4CH 44,667
CNEETIESE 3,000
~TA 2A Y GHRA Ba 3,000
207 R Y 44,000 44,000 0
03 AlE o 7| 44,000 44,000 0
OMA B2 WL ANE B
4500002 * 125 +35] 16,200
OM4 24 % 524 29 W2
280,000% *30a* 1. 5% 2,600
OMA HSAXM N AlE X
300, 0002 *20%+23| 12,000
OMA 5124 HlY L XM 320,008 105 3,200
01 LsrE A 1,050 1,050 0
12 JIEEN3 1,050 1,050 0
OM4 88X AEEX 24  30,0009+35 1,050
YE DA M4 017 148,861 147,801 1,060
101 o121l 72,339 72,339 0
04 JIAH2EHSES 72,339 72,339 0
OD4 IBE THHH Aol
39,8802 32+ 1802 21,536
O4 #BE THH Aol
39,8802 32 1802 21,536
OD4 NETHH L 50t A5 Algels
39,8802 221 18221 14,517
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o sUIEHL

S9l: R0IRE FW M o7 G
= PSS
SN EB -GS - MBAY - BES 0 & 24 o HRE2
OB4 SIHSHA 43,6802 *12 x2252 9,828
O=pI0i3, 1828, MHEEE 4,922
201 Yere2o| 42,290 41,230 1,060
02 ZZEYHl 42,290 41,230 1,060
oozl 15,090
~ Dt AIEGHRA  1,5092%1002 %50 ¢ *2CH 15,090
OAN &K 27,200
S EESIE 300,000 *10CH 3,000
- E2E KX 1,500, 0002 *2CH 3,000
- =213 |74 300,0002 * 10CH 3,000
-2AXI| REH 600,000 *2CH 1,200
~ Dt HIEERA B4 4,000
~ D BEY 2l Y 2RAE DA
1,083.3%%12,000m 3,000
207 1IN Y] 32,832 32,832 0
03 AlESit| 32,832 32,832 0
OB+ THHH AIE XX 60,0002 *300a 18,000
OB4 PSYES BMAIY
4,0002 *4 2} 5 *200% 3,200
OB+ 3124 HIY L X 320,002 -85 2,560
OB+ oIRA 29 M2 362,880% *25a 9,072
301 YerEaZ 1,400 1,400 0
12 JIEt2 42 1,400 1,400 0
OB+ 8N NBEY 24 35,0002 *40a 1,400
sl SEMH =7 243,732 233,121 10,611
101 Q124 46,520 46,520 0
04 JIZH22RSES 46,520 46,520 0
O3t RelA ¥ 5teA 2ol
39,8802 +2% *1802 14,357
Ostsl SEMEH AIBOIT 39,8802 x3% +1802 21,536
OZY AWM 2elo
45,2209 12 %1652 7,462
O=pI0i3, 1828, MHEHE
3, 165,0002 3,165
201 Yereg| 140, 112 130,551 9,561
02 ZB2Y| 140,112 130,551 9,561
OI=E=] 136,112
— 55l AlEGHRA  1,5098 %1002 %50 £ +6LH 45,270
—stEl Rel2a 1,509 %1002 70 ¢ *4CH 42,252
— sl NIHEHS 24
1,509 %1002 %80 £ *2CH 24,144
—2Y ANHE B 1,502 * 180200 ¢ 24,446
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o sUIEHL

Sl RIS W MD A7 CERL
: _ o HEC -
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
OANEHBIS XY 4,000
—3t3l 2A U iR B4 4,000
207 HPIHLEI 55,000 55,000 0
03 Al eyl 55,000 55,000 0
Ostsl Ral2a 2 5124 2% W2
280, 0002 *40a* 1 .55 16,800
Ost8l THEHAIE T2 200, 0002 *23| *60a 24,000
O3 SEXA AE WE
10,0002 ¥60%5 103 6,000
Ostsl S5 ANE WE 100,000 *50% 5,000
Ost3l 5124 HlY L XA 320,002 105 3,200
301 YLrBAE 2,100 1,050 1,050
12 JIEtR A3 2,100 1,050 1,050
Ost8l BX AGEE Sa
30, 0002 *35ax2 5 2 2,100
Mg Bt 7 203,025 194,809 8,216
101 @121t 45,574 45,574 0
04 JIAHIEZHES S 45,574 45,574 0
OA2Ts ZRYY BT
39,8802 %22 ¥ 1702 13,560
OAES3s 85 2 48 2xoL
39,8801 %124 #1802 7,179
Oi+4 UBE S5 DS
39,8801 %12 #1802! 7,179
OAZSTs 24 2 5124 2o
39,8802 %124 %1802 7,179
OFREH A2 54 Y
39,8802 +12§x1802 7,179
0203, N8R, MWEHE2 3,298
201 LByl 97,881 89,665 8,216
01 ALRelt] 2,386 0 2,386
SHIEER-= 1 2,386
-=s35/2 1,500,000 121 1,500
-SEMxsS=ER 26,5002 721 886
02 IT2YH| 95,495 89,665 5,830
oozl 82,995
- 4238 2ot
1,50021 %1002 %80 4 *2CH 24,144
—A23s AL RA
1,500 %1002 *50 £ *5CH 37,725
~a23st R4
1,500 %1002 +70 £ *2CH 21,126
SNEETTES 12,500
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FA sg@II=2
M sYII=He

o RMTE ZM D 7 CERE
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
—Al238 AEA AEII =
250,000 =46CH 11,500
- A238 AEGIRA 2X 250,000 4= 1,000
207 HAFI Ll 58,520 58,520 0
03 AlEdH 24| 58,520 58,520 0
OAZ238 Ag M= 200,000& x20& *72| 28,000
Oti=xd & Al & =Xt
100,000& *30& *22] 6,000
Oal=Zst vIZE=sd M2 500,000& 208 10,000
OAZ238 ot2A HE & XM
320,000 x6= 1,920
ONERS 24 Y 5124 2% B
280,000& *30a*1.5% 12,600
301 LEtEAZ 1,050 1,050 0
12 JIEt2 42 1,050 1,050 0
OAE2Es oKl AIEZE 24 30,0008 *35a 1,050
20 #&38=s o3P 2,900 2,850 50
201 LBt 1,700 1,650 50
01 AtSR2t2ldl 1,700 1,650 50
Oger 3l 1,100
~HEED} A 2B B
,000& x70F2 *23] 700
—4&DJ|E QSR AMY 2HEXZE RO
2,000& x100= *23] 400
ogxz 600
—dEsIF SRIEA It Xt
00,0003 1« 1CH 600
301 LEtEAZ 1,200 1,200 0
10 SALAHIEA = 1,200 1,200 0
ONdE=sIt EXEA &4 24
30,0003 *30E x1 900
Owls UFBRAY LE BAT 24
5,000& *30H »23| 300
NEARD|E R (A0MPAR EH) 283,000 160,000 123,000
= 141,500
& 141,500
401 AIEHIZ 20 133,000 140,000 AT7,000
= 66,500
& 66,500
01 Al&H| 131,802 138,740 A6,938
dats )| d2dEY 44X 52,522
= 26,261
& 26,261
OZ0 JILH CHEE A &X 79,280
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FA sg@II=2
M sYII=He

¢ JAd&E=E: Z¥E M) A7 (&2 &
_ _ _ N E
SN BB S(BH) - HEAIY - HA2 Of] & o G HDE2

= 39,640
& 39,640

03 Al&20HYI 1,198 1,260 NB2
dols &) N=2ME4A &X 478
2 239
= 239
OJ0 JILh CHEfaika 4 X 720
= 360
= 360

405 KHaHE S| 150,000 20,000 130,000
= 75,000
= 75,000

01 XML =SS FHSHI 150,000 20,000 130,000
ORZ&g U 4,400,000 = 1CH 4,400
= 2,200
& 2,200
ORZHIUH(MELSIIE) 6,600,000 =104 6,600
= 3,300
= 3,300
OAMLMEMELD 1,600,000& *1CH 1,600
= 800
== 800
O&Ms0l& 25,000,000 = 1CH 25,000
= 12,500
= 12,500
OMEBET| 4,600,000 1Al 4,600
= 2,300
== 2,300
O SF A 6,000,000 =1CH 6,000
= 3,000
& 3,000
O=&==HNZEX 18,000, 000& = 1CH 18,000
2 9,000
T 9,000
OAHxz2E 2,000,000 = 1CH 2,000
= 1,000
& 1,000
OpHE & | 1,600,000& *1CH 1,600
= 800
& 800
OnggEFHI| 5,000, 000*1CH 5,000
& 2,500
o= 2,500
o428 4,000,000& = 1CH 4,000
= 2,000
= 2,000
OEAMERAMNE2D 18,000, 000& = 1CH 18,000
= 9,000
= 9,000
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M sYII=He

el ROIRE FM D o7 (ol @
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
Otlgaa el 4,000,000 *1CH 4,000
& 2,000
= 2,000
(ORN=] 30,000,000 *1CH 30,000
= 15,000
= 15,000
Ooss2)| 15,000, 0003 = 1CH 15,000
= 7,500
& 7,500
ozl 4,200,000 *1CH 4,200
= 2,100
& 2,100
TEE s MAD|= i 858,973 702,084 156,889
& 188,500
= 670,473
DB soE MAD|s HF 210,082 209,470 612
101 144l 98,509 98,509 0
04 JIZRZRUSL S 98,509 98,509 0
OEQE Malsl XA 39,8802 «52+162L 32,303
OELHIZURAIE SHDTOIS
39,880 x2H 162 12,922
OEYEZE AEAY T2
39,880& »2H x229 18,266
OELHIZASAE S NEZHE 2R
39,8803 x1H x64 2,553
O=sg8+ SRR 39,8303 x2H 164 13,081
OFeEd=gl=sigd BX2
39,880 x2H x159 12,682
Oz, DEEH MHEER 6,702
201 LBt 42,973 42,361 612
01 AFR 22| 5,170 5,620 A450
Oget=&ZH| 4,050
-t F A EH(REEsHHAD 4,050
o1l =yl 1,120
—ANEAE 8 A= A
80,000& x14H 1,120
02 5234l 37,803 36,741 1,062
OA ZHl 12,254
—A&otRA 1,5093 60 *41 { x2S 7,425
Foi2dE44 1,509& x32 4 100 4,829
OA&EHI= Xl 25,549
—BLAIE DD S XY 80,000& x102l 800
—A4=D|, sJ1H RFUI
1,509& *322| E{ *30 1,449
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M so)|Ee
SRl HEHSY MADIE Y (e
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o B2
—EUHI2EAA AEIIDIRAL
150,000 *20% *23| 6,000
~ YL M| 24| 400,0002! +53] 2,000
~ 2 419] JtAY) 100,000 *4Z+9S 3,600
~H4R2l 8 1,200,0002! *83| 9,600
—BtRA, NEEE A&SY
350,000 +65 2,100
207 ALl 68,000 68,000 0
03 A& 7| 68,000 68,000 0
OEYE 2,20021*1,0005+84 2 17,600
OMZHEA 2,20020%1,000F+54 2 1,000
ORNHEE L 5284 SHA
110,008 * 155464 =2 9,900
OEQHIRAEE (H) 80,0002 ¥30a 2,400
OEYHIRAEE () 70,0002 *34a 2,380
OEYHIZ AR 24
8,0002 x5 2 +230% 14,720
SESICX-b[Ep I 50,0008 *40% 53] 10,000
301 YerBA3 600 600 0
12 JIEt2 A 600 600 0
OEYHIRAIE 42N 30,0002 *20a 600
Yols BN Sepel o7 111,328 109,515 1,813
101 Q1248 53,705 53,705 0
04 JIAH2ZTS LS 53,705 53,705 0
X225 AA BRI
39,8802 42 1652 26,321
OXSES5 ANBAY ZEHB2IR
39,8802 22 ¥ 1502 11,964
Ogelms AZAE ENZFHIL
39,8802 12 x652 2,593
ODEMHALVS2SFSA 2HoIe
39,8802 +12§ 2302 9,173
02012, IRLH ATRE2 3,654
201 YEr2 Yyl 16,123 14,310 1,813
02 IT2YH| 16,123 14,310 1,813
oeigl 5,434
~HRENDI BB TE2A
1,50021 %45 £ *402 2,717
- M2AY 2 1,50021 %45 £ *402 2,717
CNEETES 10,689
-01gIl 254 1,726 <8 Al 2312 429
~2ENSA ANEEYISHE 500,000 %35 1,500
—gel2s 5014 500, 0002 *4% 2,000
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A ERt=PIEL:!
N =

BE .G (B) - HREAY - BA S sk oy e
—geles dYE240(J|=& 500,000& 45 2,000
-g2esAld | 500, 000& 4& 2,000
—gel2E JUAIEIIJISA 300,0008 45 1,200
—dER AR 130,000& *128 1,560
el k=g 39,800 39,800
A& A 39,800 39,800
OTSZANLY AEHZ 200,000& *30& 6,000
Ogel2s NEME(A) 80, 000& *30a 2,400
Odel2s MENE(E) 70,000& *30a 2,100
OsUAZT=DANSE MEMEZ 400,000 x65 2,400
O2SAMSH ANEWE 120,000& *103 1,200
OEESYM dMOALASEHS
100,000& *85& 8,500
O2sdEiAYezesd AENS
120,000& 105 1,200
Oz2shstsd 23 1,000,000 10 %63l 6,000
ORE2Z AISAIENE 2,000,000& x5& 10,000
QeEtB &= 1,700 1,700
JIEt2E A3 1,700 1,700
O"el2 AE E4(A) 30,000& *30a 900
OYel2sAE BA(E) 20,000& *10a 200
OSAESSEANE BA(H) 30, 000& *20a 600
S o2 64,634 64,634
jeial=] 31,666 31,666
JIZEH 22 NS Es 31,666 31,666
OJsdASHLHRLEYH 2R
39,880 »3H+180 21,536
O AH & IR &4 Iy Bx0!
2 39,880 x2H 100 7,976
O=0ds, IESEE, MHHEE= 2,154
st y) 6,968 6,968
A2 2telHl 2,968 2,968
Oget=8gH| 2,968
-55l& 1,250,000& 224 2,500
-S5HIsSEE 117,000 & 424 468
232 &4l 4,000 4,000
OAl&EHI= Xl 4,000
—ASHEEY |X 500, 000& »22] 1,000
- M2HEAIE |X 500,000& =23 1,000
-JISHAZARINY AEEHIS XK
1,000,000& *23l 2,000
eyl =] 26,000 26,000
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M seld|sle
SRl HEHSY MADIE Y CERL
_ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
03 Al eyl 26,000 26,000 0
OSMSIHBAEMHE L A
10,0002 %505 *23] 11,000
ONZAEMNL AR 90,0002 x255 23] 4,500
OISHME N AP
150, 00024 %355 *23] 10,500
B W, BESS o7 93,029 9,315 2,714
101 o121l 27,987 27,987 0
04 JIVH22HSES 27,987 27,987 0
OB A THEH 22lols 39,8802 22 1232 9,811
OMATHHABA BXoIs
39,8802 +12f 1422 5,663
OHARERY BED2lL
39,8801 %2 #1332 10,609
O2A3, D828 MH2EE 1,904
201 Yer2 Y| 20,842 18, 128 2,714
2 222l 20,842 18,128 2,714
o¢iztl 16,842
— A Al 1,502 x602 %27 4 *2CH 4,890
— 1A T K AL 1,50021 %1102 %72 ¢ 11,952
OAEHHIR X H| 4,000
~HATHBH AL AIBE IS4 300,008 %65 1,800
—HY2HI| S| 600, 0002 25 1,200
~QBAIEIIT] ST 100,0002! %103 1,000
207 HPIHL LI 44,200 44,200 0
03 Al eyl 44,200 44,200 0
OHAAEES HE 100,000 +30%5+25] 6,000
ORATH L HHAS HIME
2,200 *4,000kg*43| 35,200
OBA SEXA 47 2EME
100,000 %302 5 3,000
AEYs YESI 54 2,900 3,150 A250
201 Yer2 gyl 1,700 1,950 A250
01 AR eIt 1,700 1,950 A250
SEIE=Yi] 1,100
—REY QIIEsY 2B B
5,00021 #1005+ 13l 500
—HIES AIBHY MY ROIZ S
300, 00021 %25 600
oYxz 600
~HSATH SXEA T A
600,000 124 1CH 600
301 LB 1,200 1,200 0
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HE: so)afg
S FEHA=Y MAD|= e (¢t &
SA BB .S (BH) - MBEAY - B2 Of) & 04 dE = SmE=L
0fl &t 01
10 HAIAHIEAZ 1,200 1,200 0
Or&d EsIt SXEA 224
0,000& *30H 1 900
OBEFEES MJIE HANY BA B4
300,000& x13] 300
NEARI|B 25 (RetdsY, 2E) 377,000 225,000 152,000
& 188,500
& 188,500
405 KHAFFSH| 377,000 185,000 192,000
= 188,500
== 188,500
01 MY S EF SHI 377,000 185,000 192,000
OJtAIAZ20IEDCHT] 84,000,000 = 1CH 84,000
Z 42,000
& 42,000
O=HZEHAH(ZHYLZ2EHZIZE)
42,000,000 *1CH 42,000
= 21,000
& 21,000
O4AEHol= 1,700,000% 14! 1,700
= 850
& 850
OAl & 550,000& 34! 1,650
Z 825
& 825
OXNAHA=EAHZIXD| 1,710,000& x 14! 1,710
Z 855
= 855
O=XAXMH 880,000%3A! 2,640
Z 1,320
= 1,320
OgaEa)| 17,600,000& * 14 17,600
Z 8,800
== 8,800
o222z A 24,200,000& * 14! 24,200
& 12,100
= 12,100
OZE+MEEX 9,900,000 * 14! 9,900
& 4,950
c 4,950
O al&Eelll 4,400,000 * 14 4,400
2 2,200
c 2,200
O0XNg 8014 29 &K 22,200,000& * 14! 22,200
2 11,100
& 11,100
O¥HAZ=0tEDHT] 80,000,000 = 1CH 80,000
Z 40,000
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F: sl
Sl MBS MADIE Y ECR-ED
SN EE - ER(EN) - NRAY - BaS sl Bl HlRE2
0 & 24
= 40,000
OHsI|(50t) 7,000, 000& 54! 35,000
= 17,500
= 17,500
OHSII(7.501) 10,000, 0003 =14 10,000
& 5,000
& 5,000
OWsII(30t) 5,000, 000& 24! 10,000
& 5,000
& 5,000
Od=I1(30t, etHl) 5,000, 000& * 14 5,000
= 2,500
= 2,500
O3z=71(100+) 12,500,000& *24! 25,000
= 12,500
L= 12,500
A=s=J|=X& 9,652,776 10,262,168 A609,392
= 3,542,568
= 3,801,000
= 362,290
= 1,946,918
Jl=X&0e =4 4,817,064 5,286,673 2 469,609
= 541,450
= 3,556,000
&2 90,290
= 629,324
sz 24 (XAIE AE) 93,586 58,980 34,606
= 46,793
L= 46,793
201 LBt 3| 5,000 3,800 1,200
= 2,500
& 2,500
03 A2 HI 5,000 3,800 1,200
O4-H3l& L XEWAL W= 5,000
= 2,500
= 2,500
202 O4Hl 43,586 28,980 14,606
= 21,793
= 21,793
01 WA YI 25,320 17,500 7,820
OHEsgiy sXd 11,320
= 5,660
& 5,660
OsZEXNTAY #83 N& 12,000
= 6,000
L= 6,000
O4-Held EXXE 2,000
= 1,000
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g sgsEJIsXE

& J=X&0gr =4 (9 E2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
& 1,000
04 =Hlst¢Hl 18,266 11,480 6,786
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01 AU SZH S| 80,000 0 80,000
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SN BABHATH
M PHTY 29
el PASE (B9 &2
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES (il & OH Ol AF o8 HwsZ
OL-2HI0IH AR ABA 22 Y 80,000
—fazel)l 50,000,0002 * 1CH 50,000
= 25,000
= 25,000
~ANZHEHE 15,000,0002 * 24! 30,000
=2 15,000
= 15,000
HOIZL S HAS ARSI RHE T 40,000 40,000 0
p 20,000
= 20,000
101 o121 20,000 20,000 0
p 10,000
= 10,000
04 JIZH22RSES 20,000 20,000 0
OUOIZ& R ZIIZFBAMH T ALLE 8,640
g 9,320
= 9,320
O=0l, D8, MH2EE 1,360
p 680
= 680
207 SN Y| 20,000 20,000 0
g 10,000
= 10,000
EEEET 20,000 20,000 0
OUOIZS R EIIZEAA DA U EX T
o 20,000
g 10,000
= 10,000
Ol O = 20 &5 & 04l & XI KR 2 5 10,000 10,000 0
p 5,000
= 5,000
207 1IN Y| 10,000 10,000 0
p 5,000
= 5,000
EEETT 10,000 10,000 0
OMOI= & & FEH Al 10,000
g 5,000
= 5,000
CEEEE 119,000 107,000 12,000
201 Y2 Y| 32,000 20,000 12,000
02 ZZ2YH| 32,000 20,000 12,000
OA&E YIS bl 32,000
~AIEEUISXIY 500,008 * 32F 23] 32,000
207 1IN Y| 87,000 87,000 0
EIEEETT 87,000 87,000 0
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SN
X XH .
S Tt

el

_ _ pSNE e
K- HB . SR(31) - IRAY - B2 Abod e HREZ
ODIMES 2 AAI 20,000
OAlO|OHE 24 ALAIS: 67,000
22012 AAEY PY 170,000 100,000 70,000
405 XH&HF S 170,000 100,000 70,000
01 KL SEFSH| 170,000 100,000 70,000
Ox2=24D)| 100,000,008 * 1CH 100,000
SEEWEEE-b] 10,000,0008!  1CH 10,000
OSSH0IYRAE I 45,000,002 * 1CH 45,000
OFTAXIAIN S 10,000,0008!  1CH 10,000
SMENEEE:] 5,000,008 * 104 5,000
SHSHOI MR HA 39,450 25,016 14,434
3 39,450
101 ©1>2AH| 16,222 13,000 3,222
2 16,222
04 JIZH22RSES 16,222 13,000 3,202
ORMemomae 2X 15,075
= 15,075
O=0, 18 M4WEEE 1,147
3 1,147
206 M EH 23,228 12,016 11,212
2 23,228
01 MZHl 23,228 12,016 11,212
OREmoma Mt 23,228
2 23,228
OJ OFE 1 24 A} 2,150 1,626 524
2 2,150
206 THE2H| 2,150 1,626 524
3 2,150
01 MZHl 2,150 1,626 524
OoforZ e 2A MEHI 2,150
3 2,150
Wledssyey 214,116 221,080 16,964
WISz 29 214,116 177,080 37,036
201 Y2 t] 214,116 177,080 37,036
02 ZZegl 214,116 177,080 37,036
O=B222 % MA 42,816
—HIISFY ®II23
202,000% * 94 « 12 21,816
-HIISEY B25H AZE
1,750,002 * 122 21,000
OAN &R I 171,300
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BAELRS
SASFHIA 2L
Y=z YL SREE)
FAH-FH-SASA) - NRAE - BE=Z A} OH MEE o
-WIsgy d3E8=
600,000& = 5&= * 8IHA 24,000
-IIEXNsSEEINI SANE=2
1,100,000& * 9 A = 128 118,800
- SHFLYSE2IAAE(MS) RAE=E
2,000,000& » 12& 24,000
-84 ANEEHIR X
500,000& * 9 A 4,500
gzl 473,000 331,000 142,000
= 50,000
< 423,000
HFFE HA 183,000 175,000 8,000
201 et 40,000 32,000 8,000
02 223l 40,000 32,000 8,000
OAl & &HI=XIbl 40,000
—AI&&Hl |X4Hl  500,000& * 40CH * 23| 40,000
207 A0 143,000 143,000 0
03 A&l H] 143,000 143,000 0
OIS A Al 143,000
& 22l AN FE FH 2 190,000 156,000 34,000
405 Xt&tz S 190,000 156,000 34,000
01 HARESF=H 190,000 156,000 34,000
OAZ A0 70,000,000& * 1CH 70,000
O=ALSFEX 25,000,000 * 1CH 25,000
OdlEAHOIA 50,000,000& * 1CH 50,000
ONBEAAIAH 45,000,000& * 104 45,000
SASOAIBEA BHE Hety s2)|es 100,000 0 100,000
=2 50,000
= 50,000
101 el 54,000 0 54,000
= 27,000
& 27,000
04 JIZHMIZE2XNSE = 54,000 0 54,000
OSE20F AIZZAL HREX 50,328
= 25,164
= 25,164
O=8,18 e 3,672
= 1,836
= 1,836
202 044l 10,000 0 10,000
= 5,000
< 5,000
01 WY 10,000 0 10,000
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SN
X XH .
S Tt

el

N8 S9(3) - HRAY - B2 sy e 52
OANESA dist2tad S0 10,000
= 5,000
< 5,000
207 A 1OHEH| 36,000 0 36,000
2 18,000
= 18,000
03 A&l 1H] 36,000 0 36,000
OAlet & HAME ¢ 36,000
= 18,000
S 18,000
AR =X 15,430 16,390 A 960
A R AP 15,430 16,390 A 960
201 LEH2HH| 2,490 2,490 0
01 AtR2t2itl 2,490 2,490 0
Oo=2g=¢ 2,490
—EeuelHed £ AMLY
100,000& = 4% 400
- ==24At 50,000& * 7# = 3Y 1,050
— ALY ZEAA 100,000& = 49 400
—HARALNE AR TAZ
8 0 * 4AI2H = 29 640
202 Oddl 2,240 3,200 A 960
01 WY 2,240 3,200 A 960
OXMATRAY SXNEFH 2,240
207 eI 10,000 10,000 0
03 AlE &+l 10,000 10,000 0
OXZAMAT BAAIS 10,000
303 Z&3 700 700 0
01 Z&a3 700 700 0
OXZMATFAG Al&= 700
HE2IZH(EAHASZARY) 3,318,818 3,308,734 10,084
olat 2oty 3,148,034 3,160,864 A 12,830
el 2| 3,148,034 3,160,864 A 12,830
101 1A 3,027,374 3,035,584 A8,210
01 E= 3,007,843 2,997,538 10,305
oJl=s 1,895,065
=N 76,959
3= 6,413,200& * 19 « 128 76,959
==L 1,681,219
RIS 166,490
52 3,112,320& » 28 = 123 74,696
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S BAsHonE
Hu: HESHAL (LASAADE)
chel: ozt o]
S HE - S(EH) - NRAY - BES sk oy S
0f 4 o
6= 2,407,630% * 2% » 12& 57,784
= 1,558,420 » 1€ » 12& 18,702
8= 1,275,590+ 1€ » 12& 15,308
oA 1,357,735
o2t 3,714,540% » 8H = 123 356,596
LA 2,317,4503 ~ 36% » 128 1,001,139
- JIsA 156,994
= 2,336,470& » 1€ » 12& 28,038
8= 1,984,390 * 4H = 123 95,251
9= 1,404,340 » 2H « 123 33,705
-d2=4 136,887
Oo=¢ 437,581
- =2 R=E 169,503
A2t 2Rg 169,503
—dMg 268,078
NE=E 48,960
b < Xt 40,0003 * 469 123 22,080
A EHIS 20,000& * 100& = 12& 24,000
Jtéts 30,000& * 8% * 12& 2,880
ANEEHIE X 28,458
E&tn(12X) 51,990 * 209 = 43| 4,160
nSstu(1=X)
433,880& * 149 = 43| 24,298
F2=YoHt= 65,160
25 01 & 130,000& = 159 = 123 23,400
205 01 & 110,000& = 15% » 128 19,800
15801 &f 80,000& * 14Y¥ » 12& 13,440
1040l & 60,000& * 6% * 12& 4,320
54 0] & 50,000& * 798 * 12& 4,200
FIEZReE 26,400
43 50,000 » 40 = 128 24,000
=3 40,0008 = 5% » 128 2,400
=8 EY 1,320
6~72 30,000& * 18 * 12& 360
8~9= 20,000& * 49 » 12& 960
sEESYIE 960
JIsE, JIM 30,0003 1~ 123 360
28E 10,0003 x1H « 122 120
2d# 20,0003 x2H 128 480
AR ESY 42,240
AR 80,000& * 449 » 12& 42,240
cHelsd 408
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S BAsHonE
Hu: HESHAL (LASAADE)
chel: ozt o]
S HE - S(EH) - NRAY - BES sk oy S
0f 4 o
SHANE=X 2=
34,0008 » 1" « 123 408
QIAAR G 30,000 * 3H = 123 1,080
HRISR=E 45,602
2 EHE 5,754,000& = 4.8% » 12& 3,315
SRS 67,341,000& * 4.8% = 128 38,789
JIsa 6,072,0002 » 4.8% = 128 3,498
2elg =g 4,157,000& » 9% * 123 4,490
- REZRF=E 50,0008 x 1Y « 128 600
e EAAEN Y MRAAY
200,000& = 1H = 128 2,400
OZ Mg A 88,920
-¢=, ESH 130,000& = 57 » 128 88,920
QusE=xH] 89,280
— ey 9,480
-4-58 140,000& = 29 * 128 3,360
-6-72 130,000& = 3% * 128 4,680
=) 120,000& = 1% * 128 1,440
-1 69,600
A (4-52) 140,000& * 8Y = 12& 13,440
< AL 130,0002 » 36% » 12& 56, 160
-JIs3 10,200
A= 130,000& = 1¥ * 128 1,560
-8-10= 120,000& * 6" * 128 8,640
OZ 2SIt 168, 122
== 1,681,212,000/12& * 120% 168, 122
OJHAXI &bl 280,763
-E=H
1,681,212,000& /12& * 16.7% » 128 280,763
OSItE &I 48,112
—-HESH
76,956,000 /12& +66% * 1/30 » 10 1,411
==
1,681,212,000& /12& = 1/30 = 10 46,701
03 RIAHAZZRHE = 19,531
OH=L2Rd 2= 18,287
-Jl2s 34,2603 * 253 * 19H 8,668
-0z 8,667,780% /12 * 400% 2,890
—ANz2telg
6,480& = 15AI12F » 128 ~ 1Y 1,167
PN 34,260 * 152 » 14 514
-F5=4 34,2603 * 104 + 1H 3,564
- 5422 51,390& + 12¢ ~ 19H 617
-#3lI2s5+Y 8,667,780& * 10% 867
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SN BAEPR
B wES A (FABAAT)
ool QE 2| ?EA)
S ED .S (B0) - NRAY - BAS ok o S ==
0f & o8
SEEEEE 1,244
LR 18,287,0008 * 4.5% 823
- 1EEERYSE 18,287,000& = 1.3% 238
- MAMHEE = 18,287,000& = 1.0% 183
204 N2 AHY| 120,660 125,280 A4,620
02 AZEXH| 120,660 125,280 AN4,620
OggHa 18,660
-3= 500,000& = 1H = 123 6,000
-53 250,000& = 2% * 123 6,000
-6= 155,000 * 2% = 12& 3,720
7= 140,000& = 1H * 12& 1,680
-8= 105,0008 * 1H * 12& 1,260
O 7 92,760
-z 400,000& = 1H = 123 4,800
- 250,000& = 7H * 123 21,000
— HAF2AL 155,0008 » 36Z » 12& 66,960
OJls& 9,240
7= 140,000& = 1% » 12& 1,680
-8-92 105,0002 * 6% » 12& 7,560
|23l 170,784 147,870 22,914
Jl2Z | 170,784 147,870 22,914
201 sty 32,794 32,975 A 181
01 AtSR2t2ldl 30,994 31,175 A 181
OJl2+=8t| 10,830
ozd=¢ 5,800
— =] 50,000& * 116 5,800
O= &l 14,364
-J|I2=2 gl 14,364
02 22234l 1,800 1,800 0
O332= & AMA 1,800
-RE=E E85= 150,000& * 123 1,800
202 O4H| 57,000 57,915 A915
01 =LHAbI 57,000 57,915 A915
O2120¢ 8l 57,000
203 HRF&Y| 33,390 34,380 A990
01 JI22I3YRF=&H| 8,910 9,900 A 990
O2E 5,940
(OF-F 2,970
02 FRIALRE=EIH| 2,280 2,280 0
OX A A& 2| 40,0003 57 2,280
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CRE L EE]
BES Y (BASVAATH)
Jl2Z 4l
SN EY O (BH) - MRAY - BLS Aol e
04 EARISRFEH 22,200
OSHFXI& 250,000& =12 3,000
Ol =t 250,000& x12& 3,000
OalYAEZEZA 250,000& x12& 3,000
Ot At 250,000 «12& 3,000
OUIIE2& 1t 250,000& = 12& 3,000
O4AHS H =1t 100,000& = 12& 1,200
O == At 250,000& = 12& 3,000
(@) :PIR=—=3--Fan; 250,000& x12& 3,000
204 FSaHAY| 21,600
01 HHZALLHAY] 21,600
OAE 650,000& 1H «12& 7,800
(OF 350,000& x1H «12& 4,200
Oz 100,000 x8H «12& 9,600
405 XHakE S| 26,000
01 &L 2SEFHSHI 26,000
O#EEH 7 26,000
-2 A A 600,000& = 1CH 600
- A3 400,000& * 1CH 400
—-32X A7 25,000,000& = 1CH 25,000
FEs(2AEARA) 166,705 0
SEIE 166,705 0
SBEXE 166,705 0
311 Xt =0l Atae 166,705 0
01 Al - EXISIHE DI 2R 20| AHakE 166,705 0
O FARI= 166,705
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D EE2 A A A
DN =1
D NYE SX2e

L RE-E

SRS - HRAY - B2

O

Al OH

— T

20
B
2

2tel At &

H o

20,125,501
5,118,000
15,007,501

20,721,087

A595,586

H o

15,430, 866

5,118,000
10,312,866

16,435,428

A 1,004,562

H o

13,501,538

5,118,000
8,383,538

14,803,475

A 1,301,937

H o

712,000

356,000
356,000

600,000

112,000

401 AIEHIZ 208

H o

712,000

356,000
356,000

600,000

112,000

01 A&l
ONEO0IES 2SI ALY

03 AME=20ib
ONg0IESFAME MY

H o

H o

707,514

707,514

353,757
353,757

4,486
4,486

2,243
2,243

595,680

4,320

111,834

166

ro
£
o
H
02
ol
u
B
ox

H o

3,000,000

1,500,000
1,500,000

6,000,000

A3,000,000

401 AIEHIZL 20

H o

3,000,000

1,500,000
1,500,000

6,000,000

23,000,000

H o

H o

2,989,200
2,989,200

1,494,600
1,494,600

10,800
10,800

5,400
5,400

5,985,000

15,000

A2,995,800

24,200

FSEZ 2L AS

H o

6,030,000

3,015,000
3,015,000

5,690,000

340,000

401 AIEHIZ 208

H o

6,030,000

3,015,000
3,015,000

5,690,000

340,000

01 Al&HI
ORIEEZ2F IS At

6,014,920
6,014,920

5,673,108

341,812
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SN
X XH .
S Tt

el

S22 AIE A
Age 2e|
NeE St

_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES Of] AF R 'oﬂ/'\_WH Hlws2
= 3,007,460
= 3,007,460
03 Al&SCHH 15,080 16,892 ~1,812
OBTZREME AR (0.25%) 15,080
2 7,540
[ 7,540
DEAD B2 2 HLAY 494,000 140,000 354,000
2 247,000
= 247,000
401 AlEHI L2 494,000 140,000 354,000
2 247,000
= 247,000
01 A& 490,444 138,992 351,452
ORSAD F2R HLAY 490,444
= 245,022
[ 245,022
03 Al&S0HH 3,556 1,008 2,548
ORSAID H2R LA (0.72%) 3,556
2 1,778
= 1,778
DEHAIL M| 200,000 130,000 70,000
401 Al&HI L2 200,000 130,000 70,000
01 A& 198,560 129,064 69,49
ORSAHHAIL HUIAY 198,560
03 Al&S0HH 1,440 936 504
OMSAHAIL HUIAY 1,440
IRT 24 300,000 300,000 0
401 Al&HI L2 300,000 300,000 0
01 A&y 297,840 297,840 0
OZFBEES AIY 297,840
03 Al&S0HH 2,160 2,160 0
OEEBTES4 ALY 2,160
= RSP 200,000 200,000 0
401 AlEHI L2 200,000 200,000 0
01 Al 198,560 198,560 0
OXNZE 2T Abe 198,560
03 Al&S0HH 1,440 1,440 0
OXNLE Bi4IHe Abe 1,440
DEADCY L AZBS 880,000 730,000 150,000
401 AlEHI L2 880,000 730,000 150,000
01 A& 873,880 708,390 165,490
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Fel AR A

23
Ngs z2e|

[
-

SN
X XH .

o =

oF
R”J

ok
ol

2tel

Aee S

el

e

n0

KIo

Bl w

A15,490

137,063
16,680
/3,000

19,680

N5,232
N5,232
4,800
4,800

H3r
uiled!
pak=

21,610

713,475
21,706
21,706

257,334
32,700

224,634

17,440
17,440
25,800
25,800

=
o

s

<J

297,840

99,280
148,920
148,920
148,920

30,000

6,120
2,160

720
1,080
1,080
1,080

21,706
21,706
21,706
29,700
27,000
800
1,500
400
244,314

850,538
274,014

193,776
15,780
12,139
22,619

4,900
17,719

6,500
11,219
12,208
12,208
12,208
30,600
30,600
30,600

&l

Al gt

i

M0
o)

0

0B

[
Rl
1]
Rl

Kl

ol
ar

10
Ok

Alg &l

03 A2 R04bl

K
w
Uil
w

Kl

oJ
ar

00
oF

<
i

U
iy
]

~J

10l

=

=]

200,000

22l
Og&II2 85 (14H)

QA
04 JIZtHZE2NSE=>

01 At

101

30
OB
[0
[0

26504

ha

128

=

128

4100 £ ~65CH

e

100,000

1,011,550

16,148,000
AH

(==}
[

1,726

FXESE 7OHA)

)
te=,CCTV,

23X

=)

Il =2l
Il |54

=|
Tl

=
E=

- of
- of
SR Ry

OAN&ZEHl |l
0

O®Il=z(H
Ot N2g &
=il

O

01

202 (4Hl

\Y
oF
31

RO
ur

381,995 71,015

453,010
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SN ERB2ANAA
My YT 22
ool NYE sxel

I:l}\_l X XH C|-O|(§Ij;”) }\.“:an HAXZ A} OH Il_-ILj_l‘:_ =2}
- o= T ° - (= S = 0:”/&,% ==
03 Al A 453,010 381,995 71,015
O=EzE+EMERY(da2E2 6F) 94,380
OXEESE MHEFY(0tAZ2 48) 83,030
OXNEEME MR (HAEL 25) 139, 100
OLSHEAIE M (Z 0D EXIES 4F) 109,500
OE2ZANEE a7 27,000
301 LEEAZ 5,400 5,000 400
12 JIEtE 43 5,400 5,000 400
OWMAENQ B4 20,0003 x20H 400
OXNgE s 2e| TR 24 5,000
405 Kot S| 53,600 4,200 49,400
01 MY 2EFHSHI 53,600 4,200 49,400
Ol =g 400,000& +5CH 2,000
OX=3HY ¢ 800,000& »2CH 1,600
OsHEX A 938 HEH3
50,000,000 +1CH 50,000
NEE RANE=AS 335,000 300,000 35,000
401 AIEHIZ 2O 335,000 300,000 35,000
01 Al&H| 332,588 297,840 34,748
OXNgEe FANE+AY 332,588
03 Al =20HY| 2,412 2,160 252
OXNYgE SANE+=AS 2,412
SR L FAOIA 500,000 0 500,000
401 AIEHIZ 2 500,000 0 500,000
01 Al&t| 496,760 0 496,760
OaAEH & 0l HF=H] 496,760
03 Al 2 0HY| 3,240 0 3,240
Oo=sdXa 0l 450,000,000 *0.72% 3,240
&4 SA2cl 563,828 540,128 23,700
g 2 EHH A2 409,828 300, 128 109,700
201 L2 H| 399,828 300, 128 99,700
01 AbR2t2lH| 73,710 51,320 22,390
Olxkz sdas 50,0003 +15CH 23] 1,500
o1l =yl 2,210
-XEH s 50,000& 17 850
-XI3& CotM3l 50,000& x17H 850
-ZHlE HEZ 300&*17Hx1005 510
oFylgxz 70,000
02 3234l 326,118 248,808 77,310
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FH: EZ22telAr A
g3 NgE 22
el A28l FA2el

SN - B E(3H) - NREAY - BAS Off AF ot =t
Ofl &F oK
OZ222AAl 39,197
-282 29,900
- S 500,000 = 19CH 9,500
A& H 600,000 *17CH 10,200
AEASXA 28 50,000 x17H 122 10,200
- NSXHEAMNL P2 84,0002 #1904 23] 3,192
- TS RHAl 150, 0002 *20CH 3,000
- FHIFEIAA 242 3,105
=P 65,0002 *19CH 13 1,235
A& A 55,0002 *17CH x23] 1,870
OA&EZHIRXIH| 207,421
~ A& HKX 48,021
- 24:71(0.3) 2,315,0002 = 1CH 2,315
- 24£71(0.58) 2,315,000 *2CH 4,630
- 24:71(0.8) 2,371,000 *1CH 2,371
- HIER(15E) 4,074,000 *5CH 20,370
- 20l (3.71m) 2,941,000 *1CH 2,941
- ERELER(3.5) 5,394,0002! » 1CH 5,394
SOIBI(REEAR) 10,000,000 *1CH 10,000
- A4 |34l 159,400
- 2A((0.3) 1,509 %12 £ *600A| 2+ 1CH 10,865
- BAD1(0.58) 1,509 %13 £ *600Al 2+2CH 23,541
- 2A((0.8)  1,50991 %14 £ *600A| 2+ 1CH 12,676
-HIOIE(158)
1,509 %19 £ *500A| 2+ +5CH 71,678
- 201G (3.71)

1,509 %15 £ *600A| 2+ 1CH 13,581

C2ELE2(3.5)
1,509 %14 ¢ *300A| 2+*2CH 12,676

IEI(RBEAR)
1,509 %27 4 *x353A1 2++1CH 14,383
OXtek& eyl 79,000
- L2858 3,900, 0002 = 1CH 3,900
-S8IE 3,500,000 *3CH 10,500
-S8AE 3,200,0002 *2CH 6,400
-=gss 3,500, 0002 *7CH 24,500
— &3 6,700,0002 =1 CH 6,700
- EHEMH 6,700,0002! » 1CH 6,700
-Eygy 3,400,0002! = 1CH 3,400
-U=E=I 6,700,0002! * 1 CH 6,700
-CHH AR 10,200
O3S o2 & o2 500
-ZEA PZAE 250,0002! %24 500
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SA S22 A
M g 2el

el AL EH =7X2tel (etel: =3
SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2
303 Z&= 10,000 0 10,000
01 a3 10,000 0 10,000
OAU&EIH =E|(2EY) dXAHE 10,000
AEIIHESE 154,000 240,000 A 86,000
405 AHoHESHI 154,000 240,000 A 86,000
01 MR ESF=H 154,000 240,000 A 86,000
O=sHXL MAI|(2.58 EEE)
10,000,000 = 1CH 10,000
OB IZE=(15t) 120,000,000 = 1CH 120,000
OHM&II(15t) 15,000,000& *1CH 15,000
OXtFErAL =7 9,000,000 = 1CH 9,000
HAESAL SE X BAAIE 40,300 66,625 N26,325
ESAE JIAM 22l 40,300 66,625 A 26,325
201 Let2E] 10,200 8,815 1,385
01 AtR2teld] 10,200 8,815 1,385
OAEHII2Xeltl 1,500,000& =13 1,500
OANEEX L OHHRIL 24 1,000&*1,0005 1,000
OANge¥H = 100,000& +8H 13l 800
OANge¥d st 90,0003 8 x13 720
BSAIED12l 2400 WEAAL 70,0003 x24CH 1,680
Ogot=ZH (ZAUEHR 48)
1,500, 000& * 14| 1,500
OANSEHIZAMEANE SX 2l
3,000, 000& =14 3,000
202 O4Hl 15,750 22,500 N6,750
01 =W 15,750 22,500 N6,750
OHESAN SE L ZAAIE NI 15,750
207 A0 9,350 10,310 A 960
03 A&l HI 9,350 10,310 A 960
HEAM 30,000 501 1,500
OFUS] 100, 000& *50H 5,000
OO X 28,0003 =104 280
OHI=4(500ml,200ml) 25,0003 104 250
o 300& *800= 240
OAZEEH 140,000 =104 1,400
otsg 2t 60,0003 34 180
OANEE 2 & JIEAHH 500,000 =14 500
405 XtobE SHI 5,000 25,000 20,000
01 T =S FH SHI 5,000 25,000 220,000
OFIIA XNMS(AZAEE)
5,000,000 * 14! 5,000
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2N &2
PSELBENEY
S ory

A BB ER(E) - HRAY - BAS Aro B =2
0l &
Mol Xege we 1,325,200 1,025,200 300,000
w2 HE B+ 1,325,200 1,025,200 300,000
201 Let2d| 25,200 25,200 0
02 22234l 25,200 25,200 0
OAl & &H| 25,200
-HEZXoIXUE X2l 25,200
401 A &HIYL 2048 1,300,000 1,000,000 300,000
01 Al&H| 1,291,108 976,384 314,724
Ounddzsd 476,544
Ous= 715,464
OHEZLX AT RAE S 99, 100
03 Al 20| 8,892 23,616 A14,724
Ouzddzsd 3,456
Ouzs= 4,536
OHELXGXNE RAES 900
HHESIHU (T2 H2AIEA) 4,694,635 4,285,659 408,976
QI 2| 4,430,398 4,060,224 370,174
Iz 4,430,398 4,060,224 370,174
101 Q14| 4,335,238 3,977,304 357,934
01 E= 2,403,426 2,139,095 264,331
Oer=T 66,082
-2F(4=2) 5,506,830& x1&»12& 66,082
OZ=H 1,344,310
—pHy 662,886
5= 3,112,320 x4F » 123 149,392
=) 2,551,190 x8H 128 244,915
= 1,664,040 8 123 189,748
= 1,5611,5403 x6H «12& 108,831
-JIsA 681,424
=1 2,707 ,580& « 18 x12& 32,491
e 2,306,620 x 13« 123 359,833
8= 1,797,940 x7E « 123 151,027
=) 1,496,2003 x7H «12& 125,681
102 1,032,600 *1H 123 12,392
O&2=+4 105,301,000 105,301
OJtE=¢ 49,560
— B Xt 40,0002 +51H « 123 24,480
- AAHE 20,000 x94H ~ 123 22,560
A= 30,0003 x7H+12& 2,520
OXt e =% 21,165

- 110 -




2A S22l AtE A
Y HH AL (=2 2elA D)
chel: ozt o]

S HE - S(EH) - NRAY - BES 01l &k o e
-EsW(1=Xl) 51,990& »8H 4= | 1,664
- =&t (2=Xl) 51,1703 »2H *4=2D| 410
-NSsW2X) 433,8803 *11H*x4=2 0| 19,091

odzZ2s5=+4 56,640
—254 0| & 130,000 15 «12& 23,400
—208 0l &t 110,000 8H 122 10,560
—15E 0l & 80,0003 x8H «12& 7,680
— 108 0| & 60,0003 x5EH «12& 3,600
—-5E0| & 50,0003 19« 12& 11,400

Ollssf3x+E 20,785
— B 12,141

=) 13,084,000 »4.8%12& 7,537
= 7,993,000& *4.8%* 128 4,604
e 8,644
= 7,128,000& *4.8%* 128 4,106

= 1,985,000 x4 . 8%+ 128 1,144
=) 5,891,000& *4.8%*12& 3,394

OJl=d3:es4Y 13,680
o= 50,0003 x4 E «12& 2,400
-6~7= 30,0003 22« 12& 7,920
-8~92 20,000 x14H~ 123 3,360

OJlsd3Ex2oHuta 6,120
-JIsAt 50,0003 x1E«12& 600
= JIA 30,0003 x99 «12& 3,240
— &FH DAL 20,0003 x4 H«12& 960
-28% 10,0003 3«12 360
-2d& 20,000 »4H «12& 960

OofIgae=g =& 40,0003 1128 480

O=lZF+E 150,703
—C 22 A A 123,607
—E22e A 2EX L 27,096

OZ M gAlHI 130,000 & «56H « 122 87,360

Ous8=Hl 83,760
— A 40,320

- 4g8~52 140,000& x4 H 128 6,720
6e~7a2 130,000& 16 »12& 24,960

- 8=~9= 120,000 x6H »12& 8,640
-JIs3 43,440

R I=Tra= 130,000& «14ZH 128 21,840

- 82~10= 120,000& «156F »12& 21,600
OZE St 1,344,288,000& /128 *120% 134,429
OIHAX & HI 1,344,288,000& *16. 7% 224,497
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2A S22l AtE A
Y HH AL (=2 2elA D)
&l QI 2AY| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o als B RS2
0f 4 o8
OS2 &H| 38,554
- ZH 66,072,000 /123 »66%=*1/30* 10 1,212
-22H 1,344,288,000% /12& *1/30% 10 37,342
03 RIIHAZZXNE = 1,931,812 1,838,209 93,603
Ot RAES 18,287
-3= 34,2603 253 8,668
-0 8,668,000 /122 *400% 2,890
—AN2A2Z R 6,480 x15AI 2tx12& 1,167
-¥ll2s=4 8,668, 000& *10% 867
s PN RS = 34,2603 15 514
- =5 34,2603 104 3,564
-5dZ2FE 51,3903 12 617
OE2E+3E+ 1,653,313
-2 38,0003 365 «57H 790,590
-&0= 790,590, 000& /122 *400% 263,530
-¥l2s=4 167,200 128 «57H 114,365
— A2 RE 7 1203 x15A1 2H+57H <123 73,052
—xt=g 38,0003 57 H +22 47,652
-FL2RE 57,0003 x57F x 12 38,988
- HEF 0| 400, 0003 57 »23] 45,600
= JHAIXI &bl 790,590,000& / 12 *80% 52,706
— W SH| 95,000 x57H +12& 64,980
- =S &l 95,0003 x57H «12& 64,980
-FEZ2RE 30,0003 x57H +12& 20,520
- x&EE 40,0002 x15F «12& 7,200
- U222 100,000 & «41H « 128 49,200
— I =4l 150,000& *57HF 8,550
- HlsSsS=21FMSE=2=EH
5,000 57 H 404 11,400
OHERES 160,212
- =SREZ 1,651,650,000& *4.5% 74,325
SR == == 1,651,650,000& *1.5% 24,775
—MHEE R 1,651,650,000& *3.7% 61,112
O F=PN=T= 100,000
- 2RI AHA22 X EEF 100,000
204 ANRHAH| 95,160 82,920 12,240
02 Mg 2 X 95,160 82,920 12,240
O ZE x| 95,160
— e 52,680
= 400,000& x1H*12& 4,800
55 250,0003 x4H~ 123 12,000
= 155,000& 8 123 14,880
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SA S22 A
HH: HHRAFH (=2 2lA D)
el IE2 3] (ehel: =3
SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2
01l &F o4
= 140,000 x8H 12 13,440
- 8~0=2 105,000& 6 122 7,560
-Jls3 42,480
= 155,000& x1E 123 1,860
= 140,000& x13Z x12& 21,840
- 8~0=2 105,000 «14E x 12 17,640
- 10= 95,000& x1H +128 1,140
| =& Hl 264,237 225,435 38,802
JI=ZHl 264,237 225,435 38,802
201 LEH2HH| 189,627 161,541 28,086
01 AtE22/Hl 72,410 70,020 2,390
OJl==8Hl 10,450
—=a 8,550
= ESPNEN 1,900
Oo2g=¢ 48,100
-2 50,0003 116 +2H 11,600
-=% 50,0003 365 «2H 36,500
OJl=s gl 13,860
=4 11,340
= ESPNEN 2,520
02 =234l 117,217 91,521 25,696
OAEHMH AT 25,000& *42] 100
OoR#E= 244 3,780
=4 1,750& 1204 <128 2,520
= ESPNEN 1,750 3«60 128 1,260
FAHIIRS 19,200
=42 18,000
S PNEN 1,200
Oxzea(sA 30,0003 *10CH 12 3,600
O=RoldHANAE 025 (SH)
143,000 128 1,716
Ofot=Ex 13,500
=24 360,000& *30H A +128 12,960
= E=PNEN 45,0003 122 540
Ol (ag, MI|etH) 500,000& 25 1,000
O RE=(AH2) 1,200
=24 300,000& =23 600
-SEX 300,000& =23 600
OQus|LREa(AUE) 300,000& =13 300
Ozl 52,821
—Weg(24a)
1,0473%2.4 § *100Z *8Al 2t +6LH 12,062
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SN TR2AYEA
M HESAAH|(ZRZAA)
CHe: D2 (cte: &
- - MU
2MH - 2 . H2(ZH) - MEAY - BES 0 Ak oH oﬁwa Hon=s2t
-Bo(=24)
1,04721%5.2 4 »100L *8A| 2H*4LH 17,423
—ASUR(2A)
1,04721%2.5 4 »100L *8A| 2H+BLH 12,564
- |(=3)
1,04721%2.4 4 »100L «8A| 2+ 1CH 2,011
-BYUH(=A)
1,05321%5.2 4 »100 *8A| 2H+2LH 8,761
OA & EH S 20,000
—-AHELXHI(24) 15,000
—-AHELXHI(2H) 5,000
202 O4H] 43,000 40,014 2,986
01 20t 43,000 40,014 2,986
OJI20t] 43,000
_=A 36,000
-2 A 7,000
203 YREZAH| 18,410 15,480 2,930
01 D22 L2 2,970 3,300 A330
OAH 2,970,000 2,970
02 HLAIAARE A 2,240 1,920 320
OZ AP B &L 40,0002 56 2,240
04 BA2IL2Z=ZFH| 13,200 10,260 2,940
O 250,000 128 3,000
el==":ln/} 350,0002 *12& 4,200
OANE A 250,000% * 122 3,000
O=2# XA 250,0002 * 122 3,000
204 X RAHAH| 10,200 8,400 1,800
01 ZHZHILHAY| 10,200 8,400 1,800
O42 (2 H) 400,000 * 122« 1H 4,800
O52 (2 XIAZ) 150,000 * 12 » 1 1,800
O3 () 100,000 * 122 «3H 3,600
405 RHAHE S 3,000 0 3,000
01 RAHAILSEFSH| 3,000 0 3,000
S bsE=1= 1,000,000 *3LH 3,000
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A
DN =1
CHe|:

X ZH
(=]

S22t elAt

BAEFA A

AN sX2el

SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2
SR ACIMEAEFRD 4,407,748 4,841,149 A433,401
NgE 2tel 3,055,920 3,283,114 N227,194
|2 |2t 2,379,120 2,690, 107 A 310,987
ANEE RANESAS 1,473,120 2,040,107 A566,987
101 Q1 Z4H| 19,808 19,808 0
04 JIZHNIZE2XESE = 19,808 19,808 0
O=ofl & HolitHz HHEX 45,2203 +400H 18,088
O=0dz, D82, M4HEE= 1,720
201 LEH2HH| 107,012 103,799 3,213
01 AtE22lHl 65,699 62,487 3,212
Oon =l 1,350
- XZ¥ Y= 80,000& x6H 480
-dHlE HE 5003 «6H x150= 450
- X8 ANt 70,0002 6 420
Ogetd &=t 3,197
OXHoli CH 2 =& 5 &l 5,152
(OF=4=[R=pNy=3 700,000& =803l 56,000
02 2323l 41,313 41,312 1
OZ2Z22=<LHA 13,030
-& - ol=&& 60,000& 123 720
-&J=z 8,880
AMH EFEW 650,000 122 7,800
EAMYFEII2L 90,000& x12& 1,080
RN DN =FS kel 100,000& »12& 1,200
— S0 ZHIAIAE 150,000& 128 1,800
—EENERES (A 140,000& 23] 280
—HaHMels==2 (M XAIZ)  150,0009 %13 150
O¢ =zl 8,704
-—2=582y 1,047& 5,251 £ »10H 5,498
- SR 1,0473+1,531 ¢ ~20H 3,206
OA&EZEHIS XY 19,179
—ZAts X2l 6,000, 000& * 14 6,000
— NIXFE H ==X 2l Al € = Xl
1,300,000 » 14! 1,300
-JIsE+FHIRX 11,879
SOOI =2l R A2F 100,000 #4504 4,500
W == 1,7263 »450H %95 ¢ 7,379
OZ2R&Es Haez & 2=zt 400
-2ER Y T2ESP ASLE
200,000& =23 400
202 O4Hl 2,800 4,000 A 1,200
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SH: CRUINAABER L
H: Ny zel
ool TS Sxzel

. _ - rJEL=S ~
SN I (3) - BaS Arol e HRE2
01 =W 2,800 4,000 A 1,200
OE3=+=20H| 2,800
204 A=A 8,400 9,000 A 600
03 EZYREHI 8,400 9,000 A 600
Ot &=l 50,000 x 14~ 123 8,400
207 AN 230,000 230,000 0
03 A& A | 230,000 230,000 0
o228 M= 63,780
ORZEESZE M= 20,660
OXdCM THZ 92,760
OusSt&EAIE Mz 32,800
OXH ol CH 24 TH = ] 20,000
301 Lpt8asg 2,500 0 2,500
12 JIEtE 4= 2,500 0 2,500
OXNYE SKl2el moi Xt 2,500
401 Al&HIZL=ROHYI 1,101,000 1,610,000 A509,000
01 Al&H| 1,094,064 1,599,812 A505,748
OXNgE SANE+ 1,094,064
03 Al&=R0HHl 6,936 10, 188 N3,252
OXNedE SXNE+ 6,936
405 AHoHESHI 1,600 63,500 261,900
01 T =S H SHI 1,600 63,500 261,900
o3%d 800, 000& +2CH 1,600
W SAEFAY 906,000 650,000 256,000
401 Al&HI LR OHYI 906,000 650,000 256,000
01 Al&H| 900,293 644,283 256,010
ONYE g o FUFHA (M) 900,293
03 AlZ=20HHl 5,707 5,717 A10
OXge naEs o FUFH (M) 5,707
ANYE ord 2| 676,800 593,007 83,793
WSHEAIE FI 440,000 420,000 20,000
401 Al&HI LS04I 440,000 420,000 20,000
01 Al&H| 436,832 415,716 21,116
QusSotEAIE &Xl 436,832
03 Al =204l 3,168 4,284 A1,116
Oust&EAld &X 3,168
A& EH |FX2el 232,600 117,307 115,293
201 et 112,600 117,307 N4, 707
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CEE2AMNEAS T A
DN =1

er& kel

CHB G (BH) - MBAY - BAS e
3294l 112,600
OZ2Z222YLHA 10,000

-SHNEEE 2 100, 0002 *6CH*23] 1,200

— Xt= XHA 1,260

Hags= 400,000 x2CH*13] 800

Ct=s & X 160,000 * 1CH* 13| 160

S8t L HAAIIAH  60,000&*x50+13] 300

- SUIEI| A 780

- NS XHE A 25,000& 6Ll *23] 300

2AA D H A A 60,000 *4CH x23] 480

-SB8& 6,760

EPNE=DN; 680, 000& *6LCH 4,080

A& I H 670, 000& *4LH 2,680

OAl& &H|I KX 8] 75,400

- A& AKX 20,400

=241(0.58) 5,700,000 = 1CH 5,700

HIOIE=(158) 5,000,000& *2CH 10,000

CRELEZ(2.58) 3,900,000 = 1CH 3,900

2 800, 000& = 1CH 800

anar~pl. =1y 50,000

=4 1,509& %8,434 ¢ ~1CH 12,727

SEEdA 1,509 11,000 £ =2CH 33,198

CEE4+Ed 1,509& *1,700 £ ~1CH 2,566

2 1,509& *1,000 £ ~1CH 1,509

- H&E&H S22 312,500& =16 CH 5,000

OXteHety| 27,200

-gss 5,000,000 =2CH 10,000

-UEst= 6,700,000& *1CH 6,700

-S8s= 3,500,000& *3CH 10,500

KH&EFE S H 120,000

ML 2 SFH S 120,000

OEZE(15E) 120,000,000& = 1CH 120,000

SHMBAY B 4,200

201 B2 HH| 4,000

02 =294l 4,000
ONEHLEXH SXHI(01s4!)

2,000,000& 2= 4,000

Qure A2 200

JIEtE2 A3 200

OWE A0l HAl 20,000& x10H 200

HHL YA (TRUMNAASERL) 1,351,828

- 17 -




FA E22MSBASFAL
SH X

A HY2IGU(=2 ML LEFIL)
el eIE2 3] (el =2
SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2

QI 2 1,328,748 1,532,375 N203,627
eI 2| 1,328,748 1,532,375 N 203,627
101 el 4] 1,303,728 1,500,995 N197,267
01 2= 609,999 630,406 A 20,407

OZsSH 353,007

—pHA 185,124

- 58 3,112,320 x1H « 128 37,348

= 2,224,440 x2S~ 128 53,387

I= 1,621,060& x3E + 123 58,359

- 83 1,501,2403 »2E 123 36,030

-JIsA 167,883

= 2,727,660 x2H « 128 65,464

= 2,274,880 x2H 128 54,598

8= 1,664,040& x1E« 123 19,969

= 1,140,540& x 18« 123 13,687

10= 1,180,370& 12+ 123 14,165

O3z=¢ 26,560

Oz=l2f=¢ 41,070

—ANZ2A2ZRY 41,070

OFSEL RS, 38,983

- IE=H 13,080

- B At 40,0002 x 132+ 123 6,240

HHEHIS 20,0003 x27H x 122 6,480

Jret= 30,000& x1H«128 360

- ANESHIEESE 3,472

nsstu(1=X) 433,880 »2H »43] 3,472

S R= I =) 14,760

253 01 &f 130,000& 4+ 122 6,240

- 20~253 0/ et 110,000& »2H =122 2,640

- 15~20= 0/ e+ 80,000& x1H+12& 960

- 10~15= 012t 60,0003 x1H*12& 720

- 5~10& 0] 8t 50,0003 «7E ~12& 4,200

-Jlsd2=H 4,320

- 53 50,000& x1H +128 600

= 30,000& x7H «128 2,520

- 8~02 20,000 x5 *12& 1,200

—-Jl=d8sget3 2,040

- JIAH 30,000 x3H 128 1,080

- S DI AE 20,000& x1H*128 240

2d# 20,0003 x3H x 128 720

-eRsRE=E 1,311
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2 E22CAIHEASFA A
M HYESIEH (=2 2L A= L)
chel: Q2 H| (sl &
SN C(BH) - NRAY - HES Aro Bl 2
Ol &k
s 2,275,000& *4.8%+12& 1,311
O&E MU ZAH| 130,000& *15F x 123 23,400
(@IME=J-EN | 22,920
— 2 EHA 12,360
5= 140,000 x1E « 122 1,680
6~7= 130,000& x5 H «12& 7,800
8~9= 120,000& »2H «12& 2,880
JIs& 10,560
6~7= 130,000& x4 » 123 6,240
- 8~10= 120,000 *3G 123 4,320
OZE St 29,417,000 & x60%*23] 35,301
OItAH X & 8l 29,417,000& *16. 7%+ 12& 58,952
OS2 AH| 29,417,000 /3010 9,806
03 RIAHA2Z2NE = 693,729 870,589 A 176,860
oxzzE4d 633,261
-Jl=s 38,000 22 #3652 305, 140
-4 305, 140,000& / 122 *400% 101,714
- A2t 7,1203 x15A| 2Hx22H + 122 28,196
-&3l2s5+ 152,000& *22F x 123 40,128
s PN = 38,0003 22 22 18,392
-FY22=E 57,0003 223 12 15,048
- ZEFIH| 400,000 x22H x23| 17,600
= JHAIKI &bl 305,140,000 /123 80% 20,343
- wEH| 95,0003 »22H «12& 25,080
- = &l 95,0003 22 «12& 25,080
-REZRE 30,0003 22 = 12& 7,920
—BrEE 40,0003 x4ZH «12& 1,920
- RA2RA=Y 100,000 *14H 123 16,800
— /=l 150,000& «22H 3,300
— Mol E2F=8 SE=EEHI
5,000 x22H 604! 6,600
OHERE3 60,468
-0z REZ3 623,361,000& *4.5% 28,052
SIR=dh=: R g = =) 623,361,000 *1.5% 9,351
- MM EE = 623,361,000 *3.7% 23,065
204 XA 25,020 31,380 26,360
02 M EXH 25,020 31,380 A6,360
Ob5a 250,000& x1H «12& 3,000
Of= 155,000& x4 H «12& 7,440
Or= 140,000 x5F «12& 8,400
0895 105,000 *4H 123 5,040
o102 95,0003 x1E*12& 1,140
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AL
X ZH: OO
S Tt =

2

o
SE RN

SN -BH - S(B) - MRAY - BES Ofl &k 04 e HRE2
SYEAADL 23,901,054 32,500,658 8,599,604
2 2,318,902
z 1,010,040
= 10,572, 112
|zl M5 21,372,489 30,144,498 £8,772,009
2 2,296,632
z 1,010,040
= 8,065,817
NEE e 970, 158 941,207 28,951
2 2,000
2 100,000
= 868. 158
PNEESE ] 404,538 432,167 £27,629
101 01 24H| 37,481 37,481 0
04 JIAHIZXSBA 37,481 37,481 0
OF Azl 39,8802 *4% %2202 35,095
O=01013, D828 AEEE 2,386
201 YBr2 ) 344,257 372,486 28,229
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= 300,000
01 Al&t| 596,385 596,353 32
OA Al HHI 22,552
—42 BAXY 573,833, 000! *3.93% 22,552
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= 1,500
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= 50,000
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—AZAIE ot el 100,000& =12 1,200
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01 AlZHI 20,000 0 20,000
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= 11,380
= 17,070
04 JI2tHIZ2EENEE S 28,450 0 28,450
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< 2,400
oz 1,000
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= 400
= 600
02 =23l 1,590 0 1,590
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= 132
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< 1,200
01 SUWAHYI 2,000 0 2,000
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= 1,200
206 M=l 10,000 6,000 4,000
= 4,000
S 6,000
01 M=zl 10,000 6,000 4,000
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= 20,000
= 30,000
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= 20,000
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o1l 1,680 2,400 AT20
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OaE22 ot 1,680
22y 5,000 5,000 0
= 2,000
= 3,000
Upre | 5,000 5,000 0
= 2,000
= 3,000
zZzeg| 5,000 5,000 0
OAN&RHIR X I 5,000
-2oI3tlet |RNES 5,000
= 2,000
= 3,000
22l (XHH) 8,530 54,420 145,890
Bt oyl 3,000 6,000 £3,000
01 Ar2 2| 3,000 6,000 £3,000
Oger+g| 3,000
-ERY 2YA = 2
300,0009! %1074 2 3,000
At AZ 5,530 8,420 £2,890
ToaReABAZ 5,280 7,920 A2,640
Oz Al 110,000 x4 » 128 5,280
JlEt2 A3 250 500 A250
OMB A S A &1 25,0002 102 250
H2(2xE) 871,490 938,737 67,247
= 610,040
= 261,450
o121 54,400 82,480 28,080
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SIENTEESISIERS 54,400 82,480 28,080
oYzl 6,800,000 *8% 54,400
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= 16,320
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2 566,360
= 242,730
01 Al&H 786,497 833,313 ~46,816
O Al &bl 35,222
—AT MM 9 2E 35,222
2 24,654
= 10,568
OAl & 751,275
~ AT A 9 2F 751,275
2 525,893
= 205,382
02 22| 14,172 9,504 4,668
OUTAA 2 15 14,172
2 9,919
= 4,253
03 Al&=CHH| 8,421 5,440 2,981
OUT MM 9| 2& 8,421
2 5,894
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= 264,000
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O& A& AHI 680,934
- MAEH 2 68 680,934
= 476,654
< 204,280
OAl£H] 15,338,998
—MIEH 2 65 15,338,998
= 10,737,298
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—-S&2 HHISA 29,714
= 8,915
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OHZH 64,662
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OF- =M 1,027,670
— A 559,470
gT=) 3,112,320 «2F » 128 74,696
6= 2,551, 190&+x7H »12& 214,300
= 1,857,010& 9%« 123 200,558
SI= 1,456,5803 x4« 123 69,916
- 148,560
o 3,068,070 1 »12& 36,817
A=A 1,862,370& x5H «12& 111,743
-JlsA 319,640
= 2,412,360 x3H 128 86,845
8= 1,984,390 9% 123 214,315
=) 1,5639,920@ x1H «12& 18,480
O&2=+¢ 79,652
Oxzu2f=¢ 116,281
A2t 2R 116,281
OFSEL RS, 124,782
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A EHIS 20,0003 63E 122 15,120
tét= 30,0003 +x3E «12& 1,080
I E =t = 14,717
Estn(1=X) 51,9903 4 H x43] 832
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2501 & 130,000 11 »12& 17,160
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CIIM 30,0002 +92 * 12 3,240
- AFH DAL 20,0003 «4Z «12& 960
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C=2dE 20,000 x4H *12& 960
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LB 65 4,998,000 *4.8%* 12 2,879
Lot 72 2,049,000 *4.8%12& 1,181
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— ey 34,080
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= 130,000 16H x 128 24,960
- 8~02 120,000& «4H «12& 5,760
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& LA 130,000& »5H « 123 7,800
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~72 130,000& 3 » 122 4,680
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OIANALI (ZSH)
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- gAltl 130,000 «6H «12& 9,360
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-8~05 105,000 & «4H «12& 5,040
(OFS RS, 12,300
-5 &Y 250,000 x1H «12& 3,000
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= 20,550
03 RIIHAZZXNE = 42,820 46,258 23,438
OWEXNZ& 42,820
-2 39,782
dles 34,2603 253 x2H 17,336
= 9,016
= 8,320

- 147 -




2A: dEEFATL
I HMARY(MEBAADL)
ool QE 2| cheld A
SN -ZH A (ZH) - MFAY - BES A} OH MEE =9
- o= ° I T ° . (= (=3 =5 0:”/&,% ==
= 17,335,560 / 12& *400% 5,779
= 3,006
& 2,773
A 2E2l =S 6,480& x15A| 2hx 128 »2H 2,333
= 1,213
= 1,120
PN 34,2603 x31 1,063
= 553
& 510
Fe=¢ 34,2603 1042 x2H 7,127
= 3,707
& 3,420
522 51,3903 12 +x2H 1,234
= 642
& 592
OZE&s0l 4,910
= 2,553
& 2,357
-HEREZ 3,038
= 1,580
& 1,458
Jl2& 4l 155,046 235,717 A80,671
=&l 155,046 235,717 A80,671
201 LBt A Y| 95,756 96,295 A539
01 AtE222|H] 95,756 96,295 AB539
OJlEg+&H| 8,170
Oo2d+¢ 76,750
— QI RIACH 76,750
lEag (=)
50,0003 »1H 3652 *3IH 2 54,750
lZag (L)
50,0003 1 *116Z *304 A& 17,400
S A=I[(2A) 50,0003 1«80 4,000
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Oa% 2,970
02 HRANMBRFEH| 1,720 1,720 0
O QA &= 40,0002 *43% 1,720

- 148 -




oF
R’

S
oy,

R

j_l

B

0

o)

0
4%
I
) RO
R0 B0 5
w0 OF O
a0 &0 )
IR~
TE o
IF R0 O0)

e

n0

KIo

Bl w

105,000

105,000

105,000

105,000
105,000

LH3r
m<l
Rk

10,200

8,400
8,400

=
o

s

<J

10,200
4,200
3,000
3,000

8,400
8,400
4,800
3,600

105,000

105,000

105,000

105,000
105,000
105,000

KJ
Kt
ok
ol
30
OB
3

I+

128

350,000& «12&
2l %
250,000 «128

250,000

A0
0
<
o+
ol
i
R’
Kr

400,000~ 123
100,000& »3E x12&

.

il

0432

A

KA

Ol =1¢=

<4
)
RO
il

ol

K

R
i

Kl

Kl
iy

o)
<0

OI'Xt

ro
ol
I3

t

31

- 149 -

Ated

I

02010 At




oF
R’

ok
ol

oF o) O
IR
i S0 K

= A

X ZH
=

r
0

(e)) — — N~ (e8] (ap) (@) (@) o (<o} © (e}
I |8 3 B|S|= 2|8 3 2|8
~ < o o)) ~ | NN < | » — | —
o | 8 3 D . <<
L - - <
-
< Lo [oN] (e} () (e} o o o o (e} o
R N 8 S g|= & & |5 <
(o] © < D (e} < (<o} L [ep] Al
Har | © ] & & ~ “ ©
pak=
o AN — O AN < —_— O — N~ [ep) [ap] (0] < (e} (@] o o o o o o o o (e} () o o o o o o <t < <t <t o o o
SLBHRH|RSKIFGIRIR=H|2|E8s538538 ¥ 888 =2883s3|8|9F<F 38
SNoo|lS ook ol
3 ©— S| — «
<
=
W W W
ol & o] ol 30 o} o] o] | W
o . [aN] [aN} Lo — (@) — [aN] [aN]
o * x * * * X ﬂ ﬂ
o ¢ oo w 2 @ ¥ -
X 20 3 od * * o S o S © ™
g : S = ., wf B S 2 82
A e g X 488 ¢ 8 88 S 8
; g 1 = ¥gig e S
o ol oHy OF — S S
2 & ~O IS} <]
=< wn 5 oz +
Ik < L] oT o r K0
= REOH R 7 = 0 PO
. u = m 3! 20 0f Hr o <<k e wo=<
- <+ K W <w w O @ =zw _ DM = 59
M 2 o iy o < = A R D ¢ <M =
ol o 5 = - I R = &« F R oW Al o
oF o kT3 D o0 W HF M R A0 H OF © T S < <
) 0 W R S|t W03 < mwmws 0 8 ] M = M A~ T R Ko o oF 0 3r
3 < = rJ o &0 | 80 ) M_. Wk < @ RC <k w0 < oD < 8 O i R O < T < #F T O 0
: 20 o M| D= W R[M[A S R - - B < M W K0 @ XN A T RSN B K
ﬁﬁ - el | ®|D R OB @[O0l 00 1 | ERRE R = T =1 = - = )
RO < By Rl Flol [ O Ola|=< O O @) 0 O O S| O m O O
) t i o) E.E — | = — | = ol o | = N
I+ M|o o) < K
OF <J K
< ]

i

- 150 -



SN SR
B OFE SN2 MUBZ
el BASOIE L (9l 2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
204 =S4 AH| 24,600 21,600 3,000
03 SHYLAY) 24,600 21,600 3,000
otelg s 50,0002 412 <122 24,600
206 T2 bl 94,300 93,800 500
RET 94,300 93,800 500
OFMH WER ZA 50,0002 * 10021 5,000
OXINASHLHE FHASKE 45,0002 60021 27,000
OSESTYUMH 2 A 17,200
-4 8,00021%2755 2,200
— X 5,0002 +3, 0005 15,000
OE=EAABMATY 11,600
P 29,0002 +25,0005 *1/500 1,450
— X 29,0008 +700,0005 *1/2,000 10, 150
OSELAMZDISWAIAY 15,0008 30021 4,500
OSELMSIMSSITY 50002 =8 100 4,000
OSHESTLY SHAN 25,000
207 1IN HI 94,540 97,540 A3,000
03 AlEiei 2t 94,540 97,540 3,000
ONBESHAAAE 5,300
~ AN BT 3,50021 %1, 20021 4,200
L= PN 110, 00024 *107H 1,100
OXBSHAA 5,0002! *4,00021 20,000
OOl 422 At 5,000% %5, 00021 25,000
ONBEAN 10,0002 *1,00021 10,000
ORRTYZA 5502 #5207 #9005 25,740
SNELENY] 3,000, 00024 +2K| = 6,000
OMSBE 2IM2A 10,0002 525021 2,500
405 RtarE S| 5,800 0 5,800
01 XA SEF S| 5,800 0 5,800
OLARA AFREZME 2,900,008 20H 2 5,800
RN 110,628 94,228 16,400
2 54,000
= 56.628
101 o124l 52,628 38,628 14,000
2 25,000
= 27,628
04 JIAH22 RS2 S 52,628 38,628 14,000
OSASAA 2XUR 40,0002 x5 2502 50,000
2 25,000
= 25,000
OYHZHI(AHEEE) 36,000,002 +7.3% 2,628
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SA: BASIMOTA
M OIME HAS MAMZZ
el HA SO AR (et & 2
_ _ HE T
M« B2 - S2(3H) - MRAY - BaS Aro e {imE=Eh
201 Loty 58,000 55,600 2,400
3 29,000
= 29,000
02 =zl 58,000 55,600 2,400
OFMSAAEY] 46,000
2 23,000
= 23,000
GENEEESIE] 12,000
= 6,000
= 6,000
SEEN 48,000 0 48,000
2 24,000
= 24,000
207 1O 48,000 0 48,000
2 24,000
= 24,000
03 A&7 48,000 0 48,000
OB2HYRUANE 50,0002 x96024 48,000
= 24,000
= 24,000
A1 DR AK| B 35,126 35,074 52
101 0121 11,126 11,074 52
04 JIAH2ZNELS 11,126 11,074 52
OMDIIALT HAEE 39,8802 12 x260L 10,369
OBFAH(4HRER) 10,369,000%7.3% 757
206 T 2H| 24,000 24,000 0
01 M=l 24,000 24,000 0
O DI BAX S 60,0002 x40024 24,000
AN B 234,000 506,000 A272,000
2 117,000
= 117,000
405 RH&HF S 234,000 506,000 A272,000
3 117,000
= 117,000
01 X&USZH SH| 234,000 506,000 A272,000
SENEESIP 36,000, 0008 *1CH 36,000
2 18,000
= 18,000
OZEXSEH 2| 16,000,002 * 1T} 16,000
= 8,000
= 8,000
OEE>] 12,000,0002 * 1T} 12,000
2 6,000
= 6,000
0sc 10,000,00024 *1CH 10,000
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SH: SMPIMeIA
M OME M2 MATD
oelr SaSoEe e (=CRE
_ _ HE T
SA BB H(BH) - MBAY - B2 Ofl &t o il b o HRs2
2 5,000
= 5,000
CEE-EX 3] 5,000,000 *2CH 10,000
3 5,000
= 5,000
OMRE0I 30,000,00024 *1CH 30,000
2 15,000
= 15,000
O/ AL M| 20,000,00024 *1CH 20,000
2 10,000
= 10,000
OHPLC 100,000, 0002 * 14 100,000
= 50,000
= 50,000
BSER Al 2 & 30,000 0 30,000
3 15,000
= 15,000
201 Yereo| 30,000 0 30,000
2 15,000
= 15,000
01 AtRZ2lH] 30,000 0 30,000
OBSEZAFAI R R 2 4 30,000
= 15,000
= 15,000
&2 ALY 2,500,688 920,586 1,580,102
3 1,296,712
= 1,203,976
e TP 77,611 77,479 132
201 Yereg| 9,952 12,460 A2,508
01 At 5,952 8,460 A2,508
o2g4+g 3,640
~OIEMEMBEOE 70,0002 x 122 *43] 3,360
S ELEEEEED 70,0008 %22 *23] 280
om=y| 800
- groixiol= 100, 0002 *8& 800
o2zl 1,512
lEmEHHAEEY 1,512
02 2B2Y| 4,000 4,000 0
OA & ZHI S| 4,000
—groiEy| KX 200,002 *20CH 4,000
202 01t 840 1,200 A360
01 =2U0ibl 840 1,200 A360
OJ==Y MOIL 840
206 M2l 1,500 1,500 0
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SH EAMOAIDA
M OlFE ZAMS MAZD
SETRISTE T YR (el a2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 M=H| 1,500 1,500 0
Oax=gNsS 300, 000& *53] 1,500
207 AN 65,319 62,319 3,000
03 A& A HI 65,319 62,319 3,000
O=2g2a1£E8Ma 800& x3,0005 2,400
ML S HH| 6,000& *7H 100 4,200
OHzMHUM ASTAE
20,0003 300 6,000
OELEEARNEYH 29 100,000& *353] 3,500
OI=gaAsd JIsES 50,000& »210A 10,500
OEEIEANE 20,000& »200A 4,000
OHMIZHH 2 Z At 10, 000& 250 2,500
OddI=HSE A 400& %12,00024 4,800
Os&d& 10,0003 300 3,000
OFHSEEHAAM 1,000& *8,00024 8,000
M & A 500& *700 £ =102l 3,500
OANgs= 25,0003 205 500
OANgss82E 2,000 x10kg*12& 240
OANEsSANLME 30 1005 +3652 1,095
OHXNSEHESAE 400 %10,2105% 4,084
OANESFIA =HAIE 2,000,000& 24 4,000
OHACCP &M & & & At 2,000& *1,5005 3,000
Ol ==AHBE PRSI 400,944 317,974 82,970
= 256,579
& 144,365
207 HFIHEHI 400,944 317,974 82,970
=2 256,579
= 144,365
03 Al A 400,944 317,974 82,970
osZHF A 154,337
= 83,437
= 70,900
OB =4 2HMRT) 1,890
= 1,640
= 250
OER4H(ZXwW2) 67,510
= 51,810
= 15,700
OFdelZ & 1,116
= 666
= 450
OF8el  EIZA(ELISA) 1,753
= 1,703
& 50
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SN SAMADA
M OIFE A2 MAMZS
CHl: JlE oAl EER:E
- _ _ NE
M- B C9(3) - HSRAY - BES Ak i =2
OHXIQAAI E2H 9,408
= 8,808
= 600
OSOI0| 2T 2hE0 o2 33,000
= 23,100
= 9,900
OZXFOAZZATIA A 80,630
= 40,315
= 40,315
OANSZHAX 50,000
= 43,800
= 6,200
Oxgaas 1,300
= 1,300
SHHAA L HH2H 58,133 58,133 0
=2 58,133
207 S| 58,133 58,133 0
= 58,133
03 A& el 58,133 58,133 0
ONEEHAA L HAY 58,133
= 58,133
=Xy OUHY 2A 54,000 54,000 0
= 27,000
= 27,000
207 1R 54,000 54,000 0
= 27,000
= 27,000
03 AlE el 54,000 54,000 0
OJNERHDLIE A 3,000,000 * 185 54,000
= 27,000
= 27,000
Z20x ZAAE &3 1,000,000 0 1,000,000
= 500,000
= 500,000
401 AlEHIL ] 900,000 0 900,000
= 450,000
= 450,000
01 Al&H 883, 260 0 883,260
OQIZ2o T AL AIS 883, 260
— &AL E ] 900,000,000 *4.91% 44,190
= 22,095
= 22,005
— A& 839,070,000 * 14! 839,070
= 419,535
= 419,535
02 22l 11,070 0 11,070
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A SMUAMADA
S oSG SAE MAZSZ
&2l JIELIAY (9 E2
- _ _ pSNE N
SH-EFHHA(FA) - NIRAE - BES 01l A+oH '@Egj Hws2
O EZ AR ALA A= 900,000,000 *1.23% 11,070
= 5,535
L= 5,535
03 Al 20| 5,670 0 5,670
O ERATZALA &= 5,670
= 2,835
= 2,835
405 KHAHFESHI 100,000 0 100,000
= 50,000
L= 50,000
01 XYL 2EFSHI 100,000 0 100,000
OIS ANRA A FHlI 7L 100,000
= 50,000
= 50,000
ItSYAZAIEE 2 Y 550,000 105,000 445,000
= 275,000
L= 275,000
405 KHAHFESHI 550,000 105,000 445,000
= 275,000
L= 275,000
01 ML ESHSHI 550,000 105,000 445,000
OPCR machine 60,000
= 30,000
= 30,000
OXs&EIIFST 52,000
= 26,000
L= 26,000
OZ&AEH 30,000
= 15,000
= 15,000
OdEZelDl 10,000
= 5,000
L= 5,000
OELISA reader 60,000
= 30,000
= 30,000
O&MS0IE 10,000
= 5,000
= 5,000
(@R=ig=-Er ) 10,000
= 5,000
= 5,000
OZelHX 8,000
= 4,000
L= 4,000
O&XAsEEHA A 250,000
= 125,000
= 125,000
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SN BAPMAIRA
M3 ObEE ZAS MAZS
et JIE LAY (=CR-E
R R=C1CE o . ma= sk oy e 2
OgaxsEA I 60,000
= 30,000
L= 30,000
AEXTH 2EAH 200,000 160,000 40,000
2 100,000
& 100,000
101 el H] 200,000 160,000 40,000
2 100,000
= 100,000
04 JI2tHIZ2E2ENEE S 200,000 160,000 40,000
OgIEExd 40,0003 x20H x250 200,000
=2 100,000
L= 100,000
SEgIExe X2 160,000 70,000 90,000
2 80,000
& 80,000
405 XtobE SHI 160,000 70,000 90,000
2 80,000
= 80,000
01 XY SSFSHI 160,000 70,000 90,000
OgA X2 (HA) 30,000,000 *2CH 60,000
= 30,000
= 30,000
O&ME 2UFIHEH( 100,000, 000 *1CH 100,000
= 50,000
= 50,000
Mg & SRANL B 496,864 404,703 92, 161
fHs=EHE 237,688 212,998 24,690
101 el H] 11,718 11,718 0
04 JIZtHIZ2E2NHEE S 11,718 11,718 0
OsJHA=2EE 43,6803 x250€ x1H 10,920
OYZEZHI(4UEE ) 10,920,000& *7. 3% 798
201 et 27,750 34,620 A6,870
01 AR 22l 10,150 17,970 AT,820
Ogel=gHl 6,000
—HU=ZetAls=z 100, 000& 205 2,000
—-gRIB+EE 40,000& 1005 4,000
Oo2g=¢ 2,100
-SSR 3 70,000 x5H *43] 1,400
-EZINHEEESARIEE Y
70,000 x5 H #23] 700
Oon =l 1,050
—JIEAEE ZU=2 70,000 15 1,050
Oogx= 1,000
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SH EAMOAIDA
M OlFE ZAMS MAZD
SRl SN Y RAEK BE (=EREE))
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
- = XNtl=2FH| S&EHILX 500,000& *22] 1,000
02 =234l 17,600 16,650 950
O==R2 2 WA 950
—dIFLI =" Y| 500,000& =13 500
=& 20| A& 5l | 150,000& *33| 450
OA&EHI =Xl 16,650
—-EaH 2,350,000 *3CH 7,050
-32JI 500, 000& *3CH 1,500
-0l =Dl 400,000 «1CH 400
— =2 2,000,0002 = 1CH 2,000
-0l = 200,000& 160H 3,200
- XANSEAIN(2EI]) 1,000,000 *1CH 1,000
-&31 50,000& »30CH 1,500
202 O4Hl 952 1,360 A 408
01 WY 952 1,360 A408
OstEAIOIL & 952
206 M=l 2,250 2,250 0
01 Mz bl 2,250 2,250 0
OBX+(2XE0etAQI3E)
15,000& *150kg 2,250
207 AN 160,018 156,450 3,568
03 A& A HI 160,018 156,450 3,568
otlz+g 3,918
-RAHIZ 12,000& 1202 1,440
- =g 21,000& 1182 2,478
Oty MY 10,000& *700St 7,000
OUMEATY 400& *500 £ *103] 2,000
(@F=3="Engel 120,000& «100& 12,000
OBt AL | 135,100
- SEAZHI 370,000& 2005 74,000
— A2 HI 250, 000& 2005 50,000
-3 & X2l 74,000,000& *10% 7,400
—IJIIESAMSAEE 74,000, 000 *5% 3,700
405 AHeHESHI 35,000 6,600 28,400
01 XYL SSFSHI 35,000 6,600 28,400
OF=sIIsX XS ()
35,000,000 *1CH 35,000
EZNHEESLEE L =2ANAS 29,888 29,888 0
207 A0l 29,888 29,888 0
03 A& A HI 29,888 29,888 0
ORI At2Htl 17,250
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SN SaRMARA
I OB BAD MABZ
Sol JIENY L REX BE (erel: @2
SA B G(E) - NEAY - B O & o4 e HREZ
— s A2 150,0002 * 1005 15,000
-oZ 2 X2 15,000, 0002 *10% 1,500
-EANYARE 15,000, 000! *5% 750
St AR 7,211
- =3 A 20,9002 %3004 6,270
—oZ o X2 6,270,00021 * 10% 627
-IIENYARE 6,270, 00021 *5% 314
OESMH b2t 5,427
- s A2 157,3002 *305 4,719
—o%=Z o X2 4,719,0002 *10% 472
~HENSADE 4,719,0002 *5% 236
MYBEI| =1 RA 5 186,318 92,727 93,591
101 2124t 26,318 26,227 91
04 JAM2EXNS B4 26,318 26,227 91
O+BBMASE 39,8802 *3% *205L 24,527
OHFJH (UUHEEZ) 24,526,2002 %7 . 3% 1,791
207 S Rop | 80,000 66,500 13,500
03 AlE e 7| 80,000 66,500 13,500
O+HatgzaE 1,000, 00021 * 104 10,000
O+ZBMMLDE 70,000
— Ao 200,0002! *405 +53] 40,000
-ZX7 55,0008 *50%5 *43] 11,000
~SUQNMSTR S 20,0002 *9505 19,000
405 XtokE S| 80,000 0 80,000
01 AL SEFSH| 80,000 0 80,000
OXl A s =X XX 80,000,000 *1CH 80,000
21 T JIDNAOI 2 = X Al A B ALY 24,870 49,870 25,000
207 eIl 24,870 24,870 0
03 AlE e 7y| 24,870 24,870 0
ODNAZ A ASE ¢ 24,8702 %1,000% 24,870
SERENSH 8,420 8,420 0
201 Yer2ey| 5,700 5,700 0
02 ZZSIH| 5,700 5,700 0
OAl & =YX bl 5,700
-QENSHIH SXB2  100,0008 *57CH 5,700
207 S1Rop | 2,720 2,720 0
03 AlE e 7| 2,720 2,720 0
OLN2ItA 7 170,0002 * 1674 2,720
SEHASN(SLHAANSHI X4) 9,680 10,800 A1,120

- 159 -




S
M
2o 0
u >
0 0=

K%
4J

IS

%o =
10 WO
™ 0z

>

00
(il

H
i

S U (BH) - NRAY - B Aol e
gI2tol ™ 9,680
QIRtF A8 X 9,680
O=F0IA AM=2 100, 000 & *405 *80% 3,200
oes+=3z 40,0003 405 *80% 1,280
O=Z&0la = 400, 000& 105 *80% 3,200
OS0LXI A Hedg 200,000 *105 2,000

HARA2Y 355,263

EAr2tel 355,263

1 et 3AH| 291,743

01 AtE222|H] 9,000

Ogbta & =2H| 9,000

332 ZHl 282,743

OS2I XA 123,003

-&8JIe3 89,619

UBLE DA (AIRA) 33,444

2z 5,300& x390kW+ 123 24,804

MEZ 80& *9, 000kW=12& 8,640

CAMEEDA(EBIEA) 15,039

ez 5,110 x102kW+ 123 6,255

ANEZ 613 *12,000kW 123 8,784

CAEA MRS 5,136

2z 5,480& »50kW= 12 3,288

MEZ 773 *2,000kW= 122 1,848
ZSHEAEHA24AIZE IS

3,000,000 x12& 36,000

-OXNEALLES=4Z 30,000 +40H«122 1,440

—a=ER3 1,150,740 x123 13,809

- XS XAl 2,725

=52 365,000& *5CH 1,825

=4l 100, 0002 *2CH 200

== 88,000 *4CH 352

- ~=EHHIXE 88,0003 »1CH 88

- St 200, 0003 *1CH 200

- QEUH0I 60,000 *1CH 60

- NSXEIBA==Z 50,000 x130H 23] 1,300

-A=sxEEz 7,120

U=EsE 650, 0003 +5CH 3,250

== 450,000 *2CH 900

- st= 300, 000& +4CH 1,200

ENEEIN DN 300,000 *1CH 300

S+t 1,420,000 *1CH 1,420
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SN

2
M3 ObEE ZAS MAZS
ol A4 2Y (&9 &)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
<@ E 80| 50,000 = 1CH 50
-dJgtd el EE = 380,000& »12& 4,560
—&ZeldsuI(iol) 30,000& =13 30
- eldsHl (=) 30,000& %13l 30
-SINERES 1,170
EE 35,000& »13CH»23 910
NE=E=2 130, 000& 22| 260
—PDAAIEZ 50,000& x2CH*12& 1,200
(@)eN=d] 27,200
- &AM 1,053 1052 *136L 15,037
—-dg4d 1,053 +105& 70L 7,740
—ANESEM 1,053& x105&! »40L 4,423
OAE &I =X 85,140
-—=& 3,500
-SA & 2UAE 15,000
-2 KX 2,000
-SY¥384A 500,000& #43| 2,000
- EARAES 3,000
—AdESAHE A 3,000,000& *12 3,000
-2 AL M==AY 1,000,000& =43 4,000
—gRAl dXEHY 1,150,000% *23] 2,300
-S04 EHUE 500,000 =64 3,000
-dg4d =X 2,000,000& =44 8,000
-dEgs=4d =4 3,000,000 »1&! 3,000
-84 HIISX28E 1,250,000&«12E 15,000
—Al HJIZ2 Xel 700,000 122 8,400
-JIg=s® WIIHcIES 2,500
- FoZHIES 320,000& 122 3,840
—2YANE SEIHLEH 9
165,000 128 1,980
-UH+=XHeIES 385,000& 128 4,620
OXtgtd et 47,400
-UExsS(2E) 3,500,000& *5CH 17,500
-SE(58) 4,900, 000& »2CH 9,800
-st=2(28) 3,400,000 »4CH 13,600
- ASHHI(SSE) 3,500,000 = 1CH 3,500
- S 3,000,000 = 1CH 3,000
301 LLBAS 3,520 3,094 426
09 SU2RREEY=S 3,520 3,094 426
O)=}= 97,500 x1E+12& 1,170
Ok=1:] 120,000& »1E «12& 1,440
Ou =l 55,0003 «1& 128 660
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A FedARA
M OlFE ZAMS MAZD
ol A4 2Y (&9 &)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
ou =l 250,000& 1 250
401 AIEHIZ 20U 50,000 15,000 35,000
01 Al£Hl 50,000 15,000 35,000
OsdL+=3A 30,000
O=¢3 wM3AM 10,000
O L A=IA 10,000
405 AHatH S 10,000 0 10,000
01 ML =ESF=H 10,000 0 10,000
Oa=sAlE 7Y 5,000,000& »2CH 10,000
HY 2L ZH(SAAHARL) 2,396,717 2,023,069 373,648
el 2 2,276,651 1,871,576 405,075
el 2| 2,276,651 1,871,576 405,075
101 1A 2,192,171 1,797,296 394,875
01 2= 2,114,219 1,721,917 392,302
OE=H 1,219,491
— Bty 702,989
=] 6,134,260 x 18+ 12& 73,612
- 55 3,090,570 x3E *12& 111,261
6= 2,446,720 x10F <123 293,607
A= 1,743,340 » 108« 12& 209,201
<= 1,275,590& » 18« 123 15,308
- 297,010
S 3,466,300 x2E x12& 83,192
- AL 2,227,270 x8H 128 213,818
-JIsA 219,492
6= 2,640,210 x 1812 31,683
= 2,455,130 x 18128 29,462
8= 1,984,390& »4H 123 95,251
102 1,314,480 4B+ 128 63,096
o&Fz2+4 79,928
Ozl2f=¢ 158,590
—A2A2 R 148,011
-SL2FRE 10,579
O+ 194,850
-JtE2 39,360
B BN, 40,0003 ~38H «12& 18,240
A EHI S 20,0003 70~ 122 16,800
JHet= 30,0002 x12H «12& 4,320
- NUSHIEEE 25,754
St (1=X) 51,9903 7 43 1,456
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SN BAPMARA
B MESAAH (SMAMATAL)
chel: ozt o]
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
DSsw(1=X,It) 433,880 x 14 #43] 24,298
-S0si=sY 500,000 x1H+12& 6,000
- 203 38,760
- 2501 & 130,000 «9H «12& 14,040
20501 & 110,000& 6 123 7,920
- 158014t 80,0003 x7H«12& 6,720
1040l & 60,0003 x4 H«12& 2,880
54 0] &t 50,0003 12« 12& 7,200
-RE2RE 24,960
43 50,0003 28 12 16,800
=3 40,0002 x 17~ 123 8,160
-2 31,336
2B 18,127
52 3,090,000 *4.8%* 12& 1,780
6= 16,700,000 *4. 8%+ 122 9,620
= 11,678,000 *4. 8%+ 12& 6,727
1A 11,886,000 *4. 8% 12& 6,847
-JlsA 6,362
6= 2,641,000 *4.8%* 128 1,522
8= 4,379,000& 4 . 8%*12& 2,523
102 4,021,000 *4.8%* 122 2,317
-Jl=d2=+H 2,760
gT=) 50,0003 x2H x12& 1,200
CBTE 30,0003 x3E 122 1,080
- 892 20,0003 x2E*12& 480
—JEHESLOIAIINS)
30,0003 x1E«12& 360
- IR (IIAIZ)
20,000 x3H «12& 720
i R R = 15,120
ol N4 70,0003 18H ~12& 15,120
—HRHRY 9,600
AR 80,000& *x10E «12& 9,600
—otMte|E Y 120
ESord el 10,0003 x1E ~12& 120
OFAZAHI 130,000& «45F »12& 70,200
QOusEXH] 69,840
— e 39,360
=) 140,000 & «4H «12& 6,720
A= 130,000 208 » 123 31,200
- 892 120,000& x1H +12& 1,440
- A 15,840
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e 0L M
J¥ o

HO0 [0 H0

T
IS

02 02 0
== R

o
P
40
0z
2
4

S

SN S(B) - NRAY - B2 Aro B =2
0l &
SRS 140,000& »2H «12& 3,360
- A AL 130,000 8H 12 12,480
-Jls&H 14,640
~7= 130,000 «2H «12& 3,120
- 8~10= 120,000& 8 123 11,520
OZZ=Jtdl 90,455,000 *60%*23] 108,546
OItAX &8I 90,455,000 *16. 7% 12& 181,272
OS2 &H| 31,502
-HA=H 6, 134,0002 x66%+1/30*10 1,350
-2=H 90,455,000 /30«10 30,152
JIBtE 2 38,585 38,585 0
O A=A 38,585
-S3 YRl 400,0003 +x7E*12& 33,600
A2t 22 4,985
SIAHAZ 2R E > 39,367 36,794 2,573
Ot=f& 36,708
-3= 34,2603 »2H 253 17,336
-3 17,336,000 /12& *400% 5,779
— A2t =5 6,480 x2F *15A1 2tx 122 2,333
PN 34,260 x2H +17L 1,165
-F5¥ 34,2603 x2H x104 7,127
-5e2Rg 51,3903 x2H x 12 1,234
- &JI25+Y 17,336,000 /128 10%+ 122 1,734
OgERE= 2,659
R R = = 34,974 ,000& *4 . 5% 1,574
- NE8E2Y3 34,974,000 *1.3% 455
—MATHHERZ 34,974,000& *1.8% 630
A=A 84,480 74,280 10,200
ESE= N u] 84,480 74,280 10,200
OggH A% 71,340
—4= 400,0003 x1E*12& 4,800
-5, 250,000& x5« 123 15,000
—63,H A 155,000 «18H «12& 33,480
-8 140,000 «10E 128 16,800
-8=2 105,000 x1H +12& 1,260
OJlsH 13,140
-6 155,000 «1H <128 1,860
-2 140,000& x1H« 123 1,680
-8~92 105,000& x4« 123 5,040
-10= 95,0003 x4H 123 4,560
120,066 151,493 A31,427
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SH EAMAIDA

Hu: HESHAL (SMAMOADL)

&t JI=3Hl (ctel &)
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
Jle=3| 120,066 151,493 A31,427

201 LBt 48,896 47,060 1,836

01 AFR 22| 45,266 43,430 1,836
OJ12+8Hl 9,120
OJ12= &l 12,096
Oo2g=¢ 24,050
g (=) 50,000& 116 5,800
—Y=SA(BESAM) 50,000& »365< 18,250

02 ZE=23Hl 3,630 3,630 0
O=222a32AA 3,630
—emyza 3,000
- 3SSYI=oA HolEE = 90,000 +7H 630

202 O4dl 42,000 43,173 A1,178

01 =Yl 42,000 43,173 AT1,173
OJ12¢Hl 42,000

203 HRF&H| 16,170 16,260 A90

01 JI22IHRF4| 2,970 3,300 A 330
(OFE S, 2,970

02 HRANMBRFEH| 1,800 1,560 240
O A& & 1,800

04 RN2IHRFAH 11,400 11,400 0
O & At 350,000& «12& 4,200
ot 250,000& 128 3,000
OEEANEZHE 350,000& x12& 4,200

204 HNPHAH| 8,400 8,400 0

01 MEZYRL3A| 8,400 8,400 0
(OFEPS, 400,000& x1H«12& 4,800
O 100,000& 3+ 12& 3,600

405 ItHatE S| 4,600 36,600 A32,000

01 TN =SS HSHI 4,600 36,600 A 32,000
O& K= AL 4,000,000 = 1CH 4,000
OZ MM 600, 0002 *1CH 600
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ol

e
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KIo
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N8,694

7,887

7,887
NT,792
23,000
A 3,000

3,408

AN192

3,600

H3r
uiled!
pak=

785,210

216,464

216,464
79,940
18,700

4,200
14,500
25,840

640
25,200

26,400
26,400

=
o

s

<J

776,516

224,351

72,148
15,700
1,200
1,200
14,500
14,500
7,500
3,000
4,000
29,248
448
448
28,800
18,000

224,351

10,800
26,400
26,400
3,900
1,000
5,500
4,000
1,500

4

jilg
o
20
OF
<
i

=
ar
0
KJ
oJ

0H

-

K

i

=
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3

| %4

128

[uind

2 %40

[und
e

=]

[uind

2l x5

300,000
100,000

300,000

Jb odbl

t

01 AtR 22/t
OA&E & HI =Xl
=LH0o I

02 XN

01

202 O4Hl

.

KO
K

-

<0

o]
<+
ar
0
K0
H0

E
=
=

45 M

=)

1% 118 %100

e

2,500 *6005

2,000& *2,0004

300,000& »3E x12&
200,000

5,000

E
A=
2 A=

ZALA

03 A&+l
O

207 & 5OH 2

A0
all
RO
Ul

)

X0
[
B0
Ko
Ofr

A8,200
A8,200
16,079
4,387
648

9,000
9,000
106,524
64,026
3,600

7,500
1,000
2,000
800
800
800
122,603
68,413
2,952
1,440
1,200
240
1,512
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ok
ol

e

n0

KIo

Bl w

5,035

H3r
uiled!
pak=

60,426

=
o

s

<J

1,512
65,461
23,301
12,192

3,192

9,000

1,500
60
1,440
528
150
1,025
1,200

676
500
176
500
400
100
2,070
770
1,300
300
500
500
540

1,620
13,358
2,947
4,518
5,893
14,902

1,600
1,942
1,000

30
O
w0
<0

)
il

10

KU
i
=

50,000& x2CH*x12&

=l

4 x50H

=

5,000& 128
4 x200m' * 128

4 x100m* * 12

30,000

85,360& *12

2 *50kw+ 123

=]
[l
=]
[l

600

440

753 %10,000kw* 122

5,320

-dlles

4
00

PDA At

FAl

=l
2

3

3

3

2| x2 (H

2| %2 CH

2| x2 (H

2| %2 CH

=
[u)
=
[u)
=
[u)
=
=

250,000
88,000
50,000 »4LH*2

50,0003 *2
385,000
650,000

50,0003 *3CH *2
500,000& *1
500,000& *1

N}

EEPNPY
ININE=!
EPNPN;
- NSXHEA==E

XN

-X=

n
=X
Ok

<0
ol

KIo

=

I
_

[uind

21052 +20L

e

=

21052« 15L*3CH

2703 *50024 « 128

1,403

956
1,403 x105& »20L+2CH

IT

OAl€ZHIK Xl

ol
KM
R0
KA

<
3)

600
1,560
8,200

13,900
3,500
3,400

130,000& «12&
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SH: BT A
M BpA2 OF - BB
el BASIIM HAHAA =E))
SN HH G (EH) - MBAY - BYS Ak e 2
Ofl &4 4

-SRI 3,500, 000& 2CH 7,000

202 Oidl 896 1,280 A 384

01 =W 896 1,280 N384
OJ=ZY /A3 A 112,000 x2H »4 3| 896

206 M=l 1,500 1,500 0

01 M= bl 1,500 1,500 0
Ogg9Ar=sE 2¢ 300,000& *53| 1,500

207 AN Y| 38,800 36,775 2,025

03 A&+l 38,800 36,775 2,025
OJ=dgEd 700& *2,5005 1,750
og4ddd 10, 000& »200A 2,000
OHMIEHH 2 & At 10,000& »200A 2,000
OHXgsd HdEst At 400& «6, 0004 2,400
O H<E 3R ZA 5,000 x4 100 2,000
OXFUERAUA &A 5,000& *30024 1,500
OF&X &= Al 2 50,0003 4024 2,000
OZ=28 ZILIHEHA 10,000& *100A 1,000
OFHS gEPA 1,000& *2,50024 2,500
OANSHEA2Y AEHHA 35,000& »200A 7,000
Ot A 160& 20,0002/ 3,200
OANESESAME 2,100
-Hs 338 1,500
—dEEs sszZ2d 10, 000& *5kg* 123 600
OANgss+Y 750
-HS 33 25,0003 305 750
OANEAHFA 8,600,000 «1HI= 8,600

301 Yptsaazg 2,994 2,943 51

09 BAIZLRRIBLHS 2,994 2,943 51
os= 79,5003 x1E+12& 954
O&All 120,000 «1H <128 1,440
OunEH| 50,000 x1H «12& 600

405 KH&HFSHI 10,000 0 10,000

01 XL =SS FSHI 10,000 0 10,000
OttME sl a4k 10,000, 000& * 1Al E 10,000

=2lr2Y 29,600 30,000 £400

201 Let2IH| 3,600 4,000 A 400

01 AFR 22l 3,600 4,000 A 400
Ogttgd a=2| 3,600

204 XM AH| 6,000 6,000 0
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e HEVCEE DIPS
HE: SN2 OHF - B2
Sl BASIIM, ML HAA (9l &2
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o gggig B2

03 SHYLAYI 6,000 6,000 0

oI g S| 50,0002 10« 122 6,000
401 Al&HIL 20| 20,000 20,000 0
01 Al& ] 20,000 20,000 0

SRAAIL JHA ALY 13,500

OLED & | 6,500
HY2SAAY (BFAAMZLT L) 552,165 568,746 ~16,581
ol 2| 526,437 543, 172 A16,735
ol 2| 526,437 543, 172 A16,735
101 14| 505,977 522,712 A 16,735
01 24 472,192 498,527 26,335

O] 258,966

— 2utx 119,282

53 2,055, 4102 * 12 +122 35,465

62 2,068,990 x22 *122 49,656

73 1,421, 26021 284 ¥122 34,111

— o 97,663

A 2,034,630 2 42 122 97,663

~Jls 42,071

72 2,365,270 * 12 *122 28,384

E 1,140, 54021 *12 ¥12% 13,687

OF-ERN 16,520

Ozxn2RLY 44,040

—ARe2RAY 44,040

OFag 42,009

—otE4y 8,640

SUEY 40,0002 *10% * 122 4,800

EBTEIES 20,0002 162 * 122 3,840

L TH =E S8 3,888

S n(12X) 51,9902 %23 *43] 416

=L InICEV) 4338802 223 x4 3| 3,472

—HILYIIAB 9,360

251 0] & 130,00021 +12§ x 122 1,560

2011 0] &t 110,000 %224 » 122 2,640

154 0] Af 80,0002 x2& x 122 1,920

105101 & 60,0002 %2 *122 1,440

GEGIPY 50,000 %32 *122 1,800

—QlgaRsy 6,360

A= 50,0002 *92 « 128 5,400

=F 40,0002 x2 « 128 960
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SN
X XH .
S Tt

el

e 0L M
J¥ oA

0z

AME LT A
SHAI(FH2
29|

A
i
-
B

_ _ _ N E
M« B2 - S2(3H) - MRAY - BaS arey e =

—JleEEaY 360
16,72 30,0008 12+ 128 360
“JIEFEAYIME 10,0008 12 +128 20
-gezeesy 5,241
62 4,557,008 »4. 8%+ 128 2,625
o1 A} 4,540,0008! »4.8%+ 128 2,616
—olggeay 4,200
So|RE 70,0008 *52 * 128 4,200
-opYe sy 3,840
ol x 80,0008 *42 * 128 3,840
OFAUZ AL 130,000 112122 17,160
ORSEXEH| 17,160
-53 140,0008! » 12 12 1,680
-6-73, o1 P A} 130,0008! 8% * 12 2,480
-0Is73 130,0002! *12 128 1,560
-JIs93 120,0002 12+ 122 1,440
OYEEIIH| 258,960,000 / 128 *120% 25,896
OJMHXI Sl 258,960,008 /12816, 7%+ 128 43,247
OSIJb2AfHl 258,960,000 /128 %1/30+ 102 7,194

02 JIEt=E 4 33,785 24,185 9,600
OBZ YA+l 33,785
—Al2tQI 2R 4,985
- Sz 2| 400,000%! <62 * 128 28,800

204 FL&AL] 20,460 20,460 0

02 M3 =Y 20,460 20,460 0
SEEY 20,460
-53 250,000% 124 128 3,000
-6, A 155,000 624 122 11,160
-73 140, 0002 x2% » 12 3.360
-JIs73 140,0008! » 12 12 1,680
-J1s93 105,0008! » 1% 12 1,260

2| 25,728 25,574 154

=2l 25,728 25,574 154

201 Y2 ] 6. 188 6,045 143

01 AtR22lt] 6,183 6,045 143
OJl=+2t| 2,660
OJl=3 2| 3,528

202 01| 9,000 13,689 A4,689

01 =W oIt 9,000 13,689 14,689
Ol 0| 9,000

- 170 -




oF
R’

ok
ol

e

n0

KIo

Bl w

4,700
4,700

LH3r
m<l
Rk

3,440

440

3,000

1,800
1,800

600
600

=
o

s

<J

3,440

440

440
3,000
3,000

1,800
1,800
1,800

5,300
5,300
5,300
4,000

600
700

KJ
K-
oF
s}l

A

RS

=)

o
5

02

40,0003 11

0K

[uind

2128

250,000

R0

X
10

<+
o+

Kr

A0
0
<
o+
ol
i
Rl
Rr

(OPNE~TS]

150,000& 18 »12&

| =Hl

RF
rd

405 Xt

2l «10CH

=
=)

4,000,000

2l «1CH

=
=

A AIED]

_ =D
[

600,000
700,000

2l %1 CH

=
)

- 171 -



SN EMIMLET L
=

I BA2 M - WHBP
Sl BAS SIM, MAHAM (Sl &2)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
ENPI MR A 569,696 489,016 80,680
242 OF - YA B 155,838 45,931 9,907
2 9N, MYHAA 155,838 45,931 9,907
NERCPE 40,234 39,754 480
201 Yoty 2,020 2,020 0
01 Attt 100 100 0
o= 100
— o= 20,0002 ¥52 100
02 BZ2Y| 1,920 1,920 0
022232 2 AA 420
~NEZAAIR SEHEl 5,00081+721%128 420
CNEETES 1,500
~ANFY SX24 300,0002 *53| 1,500
202 04t 14,680 14,800 A120
01 =2Uloibl 280 400 A120
O =Mt 3l &4 0l 280
02 2 oH0iH| 14,400 14,400 0
SEAMT MABE 300,008 12122 3,600
OT40lAb AAIER 30,0002 3 <128 10,800
204 X242l 4,200 3,600 600
03 SHULAY| 4,200 3,600 600
Ol LIEEN] 50,0002 +7 128 4,200
207 HPIHLEI 19,334 19,334 0
CEEE 19,334 19,334 0
OTZ20IMA 2,494
-4 29,0002 +8, 0005 *1/500 464
~ X 29,0002 ¥140,0005%1/2,000 2,030
OEZANME 200,0002 1Kl € 200
ORMTZSEAA 2,5002 *4805 1,200
ORBSHUSAHBA 5,0002 *2005 1,000
OSEEAML DIMSAA 3,0002+1,0002 3,000
ORARAA 3,200 *45021 1,440
OEES MURUAA 4,000
-4 8,0002 *12521 1,000
— X 5,00021 *60021 3,000
QAT AR 10,0008 %5021 500
OEE8 M= 5, 00021 x200 2 %2 2,000
OETZAAZD TISHAIAL 10,0002 %3002 3,000
OAMBER GMEA 10,0002 ¥5021 500
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SN BAA MR A
N RH: =
o T

=
=
Sl SNE

ME AN, MEHHA (ctel: &
SN I SRI(S) - NRAY - B sk S 2
0f 4 o8
OAl & &EHI= Xl 12,491
- EAMNRX 4,479 +690m* 3,091
- YA2HEH =X 200,000& »62l 1,200
-2=J| 7K 100,000& «10H 1,000
-d3tx HAEA 600
—AdgAIES HalsEY 400,000& 128 4,800
-AsZEI| 2esdy

150, 0003 * 1D A+ 12 1,800
OXtetd gth| 10,400
-t=sE 3,500,000& *2CH 7,000
- A 3,400,000 = 1CH 3,400

202 O4Hl 280 400 A 120

01 =Wl 280 400 A 120
ON=LZ2HEE AOILE O] 280

206 M=l 1,500 900 600

01 M=zl 1,500 900 600
OAx=gHAS 300, 000& »52] 1,500

207 HFIHEHI 31,023 31,023 0

03 A&l H] 31,023 31,023 0
OJ=dgEd uz 800& *2,5005 2,000
OJ=sddds 5,000& «5H 160 4,000
ONFZEL2LHI A 400% *2,00024 800
OZ=Y ZLIHEHA 10,000& »100A 1,000
OHXEE HESAIZ 400& *4,000H 1,600
OLEZ Mt EHAM 500& *20,0005 10,000
ogdzdd 10, 000& »200A 2,000
OHMIEH2AIE 700
OUHELTY 5003 *240L*53] 600
OZ=SHE AMAA 100, 000 *20H 2 #4 3] 800
O0fM=E NZ=S 100, 000& *305 3,000
OANEATZAISTHZ 1,000
OAE A2 Y] 27,400,000& x0.03 822
Odgs=s+Y 25,000 485 1,200
OsegssSAd 30 %1375 +3652 1,501

301 Ypt8aag 3,538 0 3,538

09 BUAIRRIBLHS 3,538 0 3,538
os=s 88,0003 x1H«12& 1,056
O=4ld| 120,000 x1H +12& 1,440
Oun sl 66,0002 x1H+12& 792
Oon =l 250,000 =1 250

401 N EHIL20H] 16,000 17,000 A 1,000
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SA B MBI
Hu: BN 0N - Bepe
ol EBAS M, NelHAA (9 &
A BB O(B) - NEAY - BAS Of o e Hl R =2

01 Al&HI 16,000 17,000 A 1,000

OFAL ZE A 12,000,000 =14 12,000

OFA HEEZHS(LED) A 4,000,000 * 14! 4,000
405 KHAHFSHI 7,000 0 7,000
01 XML 2BEFHSHI 7,000 0 7,000

OZg4dHllE 4ds1) 7,000,000 «1CH 7,000
HY2IHZH(FSAUAMY 2T A) 413,858 343,085 70,773
ol 2| 393,968 324,499 69,469
ol 2| 393,968 324,499 69,469
101 14| 379,208 311,419 67,789
01 = 359,823 292,034 67,789

OF=F=D\| 208,210

— 2 EHA 69,249

6= 2,277,930 x1H «12& 27,336

= 1,746,340 x2F x 123 41,913

- 98,260

S 3,466,300& 18 » 123 41,596

- HAA 2,360,960& x2H «12& 56,664

-JIs& 40,701

= 2,412,360 x1H «12& 28,949

102 979,320 x1E«12& 11,752

OF<Fmt =, 12,703

Ox=ze=g 26,369

—ANZ2HA2R2Y 26,369

(OF<ELEIS) 26,207

-JtExg 5,040

- B Xt 40,0003 x6E x12& 2,880

- AAEHIS 20,0003 x99 x12& 2,160

- NESHIEXESY 1,677

NESW(1ZA) 419,090& »1H x4 3| 1,677

- &2 3 6,240

- 2501 & 130,000& *3F x 123 4,680

15401 & 80,0003 x1ZE+12& 960

540 & 50,0003 x1E«12& 600

S = = 4,560

A= 50,0003 x6H x12& 3,600

=35 40,0003 x2H +12& 960

-2 2,810

6= 2,278,0002 4. 8%+ 18 123 1,313

A& 2,598,000% *4.8%* 18 123 1,497
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SMSIMLRT A
BHE AU (SMPMLRTL)
elE = =L
SN I SRI(S) - NRAY - B sk S 2t
0 & 24
- 2Ry 2,520
ol d 70,0003 x3H x 128 2,520
—HRHEY 2,880
SRS 80,000 x3H 128 2,880
leEE 2o 480
J=gRse 30,0003 x1H«12& 360
JEEESEIHE 10,0002 x 18122 120
OZAZAHI 130,000 8H 12 12,480
Ousg2=Hl 12,480
- 140,000 «1H <128 1,680
— AL 130,000 »2H «12& 3,120
—-6=~732 130,000& 3 122 4,680
-Jlsi~7= 130,000 x1H + 122 1,560
-J1s8~10= 120,000 x1H + 12 1,440
OZ 2SIt 208,200,000& / 123 *120% 20,820
OJHAXI &bl 208,200,000& *16.7% 34,770
OEItE &H| 208,200,000% /128 *1/30% 102 5,784
02 JIEtE 2 19,385 19,385 0
O3 =2 At 19,385
- =22 4,985
- E3 Y2 400,000 x3E ~ 123 14,400
204 XA 14,760 13,080 1,680
02 A E2XH 14,760 13,080 1,680
o2 250,000 x1H~12& 3,000
Oba, H A 155,000& 3H 12 5,580
or=s 140,000 *3F 123 5,040
o102 95,000 x1H+12& 1,140
Jl=2Z4l 19,890 18,586 1,304
| =& Hl 19,890 18,586 1,304
201 Yer2g| 5,770 5,535 235
01 AtS 22l 4,420 4,185 235
OJlZ2=gHl 1,900
OJl==sEHl 2,520
02 =234l 1,350 1,350 0
Ozs32= 2 HAl 1,350
—SUFO0A HHEE 90, 000& *3H 270
—-REYs= 2502 *36001 = 12& 1,080
202 O4Hl 9,000 7,371 1,629
01 =LA b 9,000 7,371 1,629
OJl=0 4l 9,000
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E
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=
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o r  w® 0d
70 S S S
X - S S
o - -
BJ F 3 3
. oV —
&l
=
I+
=
- =) ) sl
= R T R 70
1o K- RMOKF 70
i oF R OF o | <
5 |z adimln
|2 = B = |H|s1 &
- K|/ o0 OF DF| < |[MD <4
R okl R 0| 0OF|& R
R0 |s|lro O B O|®rr|rr O
- Y =8 S|z
3 « lavl
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AN FAAMYE T A
M ZAS oA - gApe|
Tl SANSAM MAHHA (ehel: &)
A -3 -H2A(SH) - HEAMY - BES O AFH gl,'igig Hos
ERE R DN [FSDNE 639,654 630, 117 9,537
S4AE otd - g g 222,223 243,170 N20,947
SNMSN MFHHAM 222,223 243,170 N20,947
A= MT A 58,050 51,090 6,960
201 LEt23d| 1,440 1,440 0
02 23234l 1,440 1,440 0
OB22=24LHA 240
—NEZAAIZ S 5,000& x4 *12& 240
(OINE=F~1:=1E=IN}:]! 1,200
-2 AEHI =X bl 100,000& *12& 1,200
202 O4Hl 29,360 22,400 6,960
01 =LA b 560 800 A 240
OJEMst=lla &4 oyl 560
02 XY 28,800 21,600 7,200
OSFZANE dAEE 300,000& 3H «12& 10,800
OS2 A HAEE 300,000& x5 «12& 18,000
204 MR AH| 4,200 4,200 0
03 EHHRZHI 4,200 4,200 0
Ol o &=l 50,0003 x7F +12& 4,200
207 A0l 23,050 23,050 0
03 Al AP 23,050 23,050 0
OSFZ AL MA 29,000 25,0005 *1/500 1,450
OE=ZAM NE 200,000& »3MI E 600
Oess¢g=s 5,000 x»4Y x200 4,000
Oalzet A AL 5,000& x100A 500
OIS E A 2,000& *1,200A 2,400
O ELAMAE 2L 2,500& *1,000A 2,500
O&F2E M= AME A 5,000& »200A 1,000
O=RYIAY OIM= S A 3,000& *2,0004 6,000
O =Z AT S 10,000& 1004 1,000
OE=s dHMELHAM 3,600
-4 8,000& 10024 800
- PN 5,000& 56021 2,800
IIEY A 164,173 192,080 ~27,907
201 LBt 56,709 56,172 537
01 AFR 22| 6,112 7,240 AN1,128
Oger=ZH| 3,600
— Ut A= EH| 3,600
o1l =yl 1,000
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SN BASMHET L
HH: BMS OF - BABE
Sl BASIIM, ML HAA (9l &2
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 glggig B2

e 10,0002 ¥10% 1,000
o3zl 1,512
“IIEYOMARRY SHARQ 1,512

02 2| 50,597 48,932 1,665
OZzZR22HA 17,514
~HBUEHN LER 250230021128 900
~POA SM23 50,0002 x2CH « 128 1,200
HEPIEE e L] 500, 0002 *13] 500
~ TSNl ABER 90,0008 x5 1] 450
~MEASREE 500,0002 1l 500
~®I1R23 7,259
SRR 7,259
22 5,280 x35kw+ 122 2,219
AE2 7021 %6, 000k 122 5,040
- 44+523 1,503
S 5,2002 122 63
N8R 6002 *200 #1221 1,440
~54ER3 3902 %2001 * 122 936
~REXA 360
L BB 100,0002 *1CH*23] 200
B2 40,0002 %204 *23] 160
- REXNBANE 30,0002 *3CH *13] %
-RNEXNLER 650,000 *30h 131 1,950
~RNEXBENL LT 65,0002 #3023 390
—FIltE BB E 93,0002 * 128 1,116
~TVAIE R 30,0002 122 360
oozl 10,040
—ER (YY) 1,0532 1102 %25 2,896
~ NESSA 1,0538 %1102 150 1,738
— g 1,0538 %1102 131 1,506
~SQUB(THE) 1,047 +1102*10L+3CH 3,456
~LPGItA P 37,0002 % 1S 128 444
CNEETTES 12,943
—=EAN AL 5,040 *324 1,633
— g2 ATy S| 50,0002 *63] 900
-2F4 ZEDE 500, 0002 *87H 4,000
~ A8 100,000 * 107 1,000
-1 E-PS-1- 250
~AHSHIIS Helg 3,600
~NEFLI| BB 130,000% 122 1,560
Oxt et 10, 100
— A8 BB 3,200,000 1CH 3,200
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SA: SUAMTE X 2
M NS OHF - SRR
OOl EANSDM FAHAA CEER-E)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
-SRI 3,400,000 *1CH 3,400
-=dgst= 3,500,000 *1CH 3,500
206 M=l 1,500 1,200 300
01 M=H| 1,500 1,200 300
Ox=gH 43 300,000& *53] 1,500
207 AN 25,890 22,890 3,000
03 Al A 25,890 22,890 3,000
OFME GELHA 5,000& »220A 1,100
OI=sEE ANguZE 800& *2,0005 1,600
Oy ZLIHEHA 10,000& 1004 1,000
OXRUASFATHZ AL 5,000& 30021 1,500
OB 4t At 2002 *18,000A 3,600
OZE=3HE AMAA 100, 0002 *2JH *4 3| 800
OHXI=dct EEHAIE 400& *2,500A 1,000
OEdLEAE 10,000& 2004 2,000
ORENEHE Al 50,000& x20A 1,000
Oltd=sE II=ZES 100, 000& *505 5,000
OANEHATZAE HZ 1,500
OANgsgE 22l 30& *2005 365 2,190
OYXEL 7 5003 x240L*52] 600
OHACCP & & H A AL 30,000& x50 1,500
OXzs 22 150,000& *10&] 1,500
301 et24 = 10,074 2,818 7,256
09 SUAZRRIBAZ 10,074 2,818 7,256
o== 88,0003 x3H x12& 3,168
Os Al 120,000& »3H «12& 4,320
Ou Sl 51,0003 +x3F +12& 1,836
o1l =yl 250,000 »3H 750
401 AIEHIZ 2 30,000 97,000 A67,000
01 Al&H| 30,000 97,000 267,000
OAMRA el2dd 30,000
405 KH&HFSHI 40,000 12,000 28,000
01 MHaEESHSHI 40,000 12,000 28,000
O&gg Ot 7| 15,000, 0002 = 1CH 15,000
Os28 X-ray 20,000,000 *1CH 20,000
(@) RIE==p] 5,000,000 1CH 5,000
HHSALH (SUAMHE X L) 417,431 386,947 30,484
ol 2HH| 398,449 368,246 30,203
olzi 2yl 398,449 368,246 30,203
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A SAANE X A

HH: HH2LAH(FLAMMEXIA)
chel: ozt oyl
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
101 el H] 383,989 354,086
01 2=+ 354,428 334,701
OZ=H 202,202
— ey 97,946
6= 2,277,930 x2H 128 54,671
= 1,803,000 »2E 123 43,275
-2 59,667
SRS 3,167,500& 1 »12& 38,010
- A AL 1,804,6703 x1E+12& 21,657
-JlsH 44,589
8= 2,017,070 x1H «12& 24,205
9= 1,698,620& x1H «12& 20,384
Oo&2=+¢ 13,883
OxzU2R=E 23,975
—AZ2te 22 23,975
OFSE R =) 30,715
s 7,680
- B Xt 40,000 x7H«12& 3,360
A EHIS 20,0003 15 122 3,600
tét= 30,0003 x2E«12& 720
I E = e = 2,568
EstW(1=X) 51,9903 4 H x43] 832
Dssw(=X0H) 433,880 1 »43] 1,736
-2 Et=s 6,360
- 2530l &f 130,000 x1H +12& 1,560
203 0] &f 110,000 x1H +12& 1,320
154801 &f 80,000 x3H 128 2,880
5801 & 50,000 x1H «12& 600
-E2R=E 4,560
48 50,0003 x6E «12& 3,600
=3 40,0003 x2H 123 960
-HRIEFEE 3,787
2B 4,554,000 *4.8%* 122 2,624
JlsA 2,018,000& *4.8%*12& 1,163
-ozgR=g 3,360
=o&g 70,0003 x4 H 123 3,360
- RY 1,920
A 80,000& x2F *12& 1,920
-Jl=d2=+H 480
g2 20,000 x1H«12& 240
JI=EESY JHaE 20,0002 1E «128 240
OFAZ A 130,000 x8H 12 12,480
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A SAANE X A
KM &
S Tt

el

CEE (S - MRAY - HAS

r

22
J2

=1
R
121

ORnE2 x| 12,360
-l 140,0008 + 12+ 128 1,680
— A} 130,000% * 12§ * 128 1,560
-6,72 130,000% +42 » 128 6,240
-820l5t 120,0008 x2Z * 128 2,880
O EEIH| 16,626, 000! *60%+23] 19,952
OJHA X &t 16,626,0002! %16. 7%+ 128 33,319
Ot &Yl 16,626,0002! /30% 102 5,542

02 JIEtE 24 29,561 19,385 10,176
OZ 240l At 29,561
-ZB224Y 5,561
-S3Y2H 400,000% +5% x 128 24,000

204 =P 43AY| 14,460 14,160 300

02 =g x| 14,460 14,160 300
Ot Rz 250,0002! * 12 122 3,000
O A} 155,000+ 124 » 128 1,860
063 15,0008 x2& * 128 3,720
o073 140,0002 x2Z * 128 3,360
SLENT 105,000 x22 » 128 2,520

=2l 18,982 18,701 281

122l 18,982 18,701 281

201 Yer2y| 5,462 5,250 212

01 AtR22It| 4,862 4,650 212
OPIEER=1] 2,090
OJlz3zl 2,772

02 BBl 600 600 0
OZZRIBLMA 600
-QH2 Y8 2502 %2001+ 128 600

202 01t 8,000 7,371 629

01 2UH0tH| 8,000 7,371 629
OJ1=20 ] 8,000

203 YRFA 3,320 3,280 40

02 HAtAYREAY| 320 280 40
OX @A R R Y| 40,0009 +8% 320

04 RASHHRFAY 3,000 3,000 0
OME X £ 250,0002! * 122 3,000

204 X4 AL| 1,800 1,800 0

NIEEEEERSETT 1,800 1,800 0
OX2F 150,0002 * 128 1,800
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SH: BAS M A
HH: HH2LAH(FLAMMEXIA)
o2l Jl=&d
SH B O (BIH) - MSAY - B 0f & S
405 AHoHESHI 400 1,000
01 XYL S SFSHI 400 1,000
OAHH 400,000& *1CH 400
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SN BRAIY A
M ERMABT
CHel: RIS M A (crel M
- _ _ ME
SA-ZH-EA(SH) - MEAD - BES Z 0Ol At o8 HDZ2
SAAIE & 2,188,084 2,106,828 81,256
= 119,572
= 53,402
& 2,015,110
SRS 840,640 701,620 139,020
= 119,572
2 53,402
[ 667,666
2 S AL 563, 147 333,883 229,264
= 119,572
= 443,575
S ML 119,572 109,346 10,226
= 119,572
101 el 24| 75,186 72,041 3,145
= 75,186
04 JItHIZ2E2ENEE S 75,186 72,041 3,145
Ogz Mo 69,232
= 69,232
O=028 D828 AHZHE 5,954
= 5,054
202 O4Hl 3,600 0 3,600
= 3,600
01 =LA bl 3,600 0 3,600
OB SFH22 Ol 3,600
= 3,600
207 A0 40,786 37,305 3,481
= 40,786
03 A&l H] 40,786 37,305 3,481
OASHLAIE 40,786
= 40,786
ATl LB 367,970 148,932 219,038
101 @l121t| 2,114 2,114 0
04 JIZtHIZ2E2ENEE S 2,114 2,114 0
OFE A2 39,8803 x1H+51& 2,034
O=0o1Z I8L8 AHEEE
2,034,000 *3.9% 80
201 Yure o] 81,856 78,440 3,416
01 AtSR22|Hl 11,880 12,880 A 1,000
Oget=8gH| 4,500
- LU M 2| 4,500
Oon =l 1,700
-Ig= 50,000& 17 850
- 23 30,0003 *17& 510
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FAN: SKAIE A
Mz SNMAE
ool AEMN (=R
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
-9 20,0003 17 340
Ogx= 5,680
-EH¥FHE 3 S X
440,000& »73 3,080
—goilE gHS FAUEI| SR
1,300,000 =23 2,600
02 32234l 69,976 65,560 4,416
OS2 2=2AAl 12,033
-HIIe3 7,450
2= 17,660 * 18kwx 122 3,815
-0EE 94.20&+2,000kw*2E 377
- 5-)sE 62.70& %5, 000kw*4 2 1,254
- HESE 66.80& %5, 000kw+6Z 2,004
-=ER3 1,477
oa=El= 1,260 +60m' 122 908
ot=ER= 7903 «60m x 128 569
—dJIEUE = 58,000& <123 696
- KNS XAl 200
SEX 70,000& *22] 140
St=S X 30,000& »23 60
-ANSIAHEE S 1,020
- SEX 380,000 *1CH+12l 380
- otE X 340,000 *1CH* 13 340
- XIHI & 150,000 «2CH*12] 300
- NESXHEAE==E 90
SEXt 40,0002 *1CH*12] 40
St= 50,0002 »1CH =13l 50
-SAsMEE = 1,100
O =l 11,833
—&At 1,053 x1062 +80 £ 8,930
-Sgd=s 1,053 *106 2 +26 £ 2,903
OAl£2 Z I Xl 38,310
—EAMAIE g2 8,800
—HAEY 675,000& 12 8,100
—ot==H A& I E2el
185,000 20 %128 4,440
-R3HE4 260,000& 128 3,120
-7 13,850
EdH 1,850, 000& »2CH 3,700
22| 250,000& *5CH 1,250
- AZXD| 550,000& *5CH 2,750
E=slgell 1,100,000 *3CH 3,300
- 01D 550,000 *3CH 1,650
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SA: ETAIA
M SXMAED
ol RIZ A AL (B9 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
XIH &t 600,0002 x2CH 1,200
Oxtes&l el 7,300
-s8x 3,900,00024 *1CH 3,900
-2 3,400,00024 *1CH 3,400
0ol 24| 500
204 FSaBAY| 15,000 15,600 AB00
03 SHALAY 15,000 15,600 AB00
oI g S| 50,0002 *25% * 122 15,000
401 AEHIL S0 211,000 39,578 71,422
01 Al 211,000 39,578 171,422
OUSE QAL X2 A 185,000
~ DA 177,747,000%1 4! 177,747
— ALAL& Y| 177,747,00024 *4.08% 7,253
OFA Bi+2 L BHHA SXIBA
26,000,00021 * 14! 26,000
405 X+aHE S| 58,000 13,200 44,800
01 XA YSEF S| 58,000 13,200 44,800
O=ttel 55,000,0002 * 1CH 55,000
OANEE H0I 3,000,002 *1CH 3,000
AZML ORI 75,605 75,605 0
101 o121l 34,584 34,584 0
04 JIZH2RNSES 34,584 34,584 0
OEDXINLIEE-T 31,904
O=0IoiZ, 1828 ATHEE2 2,680
207 ALl 41,021 41,021 0
03 A&7l 41,021 41,021 0
OZETML ABTE 41,021
CEEFON, 277,493 367,737 ~90,244
= 53,402
= 224,091
PO 87,401 96,942 ~9,541
101 Q1248 37,836 29,910 7,976
04 JAR2EISE S 37,836 29,910 7,976
OMAMZRITICH Q5 39,8802 « 198 x50 37,836
202 o1l 1,344 1,920 A576
01 2L odHl 1,344 1,920 A576
OSP3Z WEZE BNl SE42 oYl 1,344
206 T &2H| 32,200 29,240 2,960
01 M2l 32,200 29,240 2,960
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SN BIAIY A
M ZTMAES
Sl BB M (25l &2

M- B8 S2(3H) - HRAY - BaS

[
2

20
B
2

=0s =W M=

70024 %46, 00004 32,200
307 12+0I & 15,971 17,472 A1,501
02 QIABABE 15,971 17,472 A1,501
O=el WEHX RIITHIE X8
3,500 « 100 #6.. 1ha*70% 1,495
2 WESX MEHE X
11,0002 *20 X +94ha70% 14,476
EEER 109,003 190,106 ~81,103
= 53,402
= 55,601
101 @124t 53,402 50,421 2,981
= 53,402
04 JARZENSE S 53,402 50,421 2,981
og=He ol 53,402
~ b 39,8302 ¥9 2 x952 34,008
= 34,008
-3 39,880 x6% +342 8,136
= 8,136
- =2 39,8302 9 x5 1,795
= 1,795
-S4 39,8302 102 132 5,185
= 5,185
-Es 39,8801 x7 % +152 4,183
= 4,183
201 Y2 y| 6,101 9,685 £3,584
01 AtR22lt] 1,540 5, 124 £3,584
OAN&ZHI R 1,540
- AN 220,002 +73] 1,540
02 BB 4,561 4,561 0
OBZRI LAl 4,561
-ENEHEEE 4,561
405 XtarF S| 49,500 106,000 56,500
01 Ko 2E3 S| 49,500 106,000 56,500
SNHME DA E 99,0002 %500 49,500
EE PR 81,089 80,689 400
101 Q1 24H| 3,988 3,988 0
04 JARZENSE 4 3,988 3,988 0
OBZH el 39,8802 %53 202 3,988
201 Y2 | 74,601 71,001 3,600
01 AtR22lt] 4,070 4,380 A310
OYst+2H| 2,970
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FAN: SKAIE A
B EXMAET
crol B3E MM (EER-E]
M- EB - e(E) - HRAY - Ba2 shoy e
- YEtE & +=ZH| 2,970
Oon =l 1,100
-&Yg=s 50,000& 11 550
-2 30,000 11 330
-29 20,000& 11 220
02 =234l 70,531
O332=LHA 37,680
-HIIe3 30,704
JIZ2E 6,215 *180kw* 123 13,425
NE=3=d 682 *21, 175kw*12& 17,279
— XS XHAl 143
ER=PN; 70,000& *12] 70
SEt 73,000& *13] 73
-ASIHEE = 809
SEXt 201,620 = 1CH 202
SE X 606, 730 = 1CH 607
-XAX 282 187,000 *2[H 374
- B A= 25,000& *32] 75
-XEEE= 50, 000& *32] 150
—HLANEEY =2 1,300,000& *13] 1,300
- A2 OtM S Bl 38,0002 * 12 38
— 2at2el XHE gl | 48,000& *13] 48
AP REIFSHN §o K= 280,780& «128 3,370
- EHNERES () 40,000& *23] 80
- LUSRERES(AS) 288,430& * 13 289
- Xot=&dME 300,000 *13! 300
Ozl 10,976
- SEEHZ 1,0473 1202 %25 4 3,141
- EE A (HAL 1,053 x 120 +62 £ 7,835
OAl & EHIs Xl 12,575
- A& S Xl 6,795
SES 1,600&+3,700m’ 5,920
M 1,600& «546.41m 875
-—S833A4H| 400
SH8HIHEA 400,000& *13 400
- ZotEEA 400,000& =13 400
- EUHAEE s 200,000 *3CH 600
-—HIISXMeEY 1,000,000& 1,000
-0 EH 190,000 «12& 2,280
— ZHHI = Al ] 1,100
- XIAXE 500,000& 2CH 1,000
< &I 100,000& *1CH 100
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SN
X XH .
S Tt

¢°e: 2

M- BB Sl (B) - HIRAY - Ba S sk oy S 2
Ofl &4 4

(OPE=Ful= =] 8,800

-sSEX 3,900,000 = 1CH 3,900

- SEX 4,900,000 = 1CH 4,900

(OIF=3.] 500,000& 500
206 M=l 2,500 2,500 0
01 Mzl 2,500 2,500 0

OEEZH 2BF 2,500
HY 2L ZH(BAAIE L) 1,347,444 1,405,208 ADB7,764
QIR A 1,234,588 1,320,518 85,930
A2 A 1,234,588 1,320,518 A 85,930
101 1 ZH| 1,187,068 1,269,278 A82,210
01 = 1,187,068 1,269,278 282,210

oJ12a 714,121

— e 312,691

42 (ASH) 5,477,810 12 «122 65,734

gT=) 3,113,060 x2H 128 74,714

6= 2,366,850 x4 H 128 113,609

= 1,686,850& x2H «12& 40,485

=) 1,512,380@ 12+ 123 18,149

- 86,607

< AL 2,405,730& *3E x12& 86,607

-JIs& 314,823

= 2,207,100 x1H «12& 26,486

8= 1,914,920 x10H 123 229,791

- 98 1,305,3403 x2H 123 31,329

102 1,134,020& x2E «12& 27,217

SLEPR 52,785

Oz 42,915

—AZ2te22E 42,915

(OFSELES) 99,716

s 21,120

- B2 Xt 40,0003 x22E «12& 10,560

- HAIEHIS 20,0003 »44H x 123 10,560

- NEHSHHIE 2 12,960

EE Q=N 51,990 3% »43] 624

EstW (22X 51,1702 »2H x4 3| 410

== ImAQ=PN 433,880& 6% *43] 10,414

nssm(2 377,790%1E 43| 1,512

- dI2Eoets 28,320

25501 & 130,000& 6 123 9,360

20~25= 0| et 110,000& x6H 12 7,920
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+ 15~2011 0 Bt 80,0002 x4 128 3,840
- 10~15 0 2 60,0002 x5 * 122 3,600
- 5~1010/ 9 50,0002 6% +122 3,600
-dgaeay 14,640
IR 50,0002 * 102 122 6,000
e 40,0008+ 18 * 122 8,640
—HeTeeLY 13,316
stz 2,207, 0002 <4.8%+122 1,272
ol 5,212,0002! +4. 8%+ 122 3,003
IR 15,695, 00021 #4. 8+ 122 9,041
—JlgnEay 5,280
53 50,0008 *3% + 122 1,800
672 30,0002 «32 128 1,080
8~02 20,0002 * 102 1224 2,400
—JlERRAgIIE 1,200
LA 30,0008 %22 + 122 720
S 20,0008 %22 + 122 480
-l Ly 2,880
PN ze 80,0002 *3% +122 2,880
OFUZ Al 130,0009! x28% * 122 43,680
Ons= x| 40,560
-53 140,002 x2 2 » 122 3,360
~6-73 130,0002 102 * 122 15,600
-8-93 120,0002! % 15% * 122 21,600
OYEFIH| 54,302, 00021 *60%+23] 65, 163
Ot X &bl 54,302,000 #16. 7%+ 122 108,822
Oeiot2 At 19,306
- o= 5,477,000 %66%+1/30% 102 1,205
=-EL 54,302, 0002 *1/30+ 102 18,101
204 ESAsAL| 47,520 51,240 A3,720
02 X2 x| 47,520 51,240 A3,720
043 400,0009! %1+ 122 4,800
053 2500009 *22 128 6,000
063 155,0002 72 » 122 13,020
o072 140,0002 x3 * 122 5,040
0892 105,00091 *13% * 122 16,380
0102 95,0002 x22 128 2,280
|22 112,856 84,690 28, 166
I AL (S X444 97,439 67,392 30,047
201 Yereo| 26, 183 27,785 A1,602
01 AtR22lt] 26,083 27,685 A1,602
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OJ12+8H| 3,370
OJ12= 2l 4,463
Oo2g=¢ 18,250
- =4y 18,250

02 2223H| 100 100 0
O3 LA 100
—-REYSE 100

202 (4 HI 17,726 20,007 A2,281

01 =Wl 17,726 20,007 A2,281
OJl= 0 17,726

203 HRF&H| 11,330 11,700 A370

01 JI22IHRF&HI 2,970 3,300 A 330
(OFE P, 2,970

02 HANMMPRF=EHI 1,160 1,200 A40
OZ 2 AL & & | 40,0003 x29% 1,160

04 FN2ILRFAHI 7,200 7,200 0
(OF=PAL P 350,000& «12& 4,200
OsE= 250,000& «12& 3,000

204 MR AH| 7,200 7,200 0

01 Mg HPHAH| 7,200 7,200 0
(OF~F 400,0003 x1ZE*12& 4,800
O 100,000& x2F 123 2,400

405 KH&HFSHI 35,000 700 34,300

01 XL SEFSHI 35,000 700 34,300
ozsxeg M= 35,000,000 = 1CH 35,000

J2ZH(BRES) 15,417 17,298 A 1,881

201 Letd| 5,143 5,715 ABT2

01 AFR 22l 4,543 5,115 ABT2
OJl==8Hl 1,950
OJl=sEl 2,593

02 3224l 600 600 0
O332=aLHA 600
- RUSLSH 600

202 O4Hl 10,274 11,583 21,309

01 =Wl 10,274 11,583 A 1,309
OJlI=0 10,274
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L= 3,188,355
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= 3,078,472
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201 LetIH| 424,258 436,268 A12,010
01 At 600 600 0
O fgu=Hl 600
Pl E R I e B
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~USAA o AYOIEBAI AR DY
150,000 «2H 13| 300
02 ZE=234l 423,658 435,668 212,010
Ozs32= % HAl 170,380
-&Jlz 145,600
HIANE HEe3 2,000, 000& *13] 2,000
SAIEIIEAM =2 150,000& =13 150
—HASIIFIIZEAM==2 250,000 +2CH*12] 500
-4YSIEER 25,0003 »2CH =13 50
-2 FIIFEA==E 150,000 «20H 13l 300
— A YOotME 3| | 150,000& 23] 300
—dDJ|otM 22| E sl 150,000& 23] 300
=P AL == 900, 000& »23| 1,800
- AsIEER 4,000
tessg 1,000,000 *1CH 1,000
En=geld 600, 000 *1CH 600
- HESE 700,000& +2CH 1,400
ESXHS ML) 500,000& +2CH 1,000
— XS XHA 700
-HEsE 320,000 *1CH 320
A= = 120,000& = 1CH 120
yEss 30,0002 <20} 60
S=XHE ML) 100, 000& +2CH 200
— A E 2,000
- 0lsA otEA 480
el AlE 1,520
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- A S| 6,000
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Ozl 82,218
-2 HHE2dYy
1,4033 100 %18 £ *6Al 2t 15,153
~2YS HEERY?
1,403 *100 %39 £ *6Al 2t 32,831
—B0Q 1,403 «100 *4 £ »10Al 2t 5,612
-Hlasgd) 1,403 »32 %800 ¢ 3,368
-285% 1,403 +1002 *30 £ *6Al 2t 25,254
OA& & HI= Xl 140,700
- 2= Rl 40,739
- APAIEE R 2,000,000 * 14| 2,000
-2cls 22d M2 2,000,000 »2CH 4,000
—HSI| M2 9,350
- Aot =2 =8 L KX
2,000, 00021 57 A 10,000
~IA DHEDT 4+4 28X
100,000& =60CH 6,000
—-JIEEX =& # ] 6,600
-2=XNaAE s 2 17,500
-8 SxAME =8 2 KA 2,250
-0E Hi=&4 =& % KX 3,500
-ANEE2 RA==2 12,600
-39 SANE(ESI L, 8HE) =4 L 2X
] 8,000
-S4 ¥ &II=X 13,894
—-stEe =8 & FRA 4,267
OXtgr - et 30,360
-ese 8,500,000 *1CH 8,500
-HESE 3,500,000 »2CH 7,000
- A28 = 3,300,000 *1CH 3,300
- S=XHE MR 5,780,000& =2H 11,560
204 A= HH| 10,800 11,400 A600
03 SZYR3EHI 10,800 11,400 A 600
ol g =yl 50,000 x 18~ 122 10,800
206 M=l 21,100 21,100 0
01 X2 H| 21,100 21,100 0
O & FIIAIL XTHHI 21,100
401 AIEHIZ 208 280,000 60,000 220,000
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el JIBHE S ALY EER:E]
_ _ _ Muo
SN FB - S2A(3) - MEAY - BES AroH i HRE2

< 750,000

401 Al&HI L2 1,500,000 1,500,000 0
2 750,000
= 750,000

01 Al&H 1,494,600 1,494,600 0
OHSHAANSSZ SR 1,494,600
2 747,300
[ 747,300

03 Al &= CH| 5,400 5,400 0
OUERAAIRE 2 = 5,400
= 2,700
= 2,700

U FRESAY 189,257 85,102 104,155
= 79,374
[ 109,883

=1 RI| A 93,200 13,822 79,378
= 46,600
[ 46,600

401 Al&HI L2 13,200 13,822 N622
= 6,600
[ 6,600

01 Al&H 12,936 13,546 A610
O£} ALY 12,936
= 6,468
[ 6,468

03 Al&S0Hb 264 276 A2
O£} At 264
= 132
[ 132

405 TtokE S| 80,000 0 80,000
= 40,000
= 40,000

01 HAYSEF S| 80,000 0 80,000
oY= 7Y 80,000
= 40,000
[ 40,000

AR ALY 26,450 68,800 42,350
= 10,580
[ 15,870

201 Ler29y| 7,450 4,800 2,650
= 2,980
= 4,470

01 At 2,450 4,800 A2,350
OUEEAK 28= 400,000 *5%¢ 2,000
= 800
[ 1,200
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_ _ - MEg
NS H2A(SH) - MRAY - BES algel ‘Oﬂ/i\_Fo” Hws2
(@E=I 3N 4,500 *100 £ 450
= 180
& 270
02 =323l 5,000 0 5,000
OAl & &I XYl 0
—MERAZAIDHSHF K ES)
5,000,000 *1IH 2 5,000
= 2,000
& 3,000
405 K&t =SH| 19,000 50,000 231,000
= 7,600
& 11,400
01 A& ESEHSHI 19,000 50,000 A 31,000
O el & St &I 500,000& = 10K E 5,000
= 2,000
& 3,000
OJIH G Ar2XS AlAE 3,500,0002 *4CH 14,000
= 5,600
& 8,400
MSHHE DHAS 5,960 2,480 3,480
= 3,100
= 2,860
401 AIEHIZ2Hb| 5,960 2,480 3,480
= 3,100
< 2,860
01 Al&dl 5,960 2,480 3,480
=102l YH A 5,960
= 3,100
& 2,860
U SAZFHAS 63,647 0 63,647
= 19,094
& 44,553
401 AIEHIZLROb] 63,647 0 63,647
= 19,094
= 44,553
01 Al&dl 63, 106 0 63,106
Os4&Z HHIALY 63, 106
— & A& A 3,068
= 920
& 2,148
— Al &l 60,038
= 18,012
= 42,026
03 A&yl 541 0 541
OsS&tz HUlAY 541
= 162
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SNBSS - MBAY - BES 0 & 24 e {imE=Eh

| | | S 379
HY 2 LU (FEH22lAIE L) 1,677,667 1,546,319 131,348
QI =& 1,603,893 1,471,543 132,350
el 2| 1,603,893 1,471,543 132,350
101 1A H] 1,564,833 1,431,223 133,610
01 E= 974,356 976,781 N2,425

SR 62, 183

= 5,181,860 x 12«12 62,183

OF=F=)\| 491,030

— QoA 265,841

= 3,090,570& x2H 128 74,174

6= 2,366,850 x3H x 128 85,207

= 1,558,420& 3 122 56,104

= 1,398, 7703 x3H « 123 50,356

-JIs3 225,189

Va= 2,170,310& x6H x 12 156,263

- 8= 1,914,600& 32+ 123 68,926

odz2+¢ 38,639

Oxl2f=H 101,925

—AN2RAZ2RE 58,268

-FL2RH 43,657,000 43,657

(OFSRLESSS) 71,213

A= 18,720

S BN, 40,0002 x 18 x 12 8,640

HHEHI S 20,0002 x36H « 122 8,640

b3 30,0003 «4H «12& 1,440

U E [N =, 14,924

EstW(1=X) 1,040

nsstw(1=x) 13,884

- d2=Eometa 20,640

25401 &t 130,000& «3H 123 4,680

20~254 0] et 110,000& »7H 123 9,240

- 15~20& 0] et 80,000& x3F 12 2,880

10~15= 0 et 60,0003 x2H x 128 1,440

- 5~10= 0] 8t 50,000& »4H 128 2,400

-REg22+E 2,760

43 50,0003 «3F 128 1,800

=3 40,000 x2H «12& 960

-Jlsd=2=H 4,920

520! &f 50,000& x1H *128 600

6~72 30,0002 x8H 128 2,880
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=Eak Eez;gtn T (el &
SA - HB S (30) - NRAY - Ba S 0fl &t e HIDE

- 892 20,000 x6H *12& 1,440
-JI=38EI3 2,280
LA 30,000 x5 *12& 1,800
AH DAL 20,0002 1 ~122 240
2, 2YH 20,0003 «1& 128 240
-esfEsd 6,057,000& 6,057
= Ry 38,000 x2H*12& 912
OdAz=AHI 130,000& »21H *12& 32,760
OuS=2 2| 30,720
—gey 17,040
55 140,000 »2H 128 3,360
6~7= 130,000& 6E «12& 9,360
- 8~9= 120,000& »3E x12& 4,320
-JIsA 13,680
s 130,000 x6H »12& 9,360
- 8~108 120,000% x3E *12& 4,320
OB &= 0tYI 40,919,000& *120% 49,103
OIHAXI 2 Bl 40,919,000& *16. 7%* 12 82,002
OHItE 24l 14,781
- S Kl 5,182,000 x66%+1/30+ 10 1,141
o= 40,919,000& %1/30%10& 13,640
02 JIetX 2= 418,597
OAHH 62,434
-Jles 4,030,000 x1H*12& 48,360
-Zh22E 7,090
N2eI2 ¢ 3,192
s5L2P+< 3,898
- agAadl 130,000& 18« 12& 1,560
—-ItEd 40,000 x1E+12& 480
— G2 4| 4,030,000& *1/30=10 1,344
-2 g2 4| 250,000 x1E * 128 3,000
-ere sy 50,0002 1« 12& 600
OF<E=F=5=¢ 356, 163
-JI228 181,164
gz 1,607,000& »8E x12& 154,272
MEESMII 2,241,000 x 18128 26,892
-d2=¢ 13,587
gz 11,570
MEES M 2,017
-5 7,680
- i A 40,000 x7H*12& 3,360
A =8 = 20,0002 x15H 122 3,600
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HE2gHl

CHZElAr &)

N8 S9(3) - HRAY - B2 sy e 52

JHeb= 30,0003 x2H 122 720
I E R [N =y 12,773
=g 51,9903 3 »43] 624
nsstu 433,880 7 «43] 12,149
- Zh22E 32,021
AN2Zte 224 16,957
Ort2 2+ 12,346
sL22E 2,718
- EENLE(XH) 30,000 x1H*12& 360
-d2=g01t= 6,960
254 0] &t 130,000& »1E 123 1,560
15501 &t 80,000& x3F 12 2,880
10801 &f 60,000& x1H 128 720
- 53014 50,0003 x3H 128 1,800
- d MG A 130,000& 9 « 123 14,040
—wsE = 120,000& 9 « 12 12,960
— It E 4] 15,097,000 *1/30%10 5,033
—Helssgl 50,000& x9H x 128 5,400
- A2 2| 105,000& 9 122 11,340
- FEF 0| 15,097,000& »60%*23! 18,117
— JtAHIXI &l 15,097,000 *16. 7%+ 12& 30,255
-HERE= 344,014,000 *1.3% 4,473

03 RIIHAZZANE S 171,880 96,418 75,462
OHd=?R& 160,064
-2 34,2603 253 «7H 60,675
-—a0= 60,675,000 /128 *400% 20,225
-¥l2s=4 60,675,000 *10% 6,068
—AZ2t2lE 6,480 *15A1 2tx 128 +7H 8,165
—AXt= 34,2603 x 15 +7H 3,598
-F5=d 34,2603 104 «7H 24,942
-5d22E 51,3903 30 «7H 10,792
- HEFOtd| 5,057,000 60%+*22 6,069
— W SHl 100,000& 128 +7& 8,400
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=) = 52,000& *43] 208
- SZMHRES 1,000,000& *23] 2,000
- MRA &Iz 2,985
2= 5,790& x8kw* 12 556
HEE 98.10& +3,000kw+2 & 589
=, =& 65.403 *2, 700kw+6 & 1,060
HEE 72.203 %2, 700kw*4 & 780
- 20X &Ie= 39,797
ez 1,070& »300kw* 12 3,852
MEZ 36.43 %82, 290kwx 12& 35,945
- OrEE AIEE 595
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SN
X XH .
S Tt

el

TESCI RS
48t 2axe x4

ES0HFE NEEH

S HE - S(EH) - NRAY - BES sk oy e
2= 39.43 «Bkw+12& 4
Arg= (J1EH 29.43%1,200kw*8& 283
ANEE (H2E) 34.9% %2, 200kw*42 308
- AR =223 2,460
ez 25,000 123 300
ANEZ 600 «300E+12& 2,160
- 22 == 258
eag 1,080& *12& 13
NE=3=4 5102 ~40E+12& 245
—HIItHAN =2 220,000& «123] 2,640
~YUAESARALLAN 222
350,000& *12] 350
—MEdIdel === 300,000 =43 1,200
Ozl 55,684
- MERA E ARS 1,5093 » 180! 550 14,940
- AosEAA 71,5093 » 150! *30L 6,791
- Acts 1,509& » 150 150L 33,953
OA & EHIs Xl 27,146
- EMNHE RUES 3,922 x749m’ 2,938
- HEHAIY RANE> 3,000 *336m’ 1,008
- OB HEAY RAEs 2,000& *x720m* 1,440
- NtAEE FXE* 3,000& *360m* 1,080
- =& ZHS XL 2,200,000 *4CH 8,800
- B22 7X| 120,000& «9CH 1,080
- E2J| =247 |X| 300,000& +2CH 600
- BgefM2 ¥ HIISXC
1,400,000& * 13l 1,400
- =352H =clbl 100,000& «10CH 1,000
- Ex22 RAES 18,000 *150m 2,700
- A =843 1,700,000& =32l 5,100
OXtee gth| 3,500,000& = 1CH 3,500
204 XA 6,600
03 EZYREHI 6,600
Ouerg sl 50,0003 *11E«12& 6,600
E30lE M4 uE 54,050
2 43,240
L= 10,810
101 o124t 14,000
= 11,200
= 2,800
04 JIZHMIZ2XESE =+ 14,000
OESUHFEXHMA EX0S
39,880 x2H 155 12,363
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SN AR R
HE: f40 2R T4
=P

el ESOHR MNEEN

SA - HE . CR(B]H) - NBEAIY - HA2 Al OH dEE =}
. cSH I T2 ° . [= B il = =5 0:”/‘l|_% ==
= 9,890
& 2,473
O30z, IEEE MAMEE HLEE 1,637
= 1,310
= 327
201 LBt 7,775 6,726 1,049
= 6,220
& 1,555
02 =323l 7,775 6,726 1,049
O¢Z | 7,775
-&0 ¥ xo2eld 7,775
= 6,220
& 1,555
202 ¢4 H| 8,350 6,412 1,938
= 6,680
& 1,670
01 =W 8,350 6,412 1,938
OESUHE XHEF L A 8,350
= 6,680
& 1,670
207 AN 23,925 20,519 3,406
= 19,140
& 4,785
03 Al AR 23,925 20,519 3,406
OEZSHE XM 2 Y BF 23,925
= 19,140
& 4,785
QIENI|IHAIZ 2 20,090 18,732 1,358
101 14| 10,090 8,732 1,358
04 JIZtMZ22XSE =+ 10,090 8,732 1,358
OI=ZNJI&8AIZ &2201 39 9,173
O=0¢z, 1258 MHEE, 917
207 A0 | 10,000 10,000 0
03 Al AP 10,000 10,000 0
ORISNJIHAI2 2F 10,000
ESUHE & B& ¥ EH=2d 10,000 0 10,000
207 AN Y| 10,000 0 10,000
03 Al AP 10,000 0 10,000
OESHE 8 B Y =0 & 10,000
DADAIE X B A 266,000 0 266,000
& 213,000
& 53,000
401 A &HIL 2048 266,000 0 266,000




SN AR R

HE: 20 SR T4
(=]

Hel: ES0IE NABH (ctol: @
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
2 213,000
= 53,000
01 Al 261,665 0 261,665
ODACI DAL SR BA 261,665
— & A& b 266,000,000+6. 5% 17,290
= 13,832
= 3,458
L 244,375
2 195,700
= 48,675
02 22l 4,335 0 4,335
ODNYUUBIAIL HX BA 4,335
z 3,468
< 867
UOIK TP EI ZA 40,000 0 40,000
401 Al&ZHI 220 40,000 0 40,000
01 Al 40,000 0 40,000
OYOIX F¢t ZH BA 40,000
S APQEAL Jf 15,000 10,000 5,000
FAN EXH HO B 5,000 10,000 A5,000
207 S Rop | 5,000 10,000 25,000
03 Al el 5,000 10,000 A5,000
OYAlp XN &0l B4 5,000
DEIIX MBS Y40 Al Dz 10,000 0 10,000
207 S1Rop | 10,000 0 10,000
03 Al& o7l 10,000 0 10,000
ODEINA AEE U0 24 I 10,000
OHMB A2 MM BT 241,372 295,496 ~54,124
= 39,500
[ 201,872
siEgped 29 74,838 74,584 254
101 QI2AH| 9,838 9,584 254
04 JIAM2EXS B2 9,838 9,584 254
O4EY Belols 39,8802 * 124 x2252 8,973
O20I03, 1828 AHREE 865
201 ety 5,000 5,000 0
02 2=l 5,000 5,000 0
OASEHI KNI 5,000
-2MEH S 24X 5,000
207 1 Rop | 60,000 60,000 0
03 Al& o7l 60,000 60,000 0
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}\_I X~ xH C|—O|(:|j;”) }\.“bl}\l,o-l A2 AFOH I|_‘|LI;=|_|‘:_ HleDF
S EEEREETNE
100,000& *50F * 104 50,000
OXNEgAE 50,000 *20& 104 10,000
A2 29 87,534 76,912 10,622
101 21 H| 8,534 5,112 3,422
04 JIZtMZ22XSE =+ 8,534 5,112 3,422
O==&Zz4&4 2l 39,880 1200 7,976
O=0gz, 1228 MHEER 558
201 Yot y) 19,000 16,000 3,000
02 E&E=23H4l 19,000 16,000 3,000
O AM&&EHl |l 19,000
- Z&EHR0 EHuE
1,000,000& *1CH*53] 5,000
-=24EH RAE= 150, 0002 *20CH =33 9,000
—AZ0tE0cHI 28 wset
1,000,000& *1CH*53] 5,000
207 ALK H| 60,000 55,800 4,200
03 Al AT 60,000 55,800 4,200
O =ZE44 ANgHF 217,500& 2005 43,500
O =4tE St H AL 75,000& 22021 16,500
MNESSHSIHEHA 79,000 0 79,000
= 39,500
= 39,500
201 LBt 3| 13,000 0 13,000
= 6,500
& 6,500
03 A2 13,000 0 13,000
OsttsSaY $9us 13,000
= 6,500
& 6,500
202 O4Hl 4,900 0 4,900
= 2,450
= 2,450
01 =LA bl 4,900 0 4,900
OdtsS2YH Ast XA 50,0003 7 *143] 4,900
= 2,450
= 2,450
207 AN 13,100 0 13,100
= 6,550
& 6,550
03 Al A THI 13,100 0 13,100
OgdszE & 257 13,100
= 6,550
& 6,550

- 218 -




SA USBARA
HE: a0 2ARE
_J': Al

cHel: ObF B

N EE - SI(3) - HEAY - BES sk e 2

405 XtobE SHI 48,000 48,000

2 24,000

< 24,000
01 XL S SFSHI 48,000 48,000

OR&EL A== 48,000,000 = 1CH 48,000

= 24,000

= 24,000
HE2IZH (AR A) 581,818 A9,289
el | 534,584 A9,127
ol 2oy 534,584 A9, 127
101 el 513,464 N8,527
01 B 513,464 A8,527

OZ=H 288,638

— ey 170,204

gT=) 2,987,780 x1H «12& 35,854

= 2,582,510 x2H «12& 61,981

= 1,746,340 »2E 123 41,913

= 1,456,5803 x1H 123 17,479

= 1,081,370& x1E«12& 12,977

- 76,925

- A 2,136,780 x3H 128 76,925

-JIs& 41,509

= 2,206,880 x1H «12& 26,483

9= 1,252, 1603 x1E 123 15,026

Oo&2=+¢ 23,009

—54&0|et 1,081,000 *20%*23] 433

-9 Oj et 1,252,000 *40%+*23] 1,002

—10&0l¢et 1,456, 000& *45%+23] 1,311

— 1080l & 20,263, 000& *50%*23] 20,263

Oxzu2R=E 35,988

— A2 222 35,988

(OFSEL R, 43,544

- &g 11,280

- B Xt 40,0002 x 11~ 123 5,280

A EHIS 20,000& x25H «12& 6,000

I E e [N = 3,680

=st 51,9903 1 »43] 208

nsstn 433,880 2 x43] 3,472

S R=tol= I 10,440

253 0| & 130,000& »2H 123 3,120

- 20801 & 110,000& x1H + 122 1,320
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SH: SBARA
Ha: HNSYAY (HEBARL)
chel: ol 2| (e
RA B SA(BH) - NRAY - B 01 e HRE2
- 1501 & 80,0002 %23 +122 1,920
- 1001 & 60,0008 *4% +12% 2,880
5110] & 50,0008 %22 *122 1,200
-fgaesy 4,560
IE 50,0008 %2 +122 1,200
=E= 40,0002 %7% +122 3,360
—HRTRALY 6,504
SRR 4,983,000 *4 8%+ 122 2,874
o1 4,170,000 %4 8%+ 1224 2,402
SSIEES 2,131,0002 +4.8%+ 122 1,228
—JlERRaY 3,360
53 50,0002 %1% +122 600
672 30,0008 *4% +122 1,440
8~02 20,0002 *3% +122 720
XIS A 50,0009 * 124 +122 600
—olERRAgINE 840
S IIAF 30,0008 * 12 +122 360
AFR1D| AF 20,0002 %2 *122 480
—pRgeay 2,880
o1 80,000 *32 *122 2,880
OFZ Al 130,0009! 122 +122 8,720
SIn=LES 18,480
-53 140,00021 1% * 122 1,680
~6-73 130, 0002 %424 122 6,240
-8-93 120,0009 x2 * 122 2,880
— P AL 130, 00021 +38] 124 4,680
-0Is73 130,0002 *12 128 1,560
-J1s93 120,00021 1 * 122 1,440
OYREEIH| 24,053, 0002 *60%+23] 28,864
O &bl 24,053,002 *16. 7%+ 122 48,203
OI=BIERNE 24,053,000 /30% 102 8,018
204 LA AY| 21,120 21,720 A600
02 HZEZY| 21,120 21,720 600
052 25000021 *12 x 128 3,000
062 155, 00021 x2 * 122 3,720
ora 140,0002! %224 122 3,360
08-93 105,009 x2 * 122 2,520
OGP A} 55,0002 *38] 1224 5,580
021573 140, 00021 *12 128 1,680
071593 105,0002 %124 » 122 1,260
o= 47,234 47,39% A162
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SN
X XH .

4

8J
&)
3

45
&0
8J 80
Tl o0H
3t RO

= =z

10

o =

oF
R’

ok
ol

=)
R0
il

~

el

e

n0

KIo

Bl w

N 162
A 126
N126

636
ANB36

LH3r
m<l
Rk

47,396
29,480
29,480

12,636
12,636
3,480
480

3,000

1,800
1,800

=
o

s

<J

47,234
29,354
29,354

2,280
24,050
18,250

5,800

3,024
12,000
12,000
12,000
3,480
480
480
3,000

3,000

1,800
1,800
1,800

=2

3652

o
[uins

2l 1

50,000
50,000

cltl

t

01 At

o
=

[uins

F*1H 116

[mz]
=]

12

o
[uind

2| %

e

40,000

=LH0dbl
O Jl=0 4l

02 HaJtat

01

202 O

Kl
Kt
-
al
30
OH

I+

<
&l

pud

(w]

<

250,000 «128

R0

=
10!

-
o+
ol
i
wl
Rr

600
600

600
600
600

2 +108
210y
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SA HSBARA GRXA
HH: U0 SATREL
&?H? ESHFENRAEN (ctel: &
SN HB G (BH) - MRAY - BES e Hlm= 2
HeHARL H2X A 571,302 473,377 97,925
2 50,000
= 30,000
& 491,302
= &I S 233,317 226,707 6,610
= 50,000
= 30,000
= 153,317
SHEANEH 102, 181 111,595 AN9,414
= 30,000
& 72,181
UHWaeHARALYREXNARY 58,687 54,558 4,129
201 L3y 51,537 52,158 2621
01 AFR 22| 3,400 4,160 AT60
Ogr=ZH| 2,700
—YptF a2 2,700
o1l =l 700
—-HFAEHEH= 100,000& *7Y 700
02 22234l 48,137 47,998 139
O332= & AMA 37,067
— Xt= XHAl 630, 0002 *1CH 630
- LA ESESEEE= 630, 0002 *1CH 630
- XEEAL Y BEE 60,000& x13] 60
- A YOtME S 36,000& x12l 36
—gotae| At 9l gl 48,000* 12l 48
=) = 52,000%23] 104
—EZNERES 1,000,000%23] 2,000
—AIRAHI= 8,492
2z 6,660 *60kwx 122 4,796
-HEZE 94.70& x4, 000kw*2 & 758
=l —F-~! 61.60& x3,500kw*63 1,294
- AHASE 68.50& *6,000kw*4 3 1,644
—2dHAHII2S 20,581
JleEz 1,070& +72kw 123 925
CAEZ 36.40& x45,000kwx 12& 19,656
- &It E A2 220,000& *122] 2,640
- MHDIMels==2 300,000& x43] 1,200
-TVedgsa 33,000+ 12& 396
—-uYs= 2502 *1,00004 250
OAl &&= Xl 7,570
- JIAHA 3,000& x130m* 390
RN EINLs] 200,000& »4CH 800
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SN
X XH .
S Tt

oLk

L&
L=t

s RN

=
T
SRR EH

ESHEOHALZA

S A -

e . o9l(3) - HRAY - BaS

22
J2

=1
R
121

-B2%42 XYl 120,000 =4 CH 480
—-Z2II8XH| 300,000 = 1CH 300
-2 fA2 & HII=SXHalbl
1,500,000 *13] 1,500
- >=ZZEH%2H 100, 0002 *2CH 200
- EANH=E=EL 750,000& *23| 1,500
-0 FHIAIAEOIER 200,000 =12& 2,400
OXt& gt| 3,500
-s2838 3,500,000 *1CH 3,500
204 HPHAH| 3,600 2,400 1,200
03 SHIRZH| 3,600 2,400 1,200
Ol &=l 50,0003 x6H «12& 3,600
405 RHabE SHI 3,550 0 3,550
01 XY SFFHSHI 3,550 0 3,550
O0lH DI 350, 0002 *1CH 350
Ostdmal 3,200,0002 = 1CH 3,200
ESHFMHATF 37,500 22,216 15,284
2 30,000
= 7,500
101 el H] 8,062 4,275 3,787
2 6,450
L= 1,612
04 JIZtMIZ22XSE 8,062 4,275 3,787
OEZTHEXIO A 39,880 *1H 180 7,179
2 5,743
L= 1,436
O=30ldz, ng88d 4 HA2(HI)EE 883
2 707
== 176
201 L3y 4,814 0 4,814
2 3,851
= 963
02 Z==2ZHl 4,814 0 4,814
(@)N=4] 4,814
-EMUE &N 4,814
2 3,851
= 963
202 0OfHl 6,000 4,200 1,800
=z 4,800
== 1,200
01 2l 6,000 4,200 1,800
OEBHEXAHEY 6,000
2 4,800
L= 1,200
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A YSBORL SR
I‘IiH: [_H_'_Cﬂ #&X}Q 2| XA

[un iy )

Hel: ESHFEANEEN (ehel: =3
~ _ HdE T =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot HusZ
207 A 1OH | 18,624 13,741 4,883
= 14,899
= 3,725
03 A&l +1H] 18,624 13,741 4,883
OESHE Xods & &= 18,624
= 14,899
< 3,725
2K AlE kA 5,994 0 5,994
101 1A H] 1,994 0 1,994
04 JIZtHZE2NSE=> 1,994 0 1,994
OZX AL HRE X 39,880 x1H *442 1,755
O=0d32, D888 AHEE, 42 (HI])2E 239
207 SO0 | 4,000 0 4,000
03 AlE &+l 4,000 0 4,000
OZX AlE A 4,000
=otFADN Y 131,136 115,112 16,024
= 50,000
< 81,136
SS3UHMSOoE et darg 12,136 12,112 24
101 Q1A H] 5,136 5112 24
04 JIZAHZZ2NHESE= 5,136 5112 24
O=SS3ASH Lt A ELTRIL
39,8803 x 1113 4,507
O=0Zz NEEE MUHEE AL (HI)EE 629
207 SO0 2H| 7,000 7,000 0
03 A&l +H] 7,000 7,000 0
O=S3HHSOo Lt dtA 7,000
HOAJIES0Is3H HE=E 3,000 3,000 0
207 A 1OHEH| 3,000 3,000 0
03 A&+l 3,000 3,000 0
OdGIIE= 0l=3H HEA=E 3,000
ESSEESS RI8 0l RctA X044 100,000 100,000 0
= 50,000
< 50,000
101 el 24| 23,928 23,928 0
= 11,964
< 11,964
04 JIZHMIZE2XSE = 23,928 23,928 0
OO0l RctX X AtE2 R0
39,8803 x2H 300 23,928
= 11,964
< 11,964
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SHT UASRA GRXA
HE: 20 SMTRES

CHOl: 4 ARQFADH g

SNBSS - MEAY - BES

[
2

20
B
2

201 LBty 25,366 25,266 100
2 12,683
= 12,683
02 2229 25,366 25,266 100
oelzH| 25,366
~0IR2X XIOJMA 284X o2 25,366
2 12,683
= 12,683
202 OiH] 2,000 0 2,000
2 1,000
= 1,000
01 =LHoit 2,000 0 2,000
OUAI &R & 2,000
2 1,000
= 1,000
207 ORI 28,706 22,002 6,704
2 14,353
= 14,353
03 AlE | 28,706 22,002 6,704
OEZZQ 232 s 0IR2HXXI0f A 28,706
2 14,353
= 14,353
405 XH&HE S| 20,000 28,804 A8,804
2 10,000
= 10,000
01 MAMLSES S| 20,000 28,804 A8,804
Oglm2 Mg 4,500,0008! 1% 4,500
2 2,250
= 2,250
OngyR| 3,000,000 *1CH 3,000
2 1,500
= 1,500
o2 x| 6,500,000 *1CH 6,500
2 3,250
= 3,250
OX 22| 4,500,0002 *1CH 4,500
2 2,250
= 2,250
OAlStER WX D 800,000 *1CH 800
2 400
= 400
OZLE DO LH2tE2|d| 700,000 * 14! 700
2 350
= 350
R 20 AlE LA 4,000 0 4,000
207 o RIf | 4,000 0 4,000
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SN

AR A ERXA

B a0 2ATREY
CHl A AN R
SN I SRI(S) - NRAY - B sk e 2t

03 A&l H] 4,000 4,000

OUZEE 20 Alg A 4,000
LA XA XS A 12,000 12,000
401 Al&HI LR OHYI 12,000 12,000
01 Al&HI 12,000 12,000

OA+=ZTHEXSA 12,000,000& 14! 12,000
HY2GZH (H=>HARA X 4) 337,985 91,315
I 2 317,611 90, 139
ol 2| 317,611 90, 139
101 Q14| 306, 151 87,019
01 = 306, 151 87,019

Og=H 173,002

— YA 129,465

=) 2,612,150 «2E 128 62,692

= 2,241,4603 x2H »12& 53,796

- 93 1,081,370& x1E+12& 12,977

- 27,268

< A 2,272,260 x1H «12& 27,268

-JIsA 16,269

9= 1,355,6803 x1H 123 16,269

O3z2=¢ 13,770

—10E 0| & 13,337,000 *50%+*23] 13,337

—430] & 1,081, 000& x20%*23] 433

Oxl2f=¢ 19,715

—AZ2tels4 19,715

(OF<ELECIS) 27,062

-EE 4,680

- B Xt 40,0003 x5 x12& 2,400

A EHIS 20,000 x8H 128 1,920

PR 30,000 x1H«12& 360

U E e [N =y 3,888

=5t 51,9903 »2H »43] 416

nsstu 433,880%2F 43| 3,472

- d2=Eoets 7,800

25501 & 130,000 «1H «12& 1,560

2050l & 110,000& 3+ 12& 3,960

155801 & 80,0003 x1H«12& 960

- 10801 &f 60,0003 x1E«12& 720

5@ 0| & 50,0003 x1E*12& 600

-E2R=H 2,400
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SN
X XH .
S Tt

el

A YEIA
2l (Lf2pioip

il
(o]
o
gl

b

SN EY O (BH) - MRAY - BLS Aol e
=35 40,0003 x5H +12& 2,400
-2 4,934
2 BHE 4,935,000 x4, 8%+ 123 2,843
oA 2,273,000 *4. 8%+ 12& 1,310
- JlsA 1,355,000& *4.8%* 122 781
-Jl=38+Y 1,680
A= 30,0003 x4H x12& 1,440
8~9= 20,0003 x18+12& 240
-Jlsd38Yta 720
A I AL 20,0003 x3E x12& 720
—HRHERE 960
A E 80,000& x1H~12& 960
O&E MU ZAH] 130,000 x7H «12& 10,920
Qu s x| 10,680
—-6~73, A 130,000 x5 » 123 7,800
-8~9= 120,000 »2H = 12& 2,880
OZE It 173,016,000 / 12+60%+23| 17,302
OItAH X & 8l 173,016,000 /128 +16. 7%+ 12& 28,894
OHIIE &I 173,016,000& /128 x1/30x10 4,806
204 MR AH| 11,460 8,340 3,120
02 Mg EXH| 11,460 8,340 3,120
06z, A=A A 155,000 x 12«3 5,580
O7= 140,000 123 »2H 3,360
08~93 105,000& «12& x2H 2,520
|23l 20,374 19,198 1,176
Jle=3| 20,374 19,198 1,176
201 Yer2g| 8,894 8,440 454
01 AFR 22| 8,894 8,440 454
OJ12+8Hl 1,330
oz2g=¢ 5,800
—Sggx 50,000 x1H 116 5,800
OJ12= &l 1,764
202 (4 H| 7,000 6,318 682
01 =LA b 7,000 6,318 682
O2120¢ | 7,000
203 LRF&H| 3,280 3,240 40
02 RIS SF=EH| 280 240 40
O A A& 2| 40,0003 +x7H 280
04 EA2ISRFEHI 3,000 3,000 0
OUsHARA E2X A 250,000 «12& 3,000
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SN AR RA GRIA
HE: #H2YAY (HEHATL HEX4)
el Jl=

SN ZB - SR(BH) - NRAY - BES 01l &k o g
e co=m s IR ° a [= Bl ) (] 04”:"%
204 R AH 1,200 1,200
01 Mg HPHAH| 1,200 1,200
(OPNEESs 100,000& 1 =122 1,200
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